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Chapter 1

Introduction

This is the definitive answer key for the “four
fours” problem. The goal of the four fours prob-
lem is to find a mathematical expression for ev-
ery whole number from 0 to some maximum, us-
ing only common mathematical symbols and ex-
actly four fours (no other digits are allowed). I
call this the “definitive” answer key because, at the
time of this writing, this key has more answers than
any other source in the world. For more informa-
tion about this answer key (or a copy of it), see
http:/ /www.dwheeler.com /fourfours. I first released
this answer key on June 17, 2002.

It turns out there are many variations of the “four
fours” problem. One kind of variation allows fewer
than four fours, and prefers fewer fours; 'm not de-
scribing that variation here. The many other vari-
ations differ by which mathematical operations are
allowed. Rather than create a single set, I've devised
an “impurity” level for any expression. Expressions
with the lowest impurity are considered “better” than
any expression with a higher impurity. Here are the
impurity levels, along with the operations allowed at
that level:

0: The operations addition (+), subtrac-
tion/negation (-), multiplication (-), division
(/), square root (y/z), factorial (!), and power
(z¥). Parentheses may be used for grouping.
The digit 4 must be used exactly four times,
and the decimal digit (.) can be used.

1: This level isn’t used. Originally I put square root
and powers in here, but later I decided that they
belonged with level 0. Some numbers don’t need

to be represented with these advanced functions,
but I prefer their representation that way.

2: The overline, an infinitely repeated digit. For ex-
ample, 4 is 4/9.

3: An arbitrary root power. For example, V4 is 32.

4: The gamma function. For example, I'(4) is 6; in
general I'(z) = (z — 1)1

5: The percent symbol, %. 4% is 0.04. Some calcula-
tors combine % with plus to mean “add this per-
centage”, but I instead use the standard math-
ematical meaning of the percent symbol. Thus
2+10% equals 2.1, not 2.2.

6: The square function. sq(4) is 16.

7: The logical-or (V), exclusive-or (@), and logical-
and (A). These operators use the binary rep-
resentations of their left and right sides, and
compare the corresponding binary digits of each
“input” number. In logical-or, the result is 1 if
either input is 1 (else 0). In exclusive-or, the
result is 1 if the inputs differ (else 0). In logical-
and, the result is 1 if both inputs are 1 (else
0). Some examples may help. Since 12 has the
binary value 1100, and 10 has the binary value
1010, we can compute the following: 12v10 = 14
(binary 1110), 12 @ 10 = 6 (binary 0110), and
12 A 10 = 8 (binary 1000).

8: The logical left shift (<<) and right shift (>>).
These operators take the binary representation



of the left-hand number, and shift those bits by
the number of positions specified by the right-
hand number. When shifting to the right, the
rightmost bits “disappear”; when when shifing
to the left, the rightmost bits being added are
set to zero. Since these are primarily computer
operations, and are arguably less common, I've
assigned them the worst impurity.

There are many operations I'm intentionally ex-
cluding. I don’t include the “logical not” operator,
because it only makes sense given a finite maximum
number of bits (and picking any particular size would
be too arbitrary). I don’t include the trigonometric
functions - some people use trigonometric functions
in degrees, but the usual definition of these functions
use radians (which are not very useful for the prob-
lem). I don’t include operations such as “round”,
“floor”, and “ceiling” - these are approximation oper-
ators and don’t seem appropriate (many other people
seem to feel the same way).

I don’t include the “log” operators, and for an in-
teresting reason; there’s a way to use any log operator
to create any number. Here’s the explanation from
the “Four Fours Problem”, a compilation by Paul
Bourke. He credits Ben Rudiak-Gould with this de-
scription of how natural logarithms (In()) can be used
to represent any positive integer n as:

n = —In[ln(sqrt(sqrt(...(sqrt(4))...)))/In(4)]/In(4)
where the number of nested sqrt() functions is twice
n.

There are other operators that I haven’t considered
at this time. This includes the greatest common de-
nominator ged(x,y), least common multiple lem(x,y),
the “mod” (modulo) function, and the Euler func-
tion ®(z) (which counts the numbers between 1 and
x whose ged with x is 1). Functions for permutations
and combinations could be added, too. However, no
one else seems to be using those operations for the
four fours problem, so I decided to not include them
(at least at this time).

It could be argued that I should prefer the “per-
cent” operator (%) over the “gamma” operator (i.e.,
that their impurity levels should be swapped). I pre-
ferred the gamma operator because it seemed to me
that the gamma operator was cleaner mathemati-

cally. I've sometimes wondered if that’s really true,
and perhaps someday I'll change my mind. At the
least, it’s a debatable choice.

For many numbers, there’s more than one way to
represent the number; I always choose the solution
with the smallest impurity, then the fewest number of
operations with that impurity. For example, (4/4)%/4
is another way to compute 1, but it requires 3 opera-
tions (two divisions and one power), and since 44/44
only requires one operation (one division), I'll use
44/44 instead. For this purpose, I counted percent
and the overline as “operators”, and I don’t count
parentheses as operators. Because I prefer solutions
that have the fewest number of operations, some of
the results shown here are quite unusual. For exam-
ple, most people would represent 16 as 4 +4 + 4 + 4;
this is valid, but the expression .4 * (44 — 4) only
requires 2 operations instead of 3 so I'll use that in-
stead.

I’m using the “usual” notation for these operations.
I used a center-dot to emphasize multiplication, and I
used “/” to represent division so that less space will
be used when showing all these numbers. Factori-
als are done before anything else, then powers, then
multiplication and division, then addition and sub-
traction, then left and right shift, then logical and,
then exclusive or, then logical or. Parentheses over-
ride this order, and the overline (e.g., .4) and percent
sign are considered part of the number. I usually
don’t parenthesize where it’s not necessary. For ex-
ample, 4/.4/.4 has the value 25.

Some people who have tried the four fours problem
may still be surprised by some of the answers given
here, because some of them use some unusual math-
ematical expressions. For example, using 2 fours,
you can represent the numbers one through 12: 1
(4/4), 2 (4—v/4), 3 (v/4/4), 4 (VA-4), 5 (V4/.4), 6
(41/4) 7 (T(V4) + T'(4)) 8 (4 +4) 9 (4/.9) 10 (4/.4)
11 (/T(VA) + T(T(4))) and 12 (41/v/4). My favorite
with two fours is 32, which can be represented as

v/4. By starting with these building blocks, you can
represent lots of numbers.

Note that there’s no need to list negative numbers.
Any value —z could be formed by finding the positive
x and then changing the expression to —(z).




There are other collected answers for the

Four fours problem. That includes the
comp-sci  collection  at http://www.comp-
sci.demon.co.uk/FourFoursSo.html, Paul

Bourke’s collection (with Frank Mrazik) at
http://astronomy.swin.edu.au/  pbourke/fun/4444
(but note that some solutions use non-standard
notation!), the collection of “interesting” solu-
tions at http://www.wheels.org/math/44s.html,
and the Math Forum/Ruth Carter’s list at
http://mathforum.com/ruth/four4s.puzzle.html.
Pete  Karsanow’s Four Fours FAQ at
http://www.geocities.com/ TimesSquare/ Ar-
cade/7810/44sfaq.htm emphasizes solutions based
on the book for Texas Instruments (TT) calculators,
which is where I first learned of this problem too
(note: this site has download limitations and some-
times isn’t available; use the Internet Archive to load
old versions if necessary). A Google search of “four
fours” will find many interesting sites.

The four fours problem isn’t really a deep
mathematical problem, since it completely de-
pends on the oddities of common mathemati-
cal notation. See Mathnet’s discussion of this
at http://www.math.toronto.edu/mathnet/ ques-
tionCorner /fourfours.html. Still, it’s fun!

The list of answers is formatted as the value, the
impurity level in parentheses, an equal sign, and the
expression (using exactly four fours) that equals that
value. In a few places, the PDF version has format-
ting problems; if you want to see the exact equation,
I’ve also posted a text version of the solutions. Cur-
rently, I list whole numbers from 0 up to 40,000. The
first missing entries (for which I know no solutions at
all) are 2179, 2227, 2263, 2467, and 2611. The first
numbers which use a higher impurity level than any
of its predecessors are 73, 113, 197, 1651, and 2237.

Enjoy!



Chapter 2

Answers
0(0) =44 — 44
1 (0) = 44/44
2 (0) = 4/4 + 4/4
3(0)=(4+4+4)/4
4(0)=4-(4—4)+4
5(0) = (4-4+4)/4
6(0)=4-4+44
7(0) =44/4—4
8(0)=4+44— 4
9(0)=4/4+4+4
10 (0) = 44/4.4
11 (0) = 4/.4 + 4/4
12 (o)=(44+4)/4
13 (0) = 41 — 44/4
14 (0) = 4-(4— .4) —
15 (0) = 44/4 + 4
16 (0) = .4 - (44 — 4)
17 (0) = 4/4+4 -4
18(0)=44- 4+ 4
19 (0) =41 —4—4/4
20 (0) = 4 - (4/4 + 4)
21 (0) = (4.4+4)/.4

22 (0) = 44 - v/4/4

23 (0) = (4-4!—4)/4
24(0)=4-4+4+4
25 (0) = (4-4! +4)/4
26 (0) =4/4+4-4
27 (0) = 4 —4/4 + 41
28 (0) =44 —4-4
29 (0) = 4/.4/.4+4
30 (0) = (4+4+4)/4
31 (0) = (4! +4)/4+ 4!
32(0)=4-4+4-4
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(4—.4)/4+4
44— 4/.4
44/4 + 41
4444
(V4+4)/Va+4!
44 —41/4
(4-4— 4)/4
44 — /4~
(\/_+4')/4 41
VA444 -4
44 —4/4
44.4 — 4
4/4+ 44
44 — /444
41+4' 4/4
4-(4+4+14)
(41-4.4)/.4
41/4+44
(4 - v4)/4-4
4+4+44
VA A+ 4+ 4l
4/.4+ 44
44/(4+ 4)
4-(4/.4+4)
4'—4)/4—\/1
—41)/4
41/.4 — 4/4
4-4+44
41/.4+4/4
4+ A+40)/4
4)/4
4! — 4+44
4* +4)/4
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32 = /v 115 (0) = (VA + 44 '
74 (0) = (4! +\f +4/4 ur (Og - Eﬁ+ o
75 (0)241/(4)/.4+4 s 0= R
76 (0) = 41/.4 ++4'4)/.4 im0 (4‘/1 o
72 =44 -4 0= +Z'4)! 2%
78 (0) = 4- (41— 4 ! na vt .
79 (0) = (4! - \[4) - Vi 0=l .
e 4)/4+4' 122 (0) = (4 4/4
810~ Wi - A (G
o 123 (0) = 1/1/V/
ZZ i 4);1): p 124 (0) = Vi/4" -V
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87 (2) =4- 4'4 v R \%\/Z
88 (0) =44+ 244/'4 gg Egg 08 1/4\)/1
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95(0)=4.4;'_-4)—-4 135(2): i
96 (0) = 4- 4_4/4 e ;
97 (0) = 4- 4(1,'4 — A4 137 0 4!/‘4/.1 g
98 (0) =4- (4|+4/4 3 B &
99 (2) = 44 +4)+ 4 139 (2) = 4I/. 4/4 o
100 (0) =4£“-4-_—4 = 4'+4+4
101 (0) = f/ " M 4
102 (0) = 4- {13+4 Al 30~ 0 4‘/4 i
103 (2) = 44/ 4 i 143 8 :
104 (0) = 41/.4 +4 )= (4/ : i
105 (0) = (44 i in :
e 44/2 o 146 (0) = 4!/.4/. 14)/4
107 (2) = (41 + 41 i HE \(4/ 4‘ 4
108 (0) = 44/.4 - ~3)/4 148 (0) = 4!- 4! Zf)/\/_
109 (0) = (44 4- V4 00 i
" 150 (0) = Ly
151 (0) = (4'/-:!/'4/'4
152 (0) — 4 - 44 —+4;1)/'4



153 (2) = (4! 1
o Eog - 4(1"1}:/421)1 i 192 (0) = 4- (44 + 4)
155 (0) = (41 A + v/), 4 193 (4) = 4!- (4+4) +T(V4)
156 (0) = 4!/.4+ 4 - 4! 104 (0) = 4!- (4 +4) + V4
157 (4) = (C()! + 4)/4 — 4 135 (2) = (4!/.4+41)/ 4
o mgIiaian
158 (0) = \/\/V4 /4— V4 igg %244 Vi /
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161 (0) = Vit + 4. =4 —41/4
( +.4)/4 ggi&g:g W1 1)/a+ 4
162 (0) — T = (41/4)1/4 + 4!
O) = VI 4+ v 205 () = (C(0)! + )/1.+ 4
163 (4) = T(['(4)) — T(V4) + 44 206 (4) = T'(4 + 4)/4! —
164 (0) = (V4/.4)! + 44 207 (2) = [
080y = 4
_ 0) = 4% — 41 — 4!
165 (0) = (VA" + Vi) /4 209 (4) = (N(4 +4) - 4)/4!
igg Eig = Il:E4;!/4.4+ 4 210 (0) = (4!/.4 +41)/.4
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168 (0) = 4 - (44 — V/4) v 212 E(ﬁ = 4(1 4 4) A
169 (0) = (VA +4)"" /4 213 (4) = (4! ( ) - V)V
170 (0) = (41 + 44)/.4
171 (4) = (D(D(4)) — 44)/4 214 (0) = CZERVZ
172 (0) = 4-44 — 4
173 (4) = (T(4)! — 4! — 4)/4 215 (4) = /T(4)"Y —4/4
174 (0):4‘44_\/1 216 (0) =4!-(4— 4)/.4
175 (0) = (4! +4)/.4/.4 217 (2) = (4-41+ 4)/4
176 (0) = 44 - /4 -4
178 0) = WI/ A — VD)V 218 (0) = Ay (4/9)" + V4
=Vi+4 _
179 (0) = ((4'74)' _44)/4 219 (3) = V/4/4-
180 (0) = 4-44 + 4 220 (0) = 44 - V4/.4
181 (0) = ((41/4)! + 4)/4 221 (4) = (T(4)/.4)V* —4
182 (0) — (41/4)1/4 + V3 222 (0) = 444/v/4
183 (2) = ((VA/A4)! + vA)/VI 223 (4) = (D(4)/4)"" - V1
184 (0) = 4- (v/4 + 44) 224 (0) =4- (44— 4)
185 (4) = (T(4)! + 4)/4 + 4 225 (0) = (41/4/.4)"*
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259 (2; Vi " 309 0 = (i 4 Pyity
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361 (0) = Z%+44 (V) 311 (4) = (f.(l(li!/‘l)! +L(ﬂ))/ 4-+/4

262 (0) = 44-T(4)-T 312 (0) = (T(T(4) 4

263(4):4 +44+4 313(4):((F(4))/4+

264 (0) = 4) 3444 314 (4) = 15(4 4)/4/4
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322 (2) = 4- (41/4)| +/4 _
323 (4) = (D(4)* —4)/4 ggg EZ; - gif/.llp)!(ﬁﬁ_bﬁ%) 4
324 (0) = (41/4)* 366 (4) = (41 +.4) - (4 )/Q
325 (0)=(\/—+41)|/4v|/f 367 (4) = (D)1 4 T(4))/v/A 1 4
326 (4) = (4)*/4+ V4 368 (0) = 4-(4-4! — 4)

327 (4) = T(V4) +T(4) + 4-T(4)! 369 (4) = (D(T(4)) +44)/.3
328 (4) = T(4)"/4 +4 370 (4) = (4!-T(4) + 4)/.4

320 (4) = .4-T(4)! +4/4 371 (4) = (D(4)! — VA + 41) /4
330 (4) = (T(4)" +41)/4 372 (0) = ((41/4)! + 41)/v/4

331 (4) = /T (vV4) + T(T(4)) + 4 -T(4)! 373 (4)=( 4!+ 41+ vA)/ Vi
332 (4) = \4/ ['(4)! + 44 @)+ ! 374 (4) = 4* — V4 4+ T(T'(4))
333 (4) = (41-T(4) +4)/1 375 (0) = 4'/ 4/.4/.4

334 (4) = (D(D(4)) +4)/.4 + 4! 376 (0) = 4-(4-4! —/4)

335 (4) = 4-T(4)! +T(4)/4 377 (4) = T(vV4) + T(T(4)) + 4*
336 (0) = 4! - (4/.4 + 4) 378 (2) = (4* —4)/V1

337 (4) = (D(4)! + v4) /V4 — 4! 329 (5) =T(4)/4/4% + 4
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347 (4) = (D(4)! - 4! — v4)/ V4 390 (2) = (4' +4)/V3

348 (0) = ((4!/4)! — 41)/v/4 391 (4) = (D(T(4)) + 4)/ 4+ T(T(4))
349 (4) = (D(4)! + V4 — 41)//4 392 (0) = 4-(4-4!'+ V4)

350 (4) = (4!-T(4) —4)/.4 393 (4) = (T'(4) +44)/V 4

351 (4) = (T(4)!/4 — 4! = J4—ant-

353 (0) = 44( ()4/+ 5 )/ 4 32451 (4) = /(4 —4)* —T(4)
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360 (0) =4-4-4!—4! 401 (4) =T(4)!/.4/4 -4

361 (0) = (41— v/i/4) " 102 (0) = /(4-4)' + va

362 (0) = ((41/4)! + 4)/V4 403 (4) = T(4)!/4/4 — V4

363 (4) = +/4/4+T(T(4)) 404 (0) = /(4 —4)* + 4
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435 (4) = (P(4)! - 4,( (4) + V4 476 (0) = 4! (4! ) —Vi/4
136 (1) - 4 P g a7 (9 = 1) oo
= 8 (0) =4!- T 4
O, R T
=T 80 (0) = 4/4
440 (0) = 425(4)2 ~T(V4) + 4-T(4)! 481 E4g _ i:(rél({:l +4)! /
141.2) = (41— 7D 482 (0) = 41- (4'(2+4/4
442(0)=444—\/4Z/'4) 483 (4) = 4-T(D(4 )+ 4
443 (4) = 444 - T(\/4 484 (0) = 44V /4 )+ 4/ 4
444(0):\/m ) 485 (4) = 4 - (())
i % - e P -
= 0) =
448 (0) = 4(154(111_,(_ 2)/ 4— \/—)/\/: 489 (43 _ 514'5 4) - (4! + 4)4) +T'(4)
00 (1) = 4 P 1 1)1
491 (4) = \/1“ (T(4)) +4/4
(V4) +T(T(4)) +4-T(T(4))
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492 (4) = 4- (T(T'(4)) +4) — 4 _ T
e O s s~ i "
495 (4) = 4-T(T(4)) + T'(4)/.4 537 (4) = (T(4)! —4)/V4-
496 (0) = 4 ((v4/-4)! +4) 538 (4) = ( )F(‘*) / 4- f
497 (4) = 4- (D(T(4)) + 4) + T'(v/4)
498 (4) = 4- (D(T(4)) + 4) + V4 539 (4) = (/T4 - 4)/.4
499 (5) = V4/.4% — 4/4

: 540 (0) = (41/4)/.4
500 (0) = 4- (vi).4)" =

541 (4) = (/T (4)"™ + 4)/ 4
501 (5) = V/4/.4% + 4/4
502 (4) = 4- (T(T(4)) +4) + T'(4) 542 (4) = /T4 /4 + V4
503 (4) = 4! —T'(v4) +4-T(T'(4)) 543 (4) = (D(4)! + 4)/v/a - 4
504 (0) = V- (4 = 4) 544 (2) = 41 (4] — \/ﬂ
505 (4) = (vA/.4)" - T(T(4)) 2 =4 g
506 (4) = 41 /4 —T(4) 545 (4) = (/T(9)'™ + v1)/ 4
507 (5) = (VA + .4%)/.4% + T (4) 546 (4) = 4!- 4‘ r(4) -4t
508 (0) = 4* -4 —4 547 (6) = sq(4!) — V4/.4 — 4!
509 (5) = V/4/.4% + 4/ .4 548 (0) = 4!-4! — 4 — 4!
510 (0) = 4% - VA — V4 549 (4) = (V4-T(T(4)) +4)/ 4
511 (4) = 4*- V4 -T(V4) 550 (0) = 4!- 41 — 4! — /4
512 (0) = 4* + 44 551 (4) = 4!- 4! = T'(v4) — 4!
513 (4) = 4* - VA +T(V4) 552 (0) = 4!- (4! —4/4)
514 (0) = 4*- V4 + /4 553 (4) = 4!- 4! — 41 + T'(V4)
515 (4) = ([(v4) + T(4)!)/(T(V4) + 4) 554 (0) = 4!- 4! + /4 — 4!
516 (0) = 4*- V4 +4 T4
o17 EG; _ sq(4‘!)[_ 41— 4)/4 555 (4) = (\/T@)'™ + T (4))/ 4
518 (4) = 4-T(4)* — 4 556 (0) = 4!- 4! + 4 — 4!
519 (6) = (T(4)/.4% + sq(41))/4 557 (5) = (41— 4" +4%
520 (0) = V- (41 +4) 558 (2) = 4!- (4! - V.4) - v4
521 (6) = /sq(4) +4/.4 559 (4) = 4!- (4! — V. 3) - T'(V/4)
522 (2) = (4* —4!)/.4 560 (0) = 4!-4! —4-4
523 (4) = (4! — T(v/3)"* —T(4 561 (4) = 41- 41 -T(4)/ 4
524 (0) = 4!- (4! — /4) — 4 ) 562 (2) = 4!- (41— VA) + V4
525 (4) = ['(4 + 4)/4!/ 4 563 (6) = sq(4!) -4-4/4
526 (0) = 4!- (4! — /4) — V4 564 (0) = 4!- (4! — V4/4)
527 (4) = 41 (4! — V) — T(\/4) 565 (4) = 41- 4! — /T4 + T(T(4)
528 (0) = 44 - 4!/\/4 566 (0) = 41- 41 — 4/.4
V4

529 (0) = (4! — 4/4) 567 (2) = (4 )/ 1
530 (0) = 4!- (4! —V4) + 4 568 (0) = 4! 44
531 (4) = (V4-T(T(4)) - 4)/4 569 (4) = 41- 41 — T(4) — T(+v/4)
532 (0) = 4!- 4! — 44 570 (0) = 4!- 4! —41/4
533 (4) = (4! — T(va)"" +4 571 (0) = 41- 41— V/4/ 4
534 (4) = 4-T(T'(4)) + 4!/ 572(0):44ﬂ—4

11



573 (2) = 4!-4! — \/4/4

574 (0) = 4!-4'+ V4 -4

575 (0) = 4!-4! — 4/4

576 (0) = 4!- (4.4 — .4)!

577 (0) = 4!- 4! + 4/4

578 (0) = 4!- 4!+ 4 —+/4

579 (2) = \/4/ 4+ 4!- 4!

580 (0) = (4* —4!)/.4

581 (0) = 4!-4! +/4/.4

582 (0) = 4!- 4!+ 41/4

583 (4) = 4!- 41+ T(v4) + T (4)
584 (0) = 4!-41+4+4

585 (2) = (4* +4)/4

586 (0) = 4! - 41+4/4

587 (4) = /T(V4 )) 44141
588 (0) = 4!- f/4+4'

589 (4) = T(4)! — T(T(4)) — /T(v4) + T(T(4))
590 (2) = 4!- (VA +4!) —v4
591 (4) = 4!- 4! +T(4)/ .4

592 (0) = 4!-4!+4-4

593 (4) = 4!- (VA +4) + T(V4)
594 (2) :4'-(\/E+4!)+\/Z
595 (4) = (V4-T(T(4)) — v4)/ .4
596 (0) = 4! - 41+4' 4

597 (4) = T(4)! —T(I'(4)) — \/4/ 4
598 (0) = 4!- 4!+ 41 — /4

599 (4) = (f [([(4)) — 4)/ 4
600 (0) = 4-4!/. 4/ 4

601 (0) = (v4/.4)" — 4!

602 (0) = 4!- 4! + /4 + 4!

603 (4) = (T(T(4))/4~-v4)/ 4
604 (0) = 4!-4! + 4! + 4

605 (4) = (V4-T(T(4) +v4)/ 4
606 (4) = 4!- 4! + 4! +T'(4)

607 (4) = (4 + .4)-T(4)! — T(V/4)
608 (2) = (4 + .4) - (41/4)!

609 (4) = ['(4)! —(T'(4)) +4/ .4
610 (4) = ['(4)! — 44/ .4

611 (4) = V{/T(VA) + T(T(4)) — T(4)
612 (2) = 4!/V. A+ 4! 4!

613 (6) = sq(I'(4)) + sq(4!) + 4/4
614 (4) = (4 +.4)-T(4)! +T(4)
615 (4) = (T(T(4))/.4 — 41)/ .4
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616 (0) = 4*/.4 — 4!

617 (6) = (sq(4) + .4)/.4 + sq(4!)
618 (4) =T(4 )1—1“(4) 44!
619 (4) = (\/_/4) I'(4)
620 (0) = 4!- 4! +44

621 (0)=(f/4 -4

622 (0) = 4!- (V4 +4') V4
623 (0) = (f/4) — V4
624 (0) = (4!/4)!-4 4!

625 (0) = (4/4+4)

626 (0) = (f+4')+f
627(0)=(\/_/4) +/4

628 (0) = 4!- (f+4')+4
629 (0)=(f/ 9"+

630 (0) = (4* )/4

631 (4) = (vA/.4)" +T(4)
632 (4) =T(4)! —44-/4
633 (6) = sq(sq(v4/.4)) +4+4
634 (4) :44/4 I'(4)

635 (0) = (4* —v/4)/.4

636 (0) = 4*/.4—4

637 (6) = (4! + .4)/.4 + sq(4!)
638 (0) = 4%/.4—+/4

639 (0) = (4* — 4)/ 4

640 (0) = vV4-4'/.4

641 (4) = T(vV4) +4/.4

642 (0) = 4*/.4+ V4

643 (6) = (sq(sq(4)) — .4)/.4+ 4
644 (0) = 4%/4 +4

645 (0) = (V4 +4')/.4

646 (0) :(f+4')'/4”—
647 (4) = (T(4)" — V4)/V4
648 (0) = (4!/4) /\/_

649 (0) = (v4/.4)" + 4!

650 (0) = (4* + 4)/ 4

651 (4) = (T(4)* +T(4))/v4
652 (0)=(f+4')f—4'
653 (6) = sq(4!) — 4 + sq(4/.4)
654 (0) = (V4 +4N!/4l +4
655 (4) = (T'(4) +4%)/.4

656 (0) = (41/4)1 -1/ \/vZ"
657 (4) = (4-T(4)!' +4)/4



658 (4) = T'(4)! —4!/.4 — /4 702 (4) =T(4)! —4-4— /4
659 (4) = D(4)! — (4! + .4)/.4 703 (4) = T(4)! — r(ﬂ) 4-4
660 (0) = (41/4)! — 41/ 4 704 (0) = 4-4-

661 (4) = T(4)! — (4! — 4)/.4

662 (4) = T'(4)! —4!/4— 4 705 (2) = \/\/ V4/4 Yo
663 (4) = L(4)! — (T(T(4)) —T(4))/v4 706 (4) =T(4)! —4/4—-4
664 (0) = 4%/.4 + 4! 707 (4) =T(4)! —4-4/13
665 (4) = (T'(I'(4))/.4—4)/ 4 708 (0) = (41/4)! — 41/+/4
666 (2) = 444/V 4 709 (4) = T'(4)! — 44/4

667 (4) = T'(4)! — (4! — 4)/.4 710 (0) = (41/4)! —4/.4

668 (0) = 4!- (4! +4) —4 711 (2) = (41/4)! —4/3

669 (4) = I'(['(4))/.4/.4 — T'(4) 712 (0) = (4!/4)! — 4 — 4
670 (0) = 4!- (4! +4) — V4 713 (4) = T(4)! — (4! + 4)/4
671 (4) = T(['(4))/.4/.4 — 4 714 (0) = (41/4)! — 41/4

672 (0) = .4/4!- (4 4 4)! 715 (0) = (4!/4)! = V4/ 4
673 (4) = 4!- (4! + 4) + T(v/4) 716 (0) = (4/.4 —4)! —4
674 (0) = 4!- (4! +4) + V4 17 (2) = (41/4)! - /4/ 4

675 (2) = (V4/.4)!/.4/4 718 (0) = (4/4—4)!— V4
676 (0) = (4!/4)! - 44 719 (0) = (41/4)! - 4/4

677 (4) = T(V4) + ()‘—44 720 (0) = (4 - .4 + 4.4)!

678 (0) = (\/_4_41) +\/_ 721 (0) = (41/4)!' + 4/4

679 (4) = I(T(4))/.4/A+4 722 (0) = (4/4 -4+ V4
680 (0) = (vA+4)"* +4 723 (2) = 4/ 4+ (41/4)
681 (4) = T'(4)! — T(4)/.4 — 4! ;g‘; Eg; = Ei,/ /3),f)\'/f/44
682 (4) = I'(4) —4'44+1“(4)! 726 (0) = (41/4)! + 41/4

683 (4) = (V V4 +V4)/T(4) i

684 (2) = 41- (vA/d+4)) 727 (2) = \[\V V4[4 - V4
685 (4) = (T(T'(4))/.4+4)/ .4 728 (0) = (41/4)! + 4+ 4
686 (4) = T'(4)! — 4! — 4/ 4 "
687 (4) = T(4)! — 41 — 4/.3 729 (0) =/ V(4 —-4/9)

688 (2) = 4!- (V.4 +4! +4) 730 (0) = (4!/4)! + 4/ 4
689 (4) = I'(4)! — (D(T'(4)) + 4) /4 i

690 (4) = T(4)! — 41/(4 + 4) / 112 =\ VVi/4 + Vi
691 (4) = T'(4)! — v4/.4 — 4! 732 (0) = 4!/v4 + (4!/4)!
692 (0) = (4!/4)! —4! -4 i

693 (4) = [(4)! — 41/(3 + 4) 733(2) =\VV4/4 +4
694 (0) = (4!/4)! — 4! — /4 734 (4) =T(4)! +4/.4+4
695 (4) = T'(4)! —4/.4/ 4 735 (4) = 41/4/.4 + T(4)!
696 (0) = (4/.4—4)! — 4! 736 (0) = (4!/4)! + 4 -4

697 (4) = I'(4)! — 4! + 4/4 737 (4) =T(4)! +4-4+T(V4)
698 (0) = (4!/4)! — 4! + /4 738 (4) =T(4)! +V4+4-4
699 (4) = T(['(4))/.4/.4 + 4! 739 (4) = T'(4)/.4+D(4)! + 4
700 (0) = (4* +4!)/.4 740 (0) = (41/4)! + 4! — 4
701 (4) = T(4)! —T(4)/.4 — 4 741 (4) = T(4)! + T(4) + T(4)/ 4
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742 (0) = (4!/4)! + 4! — /4 784 (0) = (4! +4) - (4! +4)
743 (4) = T(4)! + 41 — 4/4 785 (4) = (4-T(4)! —T'(4))/.4
744 (0) = (4/.4 — 4)! + 4! _ 1
745 (4) = T(4)! + 4/.4/ 4 786 (0) = /(4 + )"+ V1
746 (0) = (4!/4)! + V4 + 4! 787 (6) = \/4/-4+ sq(4! + 4)
;217 E4g = 4(14!1{ /(f) ‘+ -i)‘ + 5(4)! 788 (0) = /(4! +4)* + 4
8 (0) = (41/4)! + 4! + — (4l 4 4) 4 A/ A
749 (4) = (D(D(4))/.4 — 4)/ .4 o Eig = fff,( N I) /?41*{({1)!
750 (0) = (V4/.4)!/.4/.4
751 (4) = (T(D(4)) + 4)/4 + [ (4)! 791 (4) = \/F(ﬁ) +I(4+4)+T(4)!
752 (3) = (4!/4)! + V/4 792 (2) = 4!- (4/4 +4))
—4! 793 (6) = Sq(4! + 4) + 4 Z
753 (2) =\ VV4/4 +4 794 (4) = 4-T(4)!/.4 —/r(4)
754 (4) = [(['(4))/.4/.4 + 4 795 (4) = (0(4) + 4!)/.4 + T'(4)!
755 (4) = (T(D(4))/.4+ V4)/ 4 796 (4) = 4-T(4)!/.4—4
756 (2) = 4!/V 4 + (4!/4)! 797 (6) = sq(4/.4) + T(4)! — 4
757 (4) = /T +T(4)! + T (VA) 798 (4) = .1-T(4)!/4- V4
758 (4) = [(4)! — T'(4) + 44 799 (4) = (4-T4)!— .4)/4
759 (4) =TA)!+41+T4)/.4 800 (0) = /4 - (4! — 4)*
760 (0) = /(4! +4)* — 4! 801 (4) = \/4/ 4" +T(4)!
761 (6) = (sq(4) +.4)/4+T'(4)! 802 (4) = 4-T(4)!/.4+ V4
762 (4) = ['(4)! — V4 + 44 803 (6) = (sq(sq(4)/.4) +T(4))/V4
763 (4) = T'(4)! — T'(\V4) + 44 804 (4) = 4-T(4)!/4+4
764 (0) = (4!/4)! + 44 805 (4) = (4-T(4)! + /4)/.4
765 (4) = T(V4) + T(4)! + 44 806 (4) = T(4)!/(4+ 4) — 4
766 (3) = 4!- V4 —+/4 807 (4) = (T'(4)!/.4-T(4))/V4
—4!. ¥4 — 1
o Eég oy 4!‘(‘% ; fi)‘/z) 808 (0) = /@ +4) 44
769 (4) = 41- ¥4 + T(\/4) 809 (4) = (T(4)!/V4-4)/4
770 (3) = 4!- Y4+ /4 810 (2) = (4!/4)!/(4 + 4)
771 (5) = (VA + 4%) /4% + T (4)! 811 (4) = (F(4)!/-4+4)/v4
772 (3) = 4!- V4+4 812 (4) =T(4)! —4+4-4
773 (4) = (41 — 4)/ A+ T(4)! 813 (4) = (T(4)!/-4+T(4))/V4
774 (2) = (41/4)1 + 41/ 4 814 (4) =T(4)!/(4+ .4) +4
775 (4) = (T(D(4)) + 4)/.4/ .4 815 (4) = (4-T(4)!1 +T(4))/ 4
776 (4) = T(4)! +41/.4— 4 816 (0) = 4!-(4/.4 +4!)
777 (4) = (T(D(4)) — T'(4))/V/4 + T(4)! 817 (4) = T(v4) + T(4)! +4 - 4!
1 818 (4) =T(4)! + V4 +4-4!
778 (4) = /(41 +4)" ~T(4) 819 (4) = T(4)! + 44/.3
779 (4) = (41— 4)/4+T(4)! 820 (4) =T(4)! +4-4!+4
780 (0) = /(41 +4)" — 4 821 (5) = (4% +4)/4% + L'(4)!
781 (4) = D(4)! + 41/.4 + T(v/4) 822 (4) =T(4)! +T(4) +4-4
" 823 (6) = sq(sq(4)) + sq(4!) —4/.4
782 (0) = /(41 +4)" — V4 824 (4) = A-T(4)1/4+4!
783 (4) = (4! +4)/4 4+ T(4)! 825 (4) = T'(4)! — T'(4)/.4 + T(T(4))
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826 (4) = ([(v4) +T(4)) - (T(T(4)) — V4) 866 (2) = (/4!*/ 4+ 4
827 (6) = sq(sq(4)) + sq(4!) — V4/ 4 867 (2) = (41- 41 + VA) VI
828 (2) = (4!-4! —4)/V 4 65 (2) = \/m+4
820 (4) = T(T(4)) — /T(v4) + T(T(4)) + T(4)! 869 (5) — C(4) — %) /4% + T(4)
830 (4) = T(4)! + 44/ 4 ) 870 (2) = (4414 4]
831 (4) = T(I'(4)) + T(4)! - 4/4 871 (5) = (T'(4) + 4%) /4% + T(4)!
832 (0) = 4! 4! 4 4° 872 (4) = T(T(4)) + T(4)! + /4
833 (4) = I(0W)) — T(v4) - T(4) + T(4): 873 (4) = (4! - 4! + T(4))/v3
834 (4) = I(4 +4)/T(4) = T'(4) 874 (5) = T(4)/4% + T(4)! + 4
835 (4) = I'(4)! — V4/.4 +T(T'(4)) 875 (5) = (4 — v/A/4)/ 4%
836 (4) =T(4+4)/T(4) -4 _ 876 (4) = T(4)!/(4 + .4) — 4!
837 (4) = (D(4)1 + 41) /(4 + 1) 877 (6) = (T(T'(4)) + .4)/.4 + sq(4))
838 (4) = T(4+4)/T(4) — V4 878 (5) = 4/.4% — /I — T(T(4))
839 (4) = (I'(4 +4) —T'(4))/T(4) 879 (5) = (4 — .4%)/.4% — T(T'(4))
840 (0) = (4 + 4)!/(4! +f4z) 880 (0) — 44 (41 - 4) o
4 — —

e 0~y oo
RTINS A 883 (6) = (sq(T(4)) — 4%)/4% — sq(4)
843 (4) = /4] 4 + T(4)! + T(T(4)) 585 (0) — a4 o/ a%
844 (4) = T(4 +4)/T(4) + 4 oy L
845 (4) = Vi/ 4 + T} + T{T(4) 886 (5) = 4/.4% — T(T(4)) + T(4)
846 (4) = TN + £)/4 887 (6) = 4!- sq(T'(4)) — T'(V4) + 4!
847 (4) = T(v4) + T(T(4)) + T(4)! + T(4) oA
848 (2) = (41— ) 4/Vd 889 (6) = (sq(T'(4)) — .44)/4%
849 (4) = T(T(4)) + T(4)! + 4/ 390 (4) = (o)) /VA— )] 4
850 (4) = D(D(4)) +4/.4 + T (4)! 891 (8) = (L0 ~ 4/ T T4

1 (4) = /I(v4) + T(T(4)) + T(4)! + T(I'(4)) 892 (6) = sq(T'(4))/4% — 4 — 4
o _ v (\.[)' . i (_ VA) 893 (6) = (sq(T(4)) — 4%)/4% — T'(4)
o2 =T @I - v 804 (4) = T(4)1/(4 + 4) — T(4)
858 (6) = (sa(4) ~T(4)/V1 ~ Vi 895 (4) = (D(4)! — 4)/(4 + .4)
854 (4) = (L(C(4) + V) - (C(V4) +T(4)) 896 (2) = 4!-4!. (V4 — 1)
855 (4) = 41/.4/ 4 + T(4)! 397 (4) (L)Lt — T() /i
856 (4) = T(T'(4)) +4- 4+ T(4)! 898 (1) — (PUAn/ 4 — 4 /]
857 (6) = (sq(4!) — V4)/V. 2~ 4 899 (4) = (T(4)!/v4 — .4)/.4
858 (2) = (4!-4! - 4)/V4 900 (0) = (41/4)!/(-4 + .4)
859 (6) = 4! - 5q(T'(4)) — v/4/.4 901 (4) = (1"(4)!/—|— 4)/:)7\;1(4)1

X! 902 (4) = (T'(4)!/.4 +
002 = yar/a-a 903 243 = (D(4)!/.4+T(4))/v1
861 (2) = (4141 = v1)/V4 004 (4) = T(4)!/(4 + 4) +4)
= /4" 4 /4 905 (4) = (T(4)! +4)/(4+ 4

0212 / - v 906 (4) = T(4)!/(4 + .4) + T(4)
863 (4) = \/4"/4-T(vV4) 907 (6) = (sq(T(4)) + 4%) /4% + T'(4)
864 (0) =4!. (4!/.4 — 4!) 908 (5) — \/W\./Z _ F(F(_4)) +4
865 (4) = 1/41*/ 4+ T(V/4) 909 (4) = (T(4)! +4)/.4 —T(4)!
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210 () = (WY v+ )
= (sq(T'(4
=i iz 21 4= T01- oA e
- a1y
914 (6) = ?g{g‘a’i((:l/)z/Q) +.4-T(4)! 353 (6) = T(4)! — 4! + (V) +
015 (1) = (AN T 14 oot (6) = (Al salt) - TR ey
916 (6) = sq(d) - (4 4)/ 4% = (41 sq(4) — 1)/ 4
917 (6) = (fq(%@)()‘i ol ort @)= (244 'F<F<4))/— 4
018 (4) = (4 1@ s T A 7(4) = (0(4)! — V)V -
919 (6) = 4/.4% Y ;(f /(%4)))/ 4 ggg Eig — (4+4)-T(T(4)) \/E(F(‘l))
920 (4) = 594/ — (4 - -
021 Eég _ Egg!/ _(44'— 4) +T(4)! 960 (0) — 4(1! fL(fi _1:1()1“(4)) —T(/4)
022 (6) = 4- .4 4 saT(4)/4) 961 (4) = ((T(0(4 Vi
923 (6) = (Sq.(r(iq@') +.4 062 (4) — (4.1 4) ))1“+ 4)/4)
924 (4) = 1“(4),/()4) —4%) /4% + 4! 003 (1) — /i71. (T(4)) + VA
925 (5) = (4 _-\/ﬁ) + 4! 964 (4) = (4+4) -+1‘1(11£44)1!
926 (6) = (sq(r(4))0+' i/-4% 965 (6) — (sq(44) — T z(i ) + 4
927 (6) = v/4 - sq(4! 4) /4% + sq(4) 966 (4) = (4 + 4 (4))/V/4
928 (0) = 4 - ( S 4)')_ sq(T(4)/.4) 967 (6) — (sq(44)) : _F%f/”ﬂi r(4)
929 (6) = (sq(I(4)) - 968 (0) = /447
030 (4) = éq(i) !(‘2)4:; (V))/4% + 4 969 (4) = (I'( 4),/ ! _
931 (6) = F(r(4))/‘4/£‘ii: 4) 970 (4) = 44 — l;a)rfp/\/‘z —T(T'(4))
033 (6) = (I(4)! — F(4))/(il/)4—!_ 4 ZZ ES) PR,y S 6+ T(4)!
: + 6) = sq(s
934 (4) = \/T@" +T(4)! fj;!) o ()~ Tk A Vi
935 (4) = T'(4)! — 975 (2) = (V4 |
0% (2) — 51); 4{(@ +yr@® 976 (0) = (i P i);@u/ﬁ
037 (4 — F)4/\/—4 o (4) = T(VA) +T(4)! + 44
) = /T@' 4 T(4)! + T(v4) ; (4) = D(4)! + VI 1 44
ggg E4) = JT@'® 1) + va 050 Eig _ FJZ\?,ZJ: L@ifsa4)
6) = ( ' B + 44
940 (4) = (?Iéf(‘{g“))zrz;(r(zl)) —4)/4 052 Ej) = (C(T(4) ~ )/ + 10
941 (6) = sq(T'(4)/4) +¥é)! —4 983 (63 - (Fﬁ' IWM) .
042 (4) = /T(@)' ™ + T4 o8 (0) = (e d
043 (6) = YT £4). +T'(4) 985 (5) = 4/.4% — ljr(:)). 14!)
01 ()~ 4-(VA-T(F (1) o5t 1) = F{T(4)/1 - {1y
045 (4) = (D(4)/.4)"* =4 987 (6) = ¥4 [(v/1) -
046 (5) = 4/ 4)7/ .4)4‘ +T(4)! 988 (4) = T(T'(4))/ A + r)( 4)fq(r 1))
947 (6) = Sq&F(Z)_ 1.4 989 (4) = (T(T(4)) — .4)/4 —v4
948 (4) = V4 - (4 ,/f4) +V4+T(4)! 990 (4) = 1“(4!/\/1)/(4+;1)'+F(4)!
019 (6 = T/ + (D1 +1 092 4) — (1) (r 3)/ 1+ T(4)!
050 (5) = (44— T(4))/4% +4 993 (5) = (4+4) - (D)) +4) ‘
004 (4) = (4—.4%)/.4% — T (4)
) =T((4)/A+T4)! +4
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095 (5) = (4 — A%) /4% — 4 1029 (5) = 4°</—+f/4
= 1030 (0) = (/ v4" +4‘)/4
996 (0) = (4/4)" -4 1031 (5) = T(V4) + T(4) + Y14
— — |
o & = 41 TS a0 it
! = 4-T@)!+T@4)!-T4)
998 (0) =\ (4/4)" - VA 1035 (4) = (M) + T4 + )
999 (2) = 444/.4 1036 (4) = T(4)!/v I - 44
1000 (0) = 4-4* — 4! 1037 (6) = (4% +4)/.4% + j(g (4))
4) = (D) — 41— 4)/
1001 (4) = \/M/T)+ T(v4) iggg §4§ = %(4(1))— T(V4) + .4-T(4)!
1040 (0) = 4- (4* +4)
_ 4! = (C@)! - 41— V1) VA
1002 (0) = \/WT)+ vz }gg Ejg - (1(12(4)' T
1003 (5) = (4 = 4%)/.4% + 4 1043 (4) = (T(4)! — 4))/V.Z = T(/4)
41! = 4! I— 4‘)/\/_
1004 (0) = (4/4)" +4 igig Ei; — E;(‘L/)')_ 4!)/\/_+ ['(V/4)
1005 (4) = (D(T(4)) — T'(4))/.4 + T(4)! 1046 (4) = .2-T(4)! + T(4)! + T(4)
1006 (4) = 4-T(4)!+T(4)! - V4 1047 (4) = (T(4)! - T(4))/vV A -4
1007 (4) = 4 '(F(4)!4—) T(v4) +T(4)! 1048 (0) = 4-4* + 4! .
1008 (0) = 4 - (4* — = (VA% + 4 — A%)/.4%
1009 (4) = .4-T(4)! + T'(vV4) + T(4)! }8‘5‘3 Ei; - 514 41 +r(4)
1010 (4) = (T(T'(4)) —4)/-4+T(4)! 1051 (5) = (V4% + 4% + 4)/.4%
1011 (5) = (4% + 4)/.4% + T (v/4) 1052 (0) = 44 - 41 — 4
1012 (4) = 44- (4! - T(vV4)) 1053 (4) = (T(4)! — 4! + T(4))/V1
1013 (5) = V¥4 — /T (V4) + T(T(4)) 1054 (0) = 44 - 41 — \/(Zf)
~ =44- 4! r'(v4
1014 (2) = / (VA +4)" /3 }8?2 Eég — 44. /T4
1015 (4) = (D(T'(4)) — V4)/.4+ T(4)! 1057 (4) = (V4 ) b
1016 (0) = 4- (41 — V/4) 1058 (0) = 444! + /4
1017 (5) = V41— T(vV4) - T(4) 1059 (4) = (T(4)! + v4)/VA - 41
0) = (V/va" — 41)/4 1060 (0) = 44 - 41 + 4 _
1019 Eﬁ = (r(4)! — (4-T(T(4)))/4 1061 (6) = (I (4)! - {4 )V A= sq4)
1020 (0) = 4- 4% — 4 1062 (4) = 44 - 4! +T(4) -
1021 (4) = (D(T(4)) + 4)/.4+ T(4)! 1063 (4) = \/(C(vA) + 1) +T(4)
1022 (0) = 4-4* - V4 1064 (4) = 4- (T(T(4))/4-4)
1023 (0) = (V4" — 4)/4 1065 (4) = (T(4)! — 4/.4)/V 4
1024 (0) = (4+4)"/4 1066 (6) = (V4% +4)/-4% + sq(4)
m 1067 (4) = (T(4)! — ( ))/\/_ 4
o = 1069 (1) T4 T - v
_ Vag% 4+
ig;; Egg 4 dhaa 1070 (4) = F(4)'/\/_ 4/4
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_ = (M) +T4)/Vi+4!
1071 (4) = (4-T(C(4)) —4)/ 4 iﬂi Eg =(F(i)) (\/1(_)){1) r'(4)
1072 (2) = 41 - (V.44 44) 1115 (4) = (T(4)! + 4!)/V4 - T(V4)
1073 (4) = (T(4)! - \/_)/\/_ 4 1116 (2) = ((4!/4)! +4l)/\/_

1074 (2) = ((41/4)! = 4)/V4 1117 (4) = (P(4)! + 40 /v + (V)
1075 (4) = T(4)!/V. 2 - v/4/ 4 1118 (4) = T(4)! - (VA — ) — /4
1076 (2) = (4!/4)1/VA—4 1119 (4) = T(4)! - (V4 — 4) - T(V4)
1077 (2) = ((41/4)! - v4)/V4 1120 (0) = 4 - (4* + 4)

1078 (2) = (41/4)}/vV A V4 1121 (4) = T(4)! - (V4 — .4) + T(v4)
1079 (4) = (D(4) -T(4)! - 4)/4 1192 (4) = (D)1 4 4+ /3
1080 (0) = 44 - 4! + 4! 1123 (5) = V4/ 4%/ A~ V1

1081 (4) = (T(4) -T(4)! + 4) /4 1124 (4) = T(4)!1/V A+ 44

1082 (2) = (4Y/4)/V.A+ V1 1125 (4) = T(4)!/4/.4/ 4

1083 (2) = ((41/4)! + v4)/V4 1126 (4) = T(4)! - (V4 — 4) +T(4)
1084 (2) = (41/4)!/V A +4 1127 (5) = VA/.4%). 4+ V4

1085 (4) = (D(4)! +T(4))/vV/Z 4 1128 (0) = V44" —

1086 (2) = ((4!/4)! +4)/vV 4 1129 (5) = v4/ A%/ 4+4 )
1087 (4) = (D(4)! + vA)/VA + 4 1130 (5) = (4% + 4)/.4% + T(T(
1088 (1) = T(0)- (4/4+.4) 1131 (5) =ﬂ£/4?i gfg)

1089 (2) = /4/A+ 41" e Eg; - zggly _ 4)+ 4% + sq(4)
1090 (4) = T(4)!/V 2 +4/ .4 1134 (4) =T(4 +4)/4.4

1091 (4) = (T(4)! + T(4)/VA+ V4 1135 (5) = (VA/A + 4%)/ 4%

1092 (4) = (T(4)! + 4 +4)/v/4 1136 (2) = 41- (41 + 41 — /)

1093 (4) = (C(4)! +T(4))/VA+4 1137 (6) = V4 - sq(4!) —T'(4)/.4
1094 (5) = 44/4% ~ T(4) 1138 (5) = Y%/ +T(T(4)) ~T(4)
1095 (4) = (D(4)! +4/.4)/V 4 1139 (6) = (sq(4!) — T(T'(4)) — .4)/.4
1096 (4) = 4- (T(T'(4))/.4 + 4) 1140 (4) = (4 -T(T(4)) —4)/.4
1097 (6) = (V-2 +T(4))/V.2 + sq(4) 1141 (6) = v/4/.4%/.4 + sq(4)

1098 (4) = 4/ (D(T(4)) + V/4) 1142 (5) = I(T(4)) — VA + “%/1
1099 (5) = (44 — 4%) /4% 1143 (5) = Y%/4 —T'(V4) + T(T(4))
1100 (4) = 44- (T(v4) + 4) 1144 (0) = 44 - (V4 + 4)

1101 (4) = (P(4)! - D)V + 41 1145 (5) = T(V4) + T(C(4) + ¥4
1102 (4) = PA)Y/V.A - VA + 4! 1146 (4) = V4- 41T —T(4)

1103 (4) = T(4)}/VA + 41— T(v4) 1147 (6) = VA - sq(41) — v/A/.4
1104 (0) = 41 - (VA4 + 44) 1148 (0) = V4-41* —4

1105 (4) = (V-A+T(4)!)/V A+ 4! 1149 (5) = V4/.4% /4 + 4!

1106 (4) = T(4)!/V A+ 4! + V4 1150 (0) = V4- 41 — /4

1107 (4) = (T(4)! - T(4) +41)/V 3 1151 (4) = V4.4 — D(v4)

1108 (4) = T(4)!/V A+ 41 +4 1152 (0) = 4! - (44 + 4)

1109 (6) = \{1;//1%/4 sa(4) 1153 (4) = V4. 47 + T(V/A)

1110 (0) = =V4-4" V2

1111 (6) = sq(4! — T(V4)) + sq(4!) + T(4) 1154 (0) = N T(V/3
1112 E4§ =T@)!/Vi+ V4 1155 (6) = sq(4/.4 +4!) — T(V4)
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—4)
1200 (0) = j'// 44 r(?r(4)) +T(V4)
4744 1201 (jg _ 4/4-T('(4) + V4 T(T'(4))
i E s
1157 (6) = T4 T(4) =4/4
1158 (4) = “T“,!_*;q(iq@)) - 4)/4 1204 Ejg - (/ T(D(4)) + \/;)({1)4
100 (0) E/FZ(-@"“’“Df 1206 (1) = 44 L) — (oa2) — /4
1160 (0) = 1/4)/V 3 = sq(sq(T )
= ([(4)!+4Y/ 4 1207 (6) = r'(4))/.4+ V4
ﬂg; Eé; = %ﬁ'i@é”ﬁrﬁ)f— r(v4) 1208 Eg ~ ? ((I)E +T(4)/Va+T(T
163 (6) = V/4- (s _ 1209 (4) = i 4
:1{164 243 _ Fé?);(??‘f)% fz/t‘l/ 4 1210 (0) = \/%!/F(ﬁ)ér I(T(4)) — T(T(4))
1165 (6) = sq(s¢ A% 1(4) =" —T(T'(4)))
1166 (5) = (\Zzs:(i)'ng re )/ ! 1212 54) = Vi () +FF(Sg)/-Z— vi
= —_— 8 _ . 0 —
1169 (0 <$‘1(‘,")4/ 4(+)r)(/4)! ) e }/51/)4/(ﬁ+ v
et ESTE s,
1171 (6) = sq(sqg ) = sq(44 !
1172 (4) = T (4) 4%§ ((sq(4.) T(v/4)) 1217 (g% o \/z+r(41{)( y
e o = VA g
1174 (4) =T —T(T(4)) —-T(vV4 4) =4- (T4 +0 r'(4)!
1175 (4) = F(4)1,4 1(4! i;;tl) 25; = (‘/Z' %Q%ﬂ%
1176 (0) = V4 1) +T(4)" - T(T(4)) 1222 (5) = T(4)! '+ 4)/.4 — sq(4])
1177 (4; = ?%D +vA - T(T(4)) 1223 (63 = g(j) T ) 4
178 (4) = b +4)/.4 224 (4) =
1179 (5) = (ﬂ44_ 1—?1"(4)) +4 A ! 2) =+\/(4l -V V1
1180 (4) = T'(4) T(4)) — T(v4)) — 4 1225 ( VE)A) A% — 41 f
1181 (6) = sq(sq( I'(4) — D(T(4)) 1226 (5) = (sa(T() ~4/4) t
16 6) = (et el ) 1398 (8) = oxontT () — 4
1183 (6) = Eilq(fi,) (VA +4)) 1228 Eg; = zg (s q(P(4)) 14/(4));/%1
1184 (2) = 4)) —T'(4))/.4 1229 = (D(4 + 4) — (T o
4) = (4-T(I( —44/4 1230 (4) = sq(T'(4)) — 4/4) +
1156 (5) - VA a1 T/ i 0 e
6) = v4-sq(4l i 12 =
ﬂg; 8 =4l \/\/%)//i — 54(sq(4)) 1233 (6) = Ejgﬁ)/ 4% — sq(4)
1189 (6) = (sq(4 )F—E_‘l)) —4)/4 1234 (6) : (\/—/ 4% —T'(4))/ 4
1190 (4) = (4- Fg_ r'(4))/V.4+T(T(4)) 1235 (5) ~ T(4+4)/4 — 4! 4)/4
102 () = 4 (T A ) vi 1257 5) - et
=4 4)) — 1 - an /.4 —
193 0) - ) —v) 1239 (6) = (1)1 + T()/ 4 sa(a)
1194 (4) = 4/'4 : F((4)) — \/‘I)/4 1239 (6) ; 4/ ( ( (4)) ) (4)
1195 (4) = (4-T( 4)) — 4 1240 (4) ( 4 )) 4/4) + sq
6(4) =4/4-I(I'(4) 4+ T(T(4)) 1241 (6) = sq(s 4)/4
e 4) = (F(4)!—‘/Z)/\/'_\/1 1242 (2) = (4!
1108 543 = 4/4-T(T(4) 474
100 (0 = (1 TT00) - 1)
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1243 (6) =
1245 () = Goatt) 4144
- '+.4)/.4
B .
1247 (6) _ f/ 1/.4% vA)/4 .
0) = 4|q(\/_/4%) 1286 (4) =
1249 (4 (41 + 4! T(4)) 287 (2) r4)"
1950 (0) — (4l— F(\/——i_ﬁ /V4 1288 (4) = (4! __4/.4
1251 (4; z V4 (ﬂ/4i)4 o r'(4)! 1289 (4) ; 5(4)4 - 44)—/f
oo 16) = tayt - %<4) o | 1201 (1) ro' P/ - T
i oD 07 s |
1255 (5) = (4+4) ) +T(V4 3 = Wiy |
1256 (4) = (/i 4 s ) -4 1201 (0) = Ty VAT
7(4) = +4) 4)/.4 5(2) = /4! A
1358 (4) = %‘F(F(Al))/i_ 4 }296 0) = (4! - 4! — f
59 (4 I(4 297 (4 )/ 1
1259 (4) = (F(4+4)/4_}—ﬂ)/f 1207 (2) = 4,
};61 83 = ((4! :4‘?/4— 4)/;1 4 1292 EZ; = (4,/:)' +.4)/4
= - +
R 0 = L
st =4 4+ (4) = )+
i 2;*;-%<ii<2>+r<ﬁ oo
1266 (4) = (v4/4 ot L+ VAV 1304 (4)=T u +4'/4
1267 (6) ; (T4 +4)+ I'4))/.4 ‘ 130;1 (4) = Fg\g—) r'(4 )
) AT
4) = — —4! - =T )
I E4§ - (rr(ffl}; +4rz4;1! v 1287 @) = - ) +4/{14
Sl Ty A s =4 /f T(r(4)
1273 8) = (4!/4)4_ r(va) _ 4 4 s 9 (4) = (T(I( + F( ) )+ T(4)*
1274 (4; =T(V4) N iy ' 1310 (5) = (V4
1275 (5) = r4)" + \;(4)4 — 4 131; (4) = r(4/ 4% + 4;) V) \/T(V4
13;6 4) _ é\(/z+4(7)4/;4! : 1313 Ezg — 4. )4/11;1+P( )/ 4
7 (6) — A 0)/ 4% = 4
1278 Ei; = Sq(s)q(r Al +4 /4 o (4) = Z,q( q(T (4)+))‘/_
Pl 4(T(4))) 5(5) = ( + 5(4
1280 Eég iy ;(4!+1‘(4)(4)/ 4-4 1316 () = ;4 \/)T;L)/F(‘l) )4/
1 — 44 4)! — 17 B ( 0)/4%
1325 Eii _ 1ﬂ(z'1)44/‘4)' (V) 1318 Eg = ;q() (+(i!)))4 +T(4)!
12 =4.—_F4 319 (4) = (4
e snla =T i
s (0 foata) =4/~ 1321 (4) = AN
5 (4) = T(4)" e Loz )~ 10h Ta
) _\/1“(\[ 1323 (6) = F( ) +\j‘_+r(4)
1323 1) = 5‘& v +f )/
26 (4) = F
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1327 (4) = V{/T(VA) + T(T(4)) — 4
1328 (4) = T(4)* + /4

1329 (4) = “f/r(\/i) +I(04) — V4
1330 (4) = V{/T(v/4) + T(T(4)) - T(v/4)
1331 (4) = 44/4“4)

1332 (2) = 4!- (VA +4)/3

1333 (4) = “-Vr(ﬂ) +T(T() + VA
1334 (5) = .4-T([(4)) /4% + V4

1335 (4) = ‘/7 T(vVA) + T(T(4)) + 4
1336 (4) = ['(4)!/V 4 +44

1337 (4) = f\/r V) + T(T(4)) + T(4)
1338 (6) = sq(sq(T'(4))) — \f+44
1339 (6) = sq(sq(I'(4))) + 44 — I'(v4)
1340 (4) = T(4)* + 44

1341 (4) = (D(4)! — I(T'(4)) — 4)/ 4
1342 (4) = (I(T(4)) + V4) - /T (V4) + T(T'(4))
1343 (6) = sq(sq(v4/.4)) +T(4)! — V4
1344 (0) = 4!- (4!/.4 — 4)

1345 (4) = (VA/.4)" + T(4)!

1346 (4) = (F4)! - T(T'(4)))/ .4 — 4
1347 (6) = (V4 + 4%) /4% + sq(sq(T(4)))
1348 (4) = (P(4)! - I(C(4)))/4 - V4
1349 (4) = (4! -T(T'(4)) — 4)/ 4
1350 (2) = (4!-4! +41)/4

1351 (4) = (T(4)! - T(T(4)) + .4)/.4
1352 (0) = \/4- (V4 + 41"

1353 (6) = sq(sq(T'(4)) +4/4) — sq(4)
1354 (4) = (T(4)! — I‘( ( )))/ 144
1355 (4) = f\/r ) + 4!
1356 (4) = I'(4) +4'/ 4

1357 (6) = sq(sq(T'(4))) + (4! + .4)/.4
1358 (6) = sq(44) — /4 — sq(4!)

1359 (4) = ([(4)! — T(T'(4)) + 4)/ 4
1360 (4) = ['(4)! + 44/ 4

1361 (6) = sq(44) — sq(4!) + T'(v/4)
1362 (6) = sq(44) — sq(4!) + V4

1363 (6) = sq(sq(I'(4)) +4/4) —T'(4)
1364 (4) = I'(4)!/.4 — 44

1365 (6) = sq(sq(T'(4)) +4/4) —
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1366 (6) = sq(44) — sq(4!) + I'(4)

1367 (6) = sq(sq(T'(4)) + 4/4) — /4
1368 (4) = D(4)!- (T'(4)/4 + . )

1369 (4) = \/(4'/x/._+1“ vay*

1370 (4) = (V4 +41)!/411 + T'(4)!

1371 (6) = sq(sq(T(4)) + 4/4) + V4
1372 (4) = 4 -/ (D(vA) + T(4))" ™
1373 (6) = sq(sq(T(4)) +4/4) +4

1374 (4) = (['(4)! —=T(T'(4)))/.4 + 4!
1375 (5) = ([(4)/4 + 4)/.4%

1376 (4) = V4- (T(4)! - <‘/1)

1377 (6) = sq(4/.4) + T(4)*

1378 (5) = T(4)/ 4% — T(T(4)) — v/4
1379 (5) = (I‘(4) —4%)/.4% — T(T(4))
1380 (0) = (4!- 4! —4!)/.4

1381 (5) = F(4)/ 4% — T(T'(4)) + T(vV4)
1382 (5) = I'(4)/.4% — T(T'(4)) + V4
1383 (6) = (sq(I'(4)) + sq(4!))/-4+T(4)
1384 (4) = V4- (T(4)! — 4! — 4)

1385 (6) = (sq(4!) — 4! +/4)/ .4

1386 (4) = v4-T(4)! —4!/4

1387 (6) = (sq(I'(4)) +.4)/.4 + sq(sq(I'(4)))
1388 (4) = V4 - (T(4)! — 4!) — 4

1389 (6) = (sq(4!) —T'(4))/.4 — sq(T'(4))
1390 (4) = V4 - (T'(4)! —4!) — V4

1391 (4) = V4 - (T(4)! - 4!) - T(vV4)
1392 (0) = 4! - (4!/.4 — \/4)

1393 (4) = V4 - (T'(4)! — 4!) + T'(v/4)
1394 (4) = V4 - (T(4)! —4!) + V4

1395 (4) = I(T'(4))/.4/.4 + T'(4)!

1396 (4) = V4-T(4)! — 44

1397 (6) = (4% + 4)/4% + sq(sq(T'(4)))
1398 (4) = V4 - (T(4)! — 4)) + T'(4)
1399 (5) = (['(4) — 4% — .4)/.4%

1400 (2) = 4! - (41 — V1) / 4

1401 (5) = (4% — .4 +T(4))/.4%

1402 (6) = (sq(4!) — sq(4))/.4 + V4
1403 (6) = v4-T(4)! - T(v4) — sq(T'(4))
1404 (2) = 4!- (VA + 41/ 4

1405 (6) = (sq(4!) — sq(4) + V4)/ 4
1406 (6) = sq(sq(T'(4))) + 44/ .4

1407 (6) = sq(44) — sq(4! = T(v/4))
1408 (0) = (4! — va) - \//v4"



1409 (6) = (sq(4!) —T'(4))/.4 — sq(4) 1454 (4) = V4 - (T(4)! + 4) + T'(4)
1410 (4) = V4 - (T'(4)! —=T(4)/.4) 1455 (4) = (4!-41+T(4))/ 4

1411 (6) = (sq(4!) — v4)/.4 - 4! 1456 (2) = 41- (V4 + 41/ .4)

1412 (4) = 1:/(_1“(4)) 4+ 14" 1457 (6) = (sq(4!) + T(4))/.4+ V4
1413 (4) = V4 - (T'(4)! = T'(4)/.9) 1458 (2) = /(a7 1474

1414 (4) = T(4)" - v+ T(T(4)) 1459 263 - (35(4'/) l 14(4)) JA+4
1415 (4) =T(4)" —-T(V4) + T[(T(4)) 1460 (4) = V4 (T(4)! + 4/ 4)

1416 (0) = 4! (4! - 4)/ 4 . 1461 (6) = (sq(4!) + I'(4))/-4 +T(4)
1417 (4) = T(v4) + T(T'(4)) + T'(4) 1462 (4) = vA4-T(4)! + 4! — V4
1418 (4) = T(4)* + VA + T(T(4)) 1463 (4) = V4 -T(4)! — T(v/4) + 4!
1419 (6) = T'(4)/.4% — sq(4/.4) 1464 (0) = 4!/.4- (4! + .4)

1420 (4) = V4- (T(4)! - 4/4) 1465 (4) = V4 T(4)! + 4! + T(v)
1421 (6) = (sq(4!) —I'(4))/ 4 -4 1466 (4) = V4-T(4)! + V4 + 4!
1422 (4) = V4 - (T(4)! - 4/.4) 1467 (4) = V4 - (L(4)/4+T(4)))
1423 (6) = (sq(4!) — .4)/.4+ sq(4) 1468 (4) = V4 -T(4)! + 4 + 4!

1424 (2) = 4! (41/.4 — V3) 1469 (5) = T(4)! - (V4 + 4%) + V4%
1425 (4) = (4!-4! —T(4))/ .4 1470 (4) = T(T'(4))/.4/.4 + T(4)!
1426 (4) = V4- (T(4)! - 4) - T(4) 1471 (6) = (sq(4!) + T'(4))/4 + sq(4)
1427 (4) = V4 - (T(4)! = T(4)) - T(V4) 1472 (4) =T(4)! - (4- 4 + 4)

1428 (4) = V4. (T(4)! —4) — 4 1473 (6) = V4 - (T(4 )'+sq( )) +T(v4)
1429 (4) = V4. (T(4)! - T(4)) +T(V4) 1474 (5) = ['(4)/ 4% — 4! - V4
1430 (0) = (4!-4! — 4)/.4 1475 (5) = (4! — .4)/. 4%/4

1431 (4) = V4-T(4)! — 4/ 4 1476 (4) = r(4)'/4+r( )

1432 (0) = V4 - ((4!/4)! — 4) 1477 (5) = I'(4)/.4% + D(V/4) — 4!
1433 (4) = V4 - (D(4)! — 4) + T'(v4) 1478 (5) = I'(4)/.4% — 4! + V4

1434 (4) = 4!- '/4 T'(4) 1479 (6) = (sq(4) — .4 + sq(4!))/ .4
1435 (0) = (4!-4! — V4)/ .4 1480 (2) = 4!- (VA +41)/ 4

1436 (0) = 4! - 4!/ 4—4 1481 (6) = (sq(4!) + sq(4))/-4 +T'(v/4)
1437 (4) = (4-T(4)! —T'(4))/V4 1482 (4) = V4 - (T(4)! +4!) —T(4)
1438 (0) = 4!-4!/.4 — /4 1483 (6) = (T'(4) — .4%)/.4% — sq(4)
1439 (0) = (4!-4!— 4)/.4 1484 (4) = V4-T(4)! + 44

1440 (0) = (4 +4)!/(4! +4) 1485 (4) = (T'(4)! — 4!/.4)/ 4

1441 (4) = V4-T(4)! + 4/4 1486 (4) = V4 - (T'(4)! +4!) — V4
1442 (0) = 4!-41/.4 + /4 1487 (4) = V4 - (T'(4)! + 4!) — T'(v/4)
1443 (4) = (4-T(4)! + T(4))/V4 1488 (0) = 4!- (4!/.4 + V/4)

1444 (0) = 4!- 414 +4 1489 (4) = V4 - (T(4)! +4!) + T(V4)
1445 (0) = (4!- 4! +/4)/ .4 1490 (4) = (T'(4)! —T(T'(4)) — 4)/.4
1446 (4) = 4!-41/.4 +T(4) 1491 (4) = (T'(4)! — 4)/. 4 —T(T'(4))
1447 (4) = V4 - (T(4)! +4) = T(V4) 1492 (4) = 4 - (T(4)! +4!) + 4
1448 (0) = /4 - ((4!/4)! + 4) 1493 (5) = (T'(4) — .4%)/.4% — T'(4)
1449 (4) = V/4-T(4)! + 4/ 4 1494 (4) = /4-T(4)! + 4!/4

1450 (0) = (4!-4!44)/.4 1495 (4) = (I'(4)! = T(T(4)) — V4)/ .4
1451 (4) = V4 - (T(4)! +T(4)) - T'(v4) 1496 (4) = V4 - (T(4)! + 4! + 4)

1452 (4) = V4 - (T(4)! +4) + 4 1497 (5) = T'(4)/.4% — \/4/ 4

1453 (4) = vV4- (T(4)! +T(4)) + T(V4) 1498 (4) = (C(4)! -T(T(4)))/-4 - V4
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1499 (4) = (T T(T(4)) — .4)/.4 n
1500 EO; - 54'( 31' +4'()/(4)) / 1537 (4) = 41-\/ V4" +T(V4)
1501 (4) = (C(4)! = T(T(4)))/-4 + T (V4) a
1502 (4) = (D)1~ T(T(4)/.4 + V4 1538 (0) = 41-\[V V4" + V4
1503 (5) = (T(4) — .4%)/.4% + 1539 (4) = (T(4)! — /T@")/ 4
1504 (4) = 4- (T(T'(4)) +47) n
1505 (4) = (T(4)! = T(T(4)) +v4)/.4 1540 (0) = 4!-\/\/ V4 +4
1506 (4) = (I'(4)! —T(T'(4)))/-4 + T'(4) 1541 (6) = I'(4) - sq(sq(4)) + V/4/.4
1507 (5) = ['(4)/.4% + T'(vV4) +T(4) 1542 (4) = T(4) - (T(V4) + 4%)
1508 (5) = T'(4)/.4% +4 + 4 1543 (6) = (T'(4)! — .4)/.4 — sq(sq(4))
1509 (4) = (T(4)! +4)/.4 - [(T'(4)) 1544 (4) = T'(4)!/.4 — 44
1510 (4) = (D(4)! - T(T'(4)) +4)/ 4 1545 (5) = (YA 4+ I'(4))/V 4
1511 (5) = (T(4) +4%)/-4% + T(V4) 1546 (5) = (V4% + T'(4))/.4% —
a 1547 (6) = sq(sq(F(4))) +sq(sq(4)) — V4/ 4
1513 (6) = T(4) - (sq(sq(4)) — 4) + T(v/4) 1549 (5) = ( % - 4%+ T(4))/.4%
1514 (5) = (T'(4) + 4%)/.4% + 4 1550 (5) = (T'(4)! — 4/4%)/ A
1515 (4) = (T(4)! + T(4) — T(T(4)))/.4 1551 (5) = (T'(4) + .4% + V4%) /4%
1516 (5) = I'(4)/.4% + 4 - 4 T
1517 (6) = sq((sq(4) — .4)/.4) — 4 1552 (2) = 4!~ (\[ Y VA" + V)
1518 (5) = T'(4)/.4% — T'(4) + 4! 1552 Eg; = ?Igifgl(F(i ‘;}%r F(F\/é)(;r);l“
= —4)/.4) -4 155 = 1+4)/.4 -
1519 (6) = sq((sq(4) ')/ ) — V4 1595 (5) = A% (URE — T )
1520 (2) = 4!- (\/ V4" —V3) 1556 (4) = v4-T(4)! + T(T(4)) — 4
_ 1557 (4) = (T(4)! — 41 — 4)/4
1521 (2) = (VA+4)""/ 3 1558 (4) = V4 -T(4)! + T(T(4)) — v4
1522 (5) = 4! — V4 + F( )/ 4% 1559 (4) = V4-T(4)! = T(v4) + T((4))
1524 (4) = T(4) - (41 - ﬂ) 1561 (4) = Vi T(4)! + T(T(4)) + T (v4)
1525 (5) = (4! + .4)/4%/ 4 1562 (4) = (T(4)! —41)/ 4 — 4
1526 (5) = [(4)/.4% + v/4 + 4! 1563 (6) = ['(4) - (V4/.3 + sq(sq(4)))
1527 (5) = ( V%/4—-T(4))/V 4 1564 (4) = (T(4)! —4!)/4— V4
1528 (4) = V4 - (T(4)! + 44) 1565 (4) = (D(4)! — 4! — 1)/
1529 (6) = (sq(F(4)) + sq(41) — 4)/.4 1566 (2) = ((41/4)! — 41)/ 4
1530 (4) = T(4) - (4% — T(v/2)) 1567 (4) = (T'(4)! — 4!)/.4 + T'(v/4)
1531 (6) = ['(4) - sq(sq(4)) — V4/ .4 1568 (0) = /4 - (4! + 4)*
4t 1569 (6) = v/4- sq(4! +4) + (V4
1532 (0) = 41-\//v4" — 4 1259 243 = 2{(4)"15 4'4)’ h i o (V4)
1533 (5) = (V¥4 - V4)/V4 1571 (6) = sq(\/sq sq 0)) —4/.4) -
m 1572 (4) = T'(4) - (T(4) + 4%)
1534 (0) = 4! Vi -4 1573 (6) = sq(+/sq(sq(4)) —4/.4) —
" 1574 (5) = (V4% + T'(4))/.4% + 4!
1535 (4) = 4!-\/\/ V4~ —T(V4) 1575 (4) = (T(4)! + 4 —41)/ 4
1536 (0) = 4-4-4- 4! 1576 (4) = ['(4)!/4 — 44
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1577 (6) = (4% + 4)/.4% + sq(4!) 1621 (4) = ['(4)!/.3+ 4/4
1578 (6) = 44 - sq(r(4)) —T(4) 1622 (2) = (4!/4)!/.4+ V4
1579 (6) = sq(+/sq(sq(4)) —4/.4) + 1623 (4) = (T(4)! — 4)/4+4
1580 (5) = (4-T(4)! — 4)/vV4% 1624 (2) = (41/4)!/3+4
1581 (6) = sq(4/.4) +T'(4)/.4% 1625 (0) = (V4 +4!)!/4!!/.4
1582 (6) = 44 - sq(T'(4)) — V4 1626 (4) = T'(4)!/.4 + 41/4
1583 (6) = 44 - sq(T'(4)) — [(V/4) 1627 (4) = (T(4)! +4)/.4— /4

1628 (4) = T(4)!/d+4+4
1584 (0) = 4!- (\/ \/ VA" + V) 1629 (2) = ((4!/4)! +4)/.4
1585 (6) = sq(sq(4)/.4) — T'(4)/ .4 1630 (4) = ['(4)!/4+4/.4
1586 (6) = 44 - sq(T'(4)) + V4 1631 (4) = (T'(4)! +4)/.4+ V4
1587 (4) = (T(4)! —4)/ 4 — 4! 1632 (0) = 4!- (4! + 44)
1588 (4) = '(4)!/4 - /4 1633 (4) = (T(4)! +4)/3+4
1589 (6) = sq(T(v/4) + s¢(4)) + sq(sq(T(4))) + 4 1634 (6) = ['(4)!/ 4+ sq(4) — V4
1590 (4) = (T'(4)! — 4!)/.4 + 4! 1635 (4) = (T(4)! — 4)/ 4+ 4!
1591 (6) = sq(sq(4)/.4) —4/.3 1636 (4) =(4)!/4+4-4
1592 (4) =T(4)!/.4— 4! — 4 1637 (6) = T'(4)!/.4 + ['(vV4) + sq(4)
1593 (4) = (['(4)! — 4!/Vv/4)/ 4 B
1594 (4) = T(4)!/d — {y Vi 1638 (0) = .4- VVA 4
1595 (4) = (D(4)! — 4)/d — 41 1639 (6) = .4- (s (SQ(S‘]( ) +4)/sq(4)
1596 (2) = (4!/4)!/.4 — 4! 1640 (0) = 4~ (\/v4" +4)
1597 (4) = T(4)!/4+ T (/4) — 4! 1641 (6) = sq((sq(4) — .4)/.4) + T(T'(4))
1598 (4) =T(4)!/4— 41 + /4 1642 (4) = T(4)!/.4+ 4! — 4
1599 (5) = (.4 — 4% + T'(4))/.4% 1643 (4) = (T(4)! — 4)/.4 + 4!
1600 (0) = 4*/.4/.4 1644 (2) = (4!/4)!/.4+ 4!
1601 (5) = (T'(4) + 4+ .4%)/.4% 1645 (4) = T'(4)!/.4 4+ 4! + T(/4)
1602 (4) = (I(4)! —4—4)/.4 1646 (4) = ['(4)!/4+ 4!+ 4
1603 (6) = sq(sq(4)/.4) + 4/ 4 1647 (4) = (4'/f+r( W/ 4
1604 (4) =T(4)!/4—4-4 B /
1605 (4) = (T(4)! + 4)/.3— 41 1648 (0) = 4- (VA" +4) .
1606 (5) = (T(4) + .4)/.4% + T'(4) 1649 (6) = sq(sq(v/4/-4)) + V4
1607 (4) — (F(4) )/ 14 1650 (4) = (F( )' +F( ))/ 44
1608 (4) = T(4)!/.3 — 41//4 1651 (7) = (sq(4!) +v4)/VA @ sq(sq(T(4)))
1609 (4) = (T(4)! — 4)/4— /4 1652 (4) =T'(4 '/ i+ v/4
1610 (4) = '(4)!/4—4/.4 1653 (4) = (C(4)! +4)/4+4!
1611 (2) = ((4!1/4)! —4)/ 4 1654 (6) = sq(sq(4)/-4) +4!/4
1612 (4) =T(4)!/4—4—4 1655 (6) = (T(4)! + sq(4) — .4)/ 4
1613 (4) = (D(4)! — 4)/ 4 + /4 1656 (0) = (4 +4)!/4! — 4!
1614 (4) = T'(4)!/.4 — 41/4 1657 (6) = sq(I'(4)!/sq(4) — 4) — 4!
1615 (4) = (['(4)! —4)/4+ 4 1658 (6) = (T'(4)! +41)/.4 = sq(4)
1616 (2) = (41/4)1/ 4 — 4 1659 (6) = (D(4)! + v4)/V 4 + sq(4!)
1617 (4) = (I'(4)! — 4)/.3+ T(4) 1660 (6) = sq(sq(4)/.4) +4!/.4
1618 (2) = (4!/4)!/4 - V4 1661 (6) = sq(sq(T(4)) +T(v4)) + sq(sq(4)) +
1619 (2) = ((4!/4)! - 4)/ 4 sq(I'(4))
1620 (2) = (4/.4—4)!/4 1662 (6) = (T'(4)! + sq(4))/. 4+ T'(4)
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1663 (6) = sq(4) - (T(T'(4)) — s¢(4)) — T(V4)
1664 (0) = (VA +41)-\// V4"

1665 (4) = (T'(4)! +4! —4)/.4

1666 (6) = (sq(4/4%) — 4)/T(4)

1667 (6) = (sq(4/4%) + V/4)/T(4)
1668 (4) = [('(4)) - ([(4)/.4 + .4)
1669 (6) = sq(sq(T'(4)) +v4) + sq(T'(4)/.4)
1670 (4) = (T(4)! +4!)/4 -4

1671 (6) = ['(4)/.4/4% + sq(sq(T'(4)))
1672 (4) = (T(4)! + 4!)/.4 - V4

1673 (4) = (T(4)! + 4! — 4)/.4

1674 (2) = ((4!/4)! + 41)/.4

1675 (4) = ((4+4)! — (r(4)))/4!
1676 (0) = (4 +4)!/4! —

1677 (6) = sq(I'(4)!/sq(4 ) 4) -4
1678 (0) = (4 +4)!/4! — /4

1679 (0) = ((4 + 4)! — 4!)/4!

1680 (0) = 4!/.4- (4! + 4)

1681 (0) = ((4 + 4)! + 41)/4!

1682 (0) = (4 +4)!/4! + V4

1683 (4) = (T(4)! +4!1+4)/4

1684 (0) = (4 +4)!/4!'+ 4

1685 (4) = (I'(I'(4)) + (4 + 4)1) /4!
1686 (4) = (4+4)!/4'+T(4)

1687 (6) = sq(I'(4)!/sq(4) — 4) + T'(4)
1688 (4) = V4- (L(T(4)) +4 +T(4)))
1689 (6) = (sq(\/_+4‘) —.4)/4

1690 (0) = (VA+ 4" /.4

1691 (6) = sq(v4 + 41)/.4 + T(V4)
1692 (4) = (T(4)! + V/4)/ .4

1693 (6) = sq(sq(T'(4)) + T(V4)) + sq(4! — T(4))
1694 (6) = sq(v4+4!)/4+4

1695 (4) = (I'(4)! + T'(4))/.4 — T(I'(4))
1696 (4) = V4 -T(4)! + 44

1697 (6) = (sq(T'(4)) +T(4)!))/4—4
1698 (4) = (T'(4)! +4!)/.4 + 4!

1699 (6) = (sq(T'(4)) +T(4)!)/.4— V4
1700 (4) = T(I'(4 ))4- T4)/4+ V.4
1701 (4) = (/T(4) +T(4))/4

1702 (6) = sq(sq(T'(4))) + sq(4)/4% +T'(4)
1703 (6) = (sq(T'(4)) + T(4)")/.4+ V4
1704 (0) = (4 +4)!/4! + 4!

1705 (6) = (sq(v4 +4!) + T'(4))/ 4
1706 (6) = (I'(4)! — sq(T'(4)))/.4 — 4
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1707 (6) = (sq(T'(4)) + T(4)!)/.4+T(4)
1708 (6) = (I'(4)! — sq(T'(4)))/.4 — V4
1709 (6) = (T'(4)! — sq(T'(4)) — .4)/ .4
1710 (4) = (T(4)! + (4 + 4)1)/4!

1711 (6) = sq(44) — sq(T'(4)/.4)

1712 (6) = 4 - (sq(4!) — 4) — sq(4!)
1713 (7) = sq(D(vV/4) + sq(4)) @ sq(44)
1714 (5) = T(4)! - T(4) +4/.4%

1715 (5) = \/ (C(VA) + T(4)" /4%
1716 (4) = T(4)!/ A+ 4 - 4!

1717 (6) = (sq(T'(4)) + T(4)1)/ 4 + sq(4)
1718 (5) = T'(4)! — V4 + 4/.4%

1719 (4) = (T(4)! +44)/ 4

1720 (4) = (T(4)! = V4)/.4

1721 (5) = (4% +4)/.4% + T'(4)!

1722 (4) = T(4) - (4-T(4)! - T(V4))
1723 (7) = (sq(sq(4)) — T(vV4))/ V4% @ sq(4!)
1724 (0) = [/ (4‘/f)

1725 (4) = (T(4)! — r(4))/ 4

1726 (0) = /v - v

1727 (4) = [\ 4/ VD" - 1(v/3)

4!

1732 (0) = (4!/v4)" +

1733 (6) = T(4) - sq(T(V4) + sq(4)) — T(v/4)
1734 (4) = (T(4)! — 41)/.4 — T'(4)

1735 (4) = (T(4)! — 4! — f)/4

1736 (4) = (T(4)! — 41)/.4 —

1737 (6) = sq(T'(4)!/sq(4)) — 4 T'(4)!

1738 (4) = (T(4)! — 41)/.4 — /4

1739 (4) = (T(4)! — 4! — 4)/.4

1740 (0) = ((4!/4)! - 41)/ .4

1741 (4) = (T(4)! — 41)/.4 + T(/3)



Ira2 () = (U~ /42
1743 (5) = (4! TV + "4 1785 (4) =
1745 Ejg =T+ 440 1786 (4) = g%: — /)4
1746 (4) — (F(S?}j; [4' 41)/.4 1287 (4) = (T(4)! - ;1“)({1';‘)/_44+ /i
1747 (6) = sq(sq(T(4)) /4 1788 (4) = (D(4)! — 4)/‘4_- i 4
B T R
4) = I'4)! = ((41/4)! -
1750 E4g _ ggi;, i i)/ i;/i(r(zl)) 1791 (4) = r(4)/$)_i1 _t)// 'f
1731 (5) — (VA 4 T :
1752 (0) = @V 1 a1 1792 Eig _ Ell:g g' - 4))//44 T(4)
1753 (6) = 1795 (0) = +4
1754 (53 _ fgifjg(zﬁr) +T(VA) + 41 - sq(4) 1796 EO; _ E(‘,%;?' - V1)/4
1736 (4 = M4t 1798 (0) = <4'/4>'744)/ \4f Vi
1757 (6) = sq(sq(4)) + T 1799 (0) = ((4'/4); _
6) = N 01 (4) =

1760 §4§ _ ggjg: —sq(4) = 4)/ 4 1802 Eéi - (F4(' /)i/ i +4/4
1761 (4) = (T(4)! — T —4-4)/4 1803 (4) = (I'( )‘/.4+\/Z
1162 6) = sa(td V)T 1504 (0) = (4/d)/ At
1763 (6) = sq(44 — v4) — F(Li/Z) 1282 Eg) = ((41/4)! + V/4)/ 4
154 0= /ss -0 1606 (4) = (L + 464

= 8 _ 1 _ 4
1766 (4) = (g‘gi;l! —\4{)1/) Z_FEG/Z) 1282 Eg - {IS()'{ A 4+ .
1767 (6) = sq(sq(T'(4)) ‘ . _ 1810 (0) = ((4! Hl+4- 4)/ 4
1768 (4) = T(4)!/.4 — _\;{(4)) ++/4/4 1811 (4) — (F(/4')' +4)/.4
1769 (6) = sq(T'(4)!/sq(4)) — 4* 1812 (4) = (T 4)'+r( ))/4—4
1770 () = T4 T o R
1771 (4) = (1“(4)!'_ 70 —T(4) 1814 (4) = 11( ) +T(4))/4— 4
1772 (4) = T(4)1/.4 - 4:)'/.4 — 4 1815 (4) = (F(4)1 +4)/4+4
1773 (6) = (sq(4! + 4 4 1816 (4) _ % (4! +41/4)/ 4
1774 (4) = T(4)!/.4 )54)/4 1817 (4) = 124)'/4+4.4
1775 (4) = (T(4)! — 4 z 1818 (4) _ % (4)!+T(4))/ 4+ V4
1776 (0) = 4 - 444 [l 1819 (4) = (FMZ{ 4= T+l
1777 (4) = T(4)!/.4+ (V4 182 _( N+T(4)/4+4
i;;g Ejg =Ty 4—a+ \)/z_ : 182(1) 8; _ (4r \/‘E -1
1780 (1) = pap g T PR D Tyt < P
1781 (4) = (T(4)! —4-4)/4 1823 (4) = (T(4)! — .4) (4)!/.4
1782 (4) = I‘(4)|/; r4))/.4-4 1824 (0) = (41/4)!/. 4+/4“1 + 4!
1783 (4) = (T(4)! — _(4!);‘ F4(4) 1225 (4) = (D(4)! +4/.4)/.4
1784 (4) = T(4)}/ 4 - 4- 4/ -V 153%?(“()'/“[“‘

= s
1828 (4) = T'(4 )|/(4 &2,);43‘1(4! —V4)/4
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1829 (4) = (T(4)! + v4) /.4 + 4! 1874 (6) = ['(4)" + V4 + sq(4!)

1830 (4) = ['(4)!/.4 + 41 + T(4) 1875 (4) = I(T'(4))/.4/.4/ .4

1831 (6) = (D(4)! + ['(4))/.4 + 5q(4) 1876 (4) = ['(4)!/.4 + 44

1832 (4) =T (4)!/.4+ V/4 1877 (6) = I('(4))/.4%/sq(4) + V4
1833 (6) = sq(44 — T'(V/4)) — sq(4) 1878 (6) = I'(4)* + s¢(4!) + T(4)

1834 (4) = (F(4)! +4)/ 4+ 4! 1879 (6) = T(T'(4))/.4% /sq(4) +

1835 (6) = (sq(4) — V4 +T(4)!)/ 4 1880 (4) = (F(4)! + v/4)/.4

1836 (4) = ([(4)! +4-41)/4 1881 (4) = (I(I'(4)) + T'(4)! — 4)/4

1837 (6) = sq(T'(4)) + T'(v4) + T(4)!/.4 1882 (6) = sq(44) — 4!/ 4

1838 (6) = (T'(4)! + sq(4))/-4 — V4 1883 (6) = sq(4) - T(T'(4)) — sq(T'(4)) — T(V4)
1839 (4) = (D(4)! +T'(4))/.4 + 4! 1884 (4) = (T(4)! + 41)/.4 + 4!

1840 (4) = (T'(4)! +4-4)/ .4 1885 (6) = sq(44 — T'(v/4)) + sq(T'(4))
1841 (6) = (T'(4)! + sq(4))/.4 + T(v/4) 1886 (4) = (T(T'(4)) + T(4)!)/ 4 — 4

1842 (6) = (T'(4)! + sq(4))/ -4 + V4 1887 (6) = sq(44) — sq(T'(v4) + T'(4))
1843 (6) = sq(44 — T'(v/4)) — T'(4) 1888 (4) = 4 -4- (T(T(4)) — v4)

1844 (4) = ['(4)!/.4 + 44 1889 (4) = ([(T'(4)) + T(4)! — 4)/.4
1845 (4) = (T(4)! — T(4) +41)/.4 1890 (4) = I'(4 + 4)/.3/T'(4)

1846 (6) = sq(44) — sq(I'(4))/-4 1891 (4) = (T(T(4)) +T(4)!) /4 + T (V4)
1847 (6) = sq(44 — T'(V4)) — V4 1892 (4) = (T(T'(4)) + T(4)!)/ 3 + v/4
1848 (4) = I(I'(4)) - (T'(4)/ .4 + 4) 1893 (6) = (sq(sq(T(4))) — sq(T'(4)) +V4)/V 4
1849 (4) = (T(VA) — 44)""* 1894 (4) = (T(T'(4)) + T(4)!)/.4 + 4

1850 (4) = (T(4)! + 4! — 4)/.4 1895 (6) = (sq(T'(4)) + T(4)! + v4)/.4
1851 (6) = sq(44 — T'(vV4)) + V4 1896 (4) =T'(4)!/.4+4-4!

1852 (6) = sq(4) - ( (T(4)) —4) — 4 1897 (6) = sq(4) - T(T'(4)) + T'(v/4) — 4!
1853 (6) = sq(44 — T'(V4)) + 4 1898 (6) = sq(44) — sq(T(4)) — V4

1854 (4) = r(4)1/ 4+41/14 1899 (4) = (T'(I'(4)) +4 + T(4)1)/ 4

1855 (4) = (T'(4)! — V4 + 4!)/ .4 1900 (5) = (I(I'(4)) — 44)/4%

1856 (4) = 4 - (T(4)! — 4%) 1901 (6) = sq(44 — .4) + 4%

1857 (6) = sq(4) - (D(T'(4)) — 4) + T(+/4) 1902 (6) = sq(44) — sq(T(4)) + V4

1858 (4) = (T'(4)! +4!)/.4 — /4 1903 (6) = sq(4) - T(T'(4)) — T(v4) - sq(4)
1859 (4) = (T'(4)! +4! — .4)/.4 1904 (4) = 4-(4-T(I'(4)) — 4)

1860 (0) = ((4!/4 )'+41)/4 1905 (4) = (T'(4)! =T'(4))/.4 + T(T'(4))
1861 (4) = (I'(4)! +4!)/.4 + T(\/4) 1906 (6) = sq(44) — 4! —T'(4)

1862 (4) = (T(4)! +41)/.4 + V4 1907 (6) = sq(L(4)!/5q(4)) + V4 = T(T(4))
1863 (6) = (sq(4!) — 4) /.4 + sq(41) 1908 (4) = (T(4)" - 41)/V'4

1864 (4) = (T(4)! +4!)/.4 + 4 1909 (6) = sq(T'(4)!/sq(4)) —T(I'(4)) + 4
1865 (4) = (T(4)! + 4! + v/4)/.4 1910 (4) = (T(4)! + 44)/ 4

1866 (4) = (T'(4)! +4!)/.4 + T(4) 1911 (6) = sq(44) — 4! - T(vV4)

1867 (6) = (T'(4)! — 4)/.4 + sq(sq(4)) 1912 (0) = 44V% — 4!

1868 (6) = I'(4)* + sq(4!) — 4 1913 (6) = sq(44) — 41 + I'(v/4)

1869 (6) = I'(T'(4))/.4%/sq(4) — T'(4) 1914 (4) = 4-4-T(T'(4)) — T'(4)

1870 (4) = (T(4)! + 4! +4)/.4 1915 (4) = (T(4)! — v4)/ .4+ T(T(4))
1871 (6) = [(T'(4))/.4%/sq(4) — 1916 (4) =4-4-T(T'(4)) — 4

1872 (2) = 4!- (4!/.4 + 4) 1917 (6) = sq(4) - T(T'(4)) — \/4/ 4

1873 (6) = sq(44 — T'(/4)) + 4! 1918 (4) = 4-4-T(T(4)) — V4
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1919 (4) = (T(4)! — .4)/.4 + T(T(4))
1920 (0) = 4-4!- (4! — 4)

1921 (4) =4-4-T(I'(4)) + T(V4)
1922 (4) =4-4-T(T'(4)) + V4
1923 (6) = sq(4) - T(T(4)) + \/4/4
1924 (4) = 4-4-T(T(4)) + 4

1925 (4) = (T(4)! + V4)/ 4+ T(T(4))
1926 (4) = 4-4-T(T'(4)) + T'(4)
1927 (6) = sq(44) —4/.4

1928 (4) = 4- (4-T(T(4)) + V4)
1929 (6) = sq(44) — T'(v/4) —T'(4)
1930 (4) = 44V% —T(4)

1931 (6) = sq(44) — v/4/.4

1932 (0) = 44“‘I —4

1933 (6) = sq(44) — \/4/ 4

1934 (0) = 44V* — /4

1935 (4) = 44V4 —T(v/4)

1936 (0) = 44 - 44

1937 (4) = ['(V/4) + 44V4

1938 (0) = 444 + /4

1939 (4) = (D(4)"™ — T(T(4)))/4!
1940 (0) = 44V4 + 4

1941 (4) = (T(4)* — v4)/V'4

1942 (4) = 44V 1 T(4)

1943 (4) = (T(4)"™ — 41) /41

1944 (0) = (41/4)* /a1

1945 (4) = (T(4)'® + 41 /41

1946 (4) = T(4)"™ /41 + V4

1947 (4) = (D(4)* + v4)/V/ 4

1948 (4) = [(4)"™ /41 + 4

1949 (4) = (D(4)"™ 4+ T(T(4)))/4!
1950 (4) = (T(4)! + 4!/.4)/ 4

1951 (6) = T'(4)/.4 + sq(44)

1952 (4) = V4 - (F(4)! +4%)

1953 (4) = (T(4)* + T (4))/V 4
1954 (6) = sq(44) — T'(4) + 4!

1955 (6) = (sq(4! +4) —V4)/.4
1956 (4) = T'(4) - (1-T(4)! + T'(4))
1957 (6) = (sq(sq(T'(4))) + T(4))/VA + 4
1958 (6) = 4! — v/4 + sq(44)

1959 (6) = (sq(4! +4) — .4)/.4
1960 (0) = 44V* 4 4!
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1961 (6) = T'(V/4) + sq(44) + 4!

1962 (6) = sq(44) + f + 4!

1963 (6) = (sq(sq(T'(4))) + V/4) /\/—+ sq(4)
1964 (6) = 4!+ 4 + sq(44)

1965 (6) = (sq(4! +4) +v/4)/.4

1966 (6) = sq(44) + 4! + I'(4)

1967 (6) = V4 - sq(s5¢(T(4))) — sq(sa(v/4/.4))
1968 (4) = 4- (['(4 +4) — T(T'(4)))

1969 (6) = sq(44 — T(v/4)) + T(T'(4))

1970 (5) = V/4/.4/.4% + T'(4)!

1971 (6) = sq(T'(4)) = T(V4) + sq(44)

1972 (6) = sq(T(4)) + 444

1973 (6) = T(V4) + sq(44) + sq(T(4))

1974 (4) = (D) + T(4)!) /4!

1975 (5) = (V4-T (F(4)) - (\/1))/4%
1976 (5) = (4 +4)/.4% —

1977 (6) = sq(T'(4)!/sq(4 )) 4! — 41

1978 (6) = sq(T'(4)) + T'(4) + sq(44)

1979 (6) = (sq(sq(T'(4))) +41)/V4 - T(V4)
1980 (4) = T'(4+4)/4+ T (4)!

1981 (6) = sq(I'(4)!/sq(4)) — 44

1982 (6) = sq(4) - (T(T(4)) +4) — V4

1983 (6) = sq(4) - (T(T(4)) +4) - T(v4)
1984 (4) = 4-4- (I'(T'(4)) + 4)

1985 (6) = sq(T'(v4) +T'(4)) + sq(44)

1986 (6) = v/4/4% + sq(44)

1987 (6) = sq(T'(4)!/s9(4)) — 5q(T'(4)) — V4
1988 (4) = (\/ V1" —T(T(4)))/v1

1989 (6) = sq(T'(V/4) + 44) — sq(T'(4))

1990 (5) = (4 — 4% + 4)/.4%

1991 (6) = sq(T'(4)!/59(4)) + V4 — 5¢(T(4))
1992 (4) = 4-T(4 +4) — 4!

1993 (6) = sq(T(4)!/sq(4)) — V4

1994 (5) = (4 +4)/ 4% — T'(4)

1995 (5) = (V.3-T(T (4 )) V%) /4%

1996 (5) = (4 +4)/.4% —

1997 (6) = (sq(4)/.4% — ( )/ V4

1998 (5) = (4 +4)/.4% — V4

1999 (5) = (4 + 4 — .4%)/.4%

2000 (0) = 1/4/+/ (4! — 4)* /4

=( +4)/.4% +T(V4)
= (4 +4)/.4% + V4



2003 (6) = (sq(4)/.4% + T'(4)) /4 11
2004 (5) = (Zq+ 4)/.4% + 4 2044 (0) = \/V V4 -4
2005 (5) = (V.4-T(T(4)) + V4%) /4% _ 4
2006 (5) = (4 +4)/.4% + T'(4) 2045 (4) = (Vv4 —T()/V4
2008 (5) = V4 - (4/.4% + 4) -
2009 (6) = sq(T'(V4) + 44) — sq(4) 2047 (0) = (\/ V4 —V4)/V4
2010 (4) = .4-T(4+4) —T'(4) 2048 (0) = 4*- (4 +4)
= (sq(4! sq(4! !
A D e 2049 0) = (V" + VDV
2013 (6) = sq(I'(4)!/5q(4)) + 4 — sq(4) _ 44
2014 (4) = h (4 +84q) Vi 2050 (0) = /Y VA" +v4
2015 (4) = 4-T(4+4) - T(V4) 2051 (4) = ( Vi LTV
2016 (0) = (4 + 4)!/(4! — 4)
2017 (4) = 4-T(4+4) + \F}x/z) 2052 (0) = {/\/v4" +4
2018 (4) = 4-T(4+4) + _
2019 (6) = sq(I'(vV4) + 44) —T'(4) 2053 (6) = sq(T'(4)!/sq(4)) + 4! + 4
2020 (4) = .4- ( F((éjr) 4) +;1 2054 (4) = \/\/VA" +T(4)
2021 (6) = sq(T'(v4) +44) — 4 - sols (A —T(AN/ 4
0 ) = AT or 2033 () = ua(4) — (4= 1)/
2023 (6) = sq(T(v4) +44) — V4 2057 (6) = (T(4)! + .4)/.4 + sq(s¢(4))
2024 (0) = \/y/ V4" — a1 2038 (4) = T(4) -/ (C(va) +T(@)" "
2025 (2) — ((4[ _ 4)/1)4 2059 (6) = SQ(F(44)'!/$LI(4)) + Sq(r(4)) - \/Z
2026 (6) = sq(T'(4))/.4 + sq(44) 2060 (0) = (V4 +4!)/v4
2027 (6) = sq(T'(V/4) + 44) + V4 2061 (6) = sq(I'(V4) + 44) + sq(T'(4))
2028 (6) = \/4/.4- sq(v/A+ 41) 2062 (6) = I'(T'(4)) + sq(44) + ['(4)
2029 (6) = sq(T'(v4) +44) +4 2063 (6) = sq(T'(4)!/sq(4)) + V4 w;)sq(l“(4))
_ 3 2064 (4) = 4- (T(T(4)) +T(4 + 4

2030 (5) = \/F(\/Z) +T(T'(4))/.4% — T'(4)! 2065 (6) — (T(v/A)/4% + sq(41)); 4
2031 (6) = sq(T'(v4) + 44) + T'(4) 2066 (6) = (T(4)! + 4)/.4 + sq(sq(4))
2032 (0) =4 1 satth 2067 (6) = sg(T(1/s0(d)) +T(4) + sq(T(4)
2034 (5) = ( “F/A— (T ( )))/ 4 2069 (6) = sq(F(4) /sq( )) + 44
2035 (6) = (sq(4/-4) +.4)/4% 2070 (4) = T(T'(4))/3+T(4)!/.4
2036 (0) = (/v4" — 41)/v4 2071 (6) = (T(4)! +T(4))/.4 + sq(sq(4))
2037 (6) = sq(T'(4)!/sq(4)) + sq(4) — 4 _ 44
2038 (6) = 4% - sq(T(4)!) + .4 — sq(T'(4)) 2072 (0) = \/V VA" + 4! -
2039 (6) = sq(T'(4)!/sq(4)) — V4 + sq(4) 2073 (6) = sq(T'(4)!/sq(4)) + 4! + 4!
2040 (4) = 4-T(4 + 4) + 4! 2074 (5) = 4% - T(A)!V* + 4
2041 (6) = sq(T'(v4) + 44) + sq(4) 2075 (6) = (sq(4/.4) +V4)/4%

1 2076 (4) = (I'(T'(4)) + T(4)1)/.4 — 4!
2042 (4) = \/\/v4" —T(4) 2077 (6) = (T(4) + .4%) /4% + sq(4)
2043 (6) = sq(T'(4)!/sq(4)) — T(4) + 4! 2078 (6) = .4% - sq(T(4)!) + 4.4
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2079 (6) = 4 - sq(4!) — sq(L'(4)/.4) 2121 (6) = sq(T'(4)!/sq(4)) +4- 4!
2080 (4) = I'(4 ) (A+ .4+ V4) 2122 (6) = sq(v/4 + 44) + r( )
2081 (6) = (sq(sq(4)) + sq(4!) + .4)/.4 2123 (6) = (sq(sq(T'(4))) + T(T(4)))/VA-T(V4)
2082 (6) = sq(4!) + I'(4) + T'(4)/.4% 2124 (4) = (I(T'(4)) + T (4)! )/ 4+41
2083 (6) = (sq(VV4%/.4%) — V4)/T(4) 2125 (5) = (V4/4+4)/.4%
2084 (6) = (sq(sq(4)) + sq(4!))/.4+ 4 2126 (6) = (V4% + T'(4))/.4% + sq(4!)
2085 (4) = (D(T(4)) —T(4) + T(4)!)/.4 2127 (6) = sq(sq(T(4)) + sq(4)) — sq(4!) — T(v/4)
2086 (6) = T'(4)/4% + sq(44) 2128 (6) = 4 - (sq(4!) — 44)
2087 (6) = sq(sq(T(4)) + T(v4)) + T(4)! — V4 2129 (6) = sq(4! — T(vV4)) + sq(sq(4)/.4)
2088 (4) = I'(4)!/.4 + .4 -T(4)! 2130 (5) = 4/.4%/.4 —T'(T'(4))
2089 (6) = sq(sq(T'(4)) +4/4) +(4)! 2131 (6) = ['(I'(4))/ 4%/ sq(4) + sq(sq(4))
2090 (4) = (T(T'(4)) + T(4)! — 4)/.4 2132 (6) = sq(vV/4+ 44) + sq(4)
2091 (6) = sq(sq(T'(4)) +T(v4) +T(4)! +v4 2133 (6) = (sq(sq(T(4))) + T(T(4)) +T(4))/V'4
2092 (6) = sq(v/4 + 44) — 4! 2134 (6) = sq(sq(T(4)) + sq(4)) + T'(4) — sq(4!)
2093 (6) = sq(sq(C(4)) + T(V4)) + T(4)! +4 2135 (6) = sq(sq(T'(4))) = [(v4) + T(T(4)) + T(4)!
2094 (4) = (D(T(4)) + T(4)!)/.4 — T(4) 2136 (4) = .4-T(4+4) + [(T(4))
2095 (4) = (D(T(4)) +T(4)! —v4)/.4 2137 (6) = [(v4) + T(T'(4)) +T(4)! + sq(s¢(C(4)))
2096 (4) = (I(T'(4)) +[(4)!)/.4 -4 2138 (6) = sq(I'(I'(4)))/T(4) — sq(sq(4)) — T'(4)
2097 (6) = sq((sq(4) — 4)/.4) + sq(4)) 2139 (6) = sq(I'(4)!/sq(4)) + T(T'(4)) —T'(4)
2098 (4) = (D(T'(4)) +T(4)!)/.4 — V4 2140 (6) = sq(vV4 +44) + 4!
2099 (4) = (D(T(4)) + T(4)! — 4)/ .4 2141 (6) = sq(T(4)!/sq(4)) + T(T(4)) — 4
2100 (4) = T'(4 + 4)/T(4)/ .4 2142 (4) = \/4/4- (T(4)! — T (4))
2101 (4) = (D(T(4)) + T(4)! + .4)/ .4 2143 (6) = sq(T'(4)!/sq(4)) + T(T(4)) — V4
2102 (4) = (T(T(4)) +T(4)) /4 + V4 2144 (4) = 4 - (D(4)! — 4) — T(4)!
2103 (7) = (T(T(4)) —T(V4) ® sq(s¢(T(4)))) + 2145 (6) = (sq(4!) — 4)/V 4/ .4
r4)! 2146 (6) = (T(T'(4)) + T(4)!) /-4 + sq(sq(4))
2104 (4) = (I(T'(4)) + T(4)1)/ 4 + 4 2147 (6) = sq(T'(4)!/sq(4)) + T(T(4)) + V4
2105 (4) = (D(C(4)) +T(4)! + v4)/ 4 2148 (4) = \/4/4- (T(4)! — 4)
2106 (4) = (I(T'(4)) +T(4)))/ 4 +T(4) 2149 (6) = sq(T'(4)!/sq(4)) + T(T(4)) + 4
2107 (7) = (sq(sq('(4)) @ T(T'(4))) = sa(T(4)))/4 2150 (5) = (4/.4— 4)/.4%
2108 (4) = (\/ VA" +T(T(4)))/V4 2151 243 = E/\@ (Fg4g - F)(4))/E/§
2109 (6) = (sq(T'(4 +\/Z! 4! 2152 (4) = /4 - (T'(4)! — 4) +T'(4)!
2110 E4g = Erq(i“(gi)g)+ 4+ )1“{4)(!)6/1.(4 s gigi Eig = ;l%r(zq)gsq(;%izl)) - (44!))'+ 4%
2111 (6) = sq(4!) — T'(vV4) +T(4) - sq(sq(4 =4 F - :
o112 (0) = e T o) 215 (0 = (L-a(T0) = ) 4
2113 (6) = I'(4) - sq(sq(4)) + sq(4!) + T (V4 =4 T -
11 () = so/i ) el T 2157 (4) = (T(4) - T(4)! - T(4))/V2
2115 (4) = (D(4)! + T(4) + D(T(4)))/4 2158 (4) = (T(4) - T(4)! - il%ff
2116 (0) = v/v/4 + 44 2159 (4) = (F(43 L) - v4)/v4
2117 (6) = sq(v4 + 44) + T(V4) 2160 (2) = |/41%/.4/.4
2118 (6) = sq(v4 + 44) + V4 2161 (4) = (T'(4) - T(4)! + v4) /4
2119 (7) = (sq(sq(T(4))) ~T(V4) ®T(C(4)) + 2162 (4) = (T(4) -T(4)! +4)/v4
r'(4)! 2163 (4) = (['(4) -T(4)! +T'(4))/vV4
2120 (4) = 4-T(4+4) — T(T(4)) 2164 (4) = 4-T(4)! — (4)! + 4

30



!
'(4)!/sq(4))

20
~~
—~~

'E

a

)/ 4% + sq(4

N

\
NN

—~
2
—~

4)) + sq(44) —
(41) +41)/T(T(4)) — sq(4)
— V4 + sq(44)

—T(vV4) + sq(44)

»

2
2

B ® W~ ®»
B

»
2

|
NS Y Y ;W
HHI IR &2
AN NN N N N N

T NN N N N

> s
~— —

<

—~~

Vi+ a4V
)) +T(4) + sq(44)
—VA) VA + sq(sq(4))

4)) +V/4%) /4% + sq(sq(T(4)))

/\% »
2 2
-~ »

o
,J;

Cng;/—\

q(4! —T(V4) +41) -

T(4+4)/4)/T(4)!
(4 ))/ 4+ sq(44)

—~

| | O V|

rpq;rjcnﬂk

V4

2209 (4) = (4! - T'(V4) + 4!

2210 (5) = (T(4) — 4%)/.4% + T'(4)!

2211 (6) = sq(4! —T'(vV4) +4!) + V4

2212 (6) = 4 - (sq(4!) — 4!) + 4

2213 (6) = sq(4! —T'(V4) +4!) + 4

2214 (5) = (['(4)/.4% — 4)/V 4

2215 (6) = sq(4! — T'(V4) + 4!) + T(4)
2216 (4) = 4-T(4 +4) — 4!

2217 (7) = sq(sq(T(v4) + T(4))) @ sq(4!) =T(T(4))
2218 (5) = I'(4)/.4% + T(4)! — V4

2219 (5) = (T'(4) — .4%)/.4% + T'(4)!

2220 (4) = (T(4)! — T(T'(4)))/.4 + T'(4)!
2221 (5) = (T'(4) + 4%)/.4% + T(4)!

2222 (5) = T'(4)! + V4 +T'(4)/-4%

2223 (6) = 4 - sq(4!) — sq(4/.4)

2224 (5) = I'(4 )/ 4% +T(4)! + 4

2225 (6) = (sq(T'(4)) — .4)/4%/ .4

2226 (5) = 4/.4%/.4 — 4!

2228 (6) = 4 - (sq(4! — .4) + 4%)

2229 (6) = sq(sq(sq(L'(4))) — sq(I'(4)))/T'(4)! + 4!
2230 (5) = ((4) +4%)/.4% + ['(4)!

2231 (6) = ['(4) - sq(4!) — sq(s¢(T'(4)) — T(v/4))
2232 (4) = (4! —T'(4)) - (T(T(4)) + 4)
2233 (6) = sq(4! — T'(v/4) +4!) + 4!

2234 (4) = 4-T(4+4) —T(4)

2235 (5) = ([(4) — 4%)/.4%/V 4

2236 (4) = 4-T(4+4)—4

2237 (8) = (sq(T'(4)) — VA%)/.4% >> /4
2238 (4) = 4-T(4+4) - V4

2239 (4) = 4-T(4+4) -T(V4)

2240 (2) = 4. ((4! 4 4)/4)!

2241 (4) = 4-T(4+4) +T(V4)

2242 (4) = 4-T(4+4) + V4

2243 (6) = (sq(T(T(4)) — 4) + V4)/T(4)
2244 (4) = 4-T(4+4) +4

2245 (6) = (sq(T'(4)) /4% — \/4)/ .4

2246 (4) = 4-T(4+4)+T(4)

2247 (5) = ([(4)/.4% — V4)/V 4

2248 (5) = 4/.4%/.4— /4

2249 (5) = (4/.4 — .4%) /4%

2250 (2) = \/\/,/(4/.4)4’/.1

2251 (5) = (4/.4+ 4%)/.4%
2252 (5) = 4/.4%/. 4+ /4



2298 (4) = 4-41- 41 -T'(4)
_ 4% +V/4)/V 4 2299 (6) = 4 - sq(4) — vi/4
2253 (5) = (T(4)/. 0) =4-41-41—4
2254 (5) = ?{‘(4(?)/))4—}-4(\/_))/4% —T(4)! ;38(1) 26) = 4 sq(4) _\/\/_m
gggg Eg; =41 (4-4! - 4) 4) + sq(d) 2302 (0) = i:isj —T(v3)
2257 (6) = sq(El)( )‘{8354))) 1)“(4)! +V4 2% (4; _ (4'4+4)4
2258 (6) = I'(4) - sq(s 2304 (0
2259 (5) = (4¢/—%+4)/(4)))/ 2305 (4) — 4- 41 4I+I\‘/(_\/‘I)
2200 (3) = (V4 - I(T T(4)! >> T(4) 2306 (0) =4 - 414!+
2261 (8) = eqldt)/ L%+ 712 1) 1) 2307 (6) = 4 - sq(4!) + v/4/4
2262 (6) = 4 - sq(4!) — Sq(4v( 2308 (0) = 4-4!-41+4
2264 (4) = 4-T(4+4) +4%/\/_ 2309 (6) = 4 - sq(4!) + \/;)/ ’
2265 (5) = (T'(4) +4%)/ ) 2310 (4) =4-4!- 4" +1;((ﬂ) +T(4)
ot ) = 1 O @) ol ) 1.
2267 (6) = )/ A 2312 (0) = s
2262 Eg _ i;(\/zi(%fiil(%?) — 5q(s9(4)) 2313 (5) ii \/(;31)4/44
2270 5) = (F(( (( )))) —F‘%g °+sq(§q)(p(4)))+r(4)! zzi: Eg 3 T+ TE@) + 4 sq(4)
6) = sq(sq(4))— - 4
33% ((4)) = F(?)'( (? _4)4_,__1“2))) — s5q(sq(4))/ V4 2316 Eég _ 5(5()'/( %) +4.19(-1'_(1F((4))) +5¢(T'(4)!/5q(4))
73 (6) = sq(sq(T 2317 = 7
3374 (5) = 4/4%/. 4+§—) %) /4% — T(4)! 2318 (6) = 4- (Sq(fﬁ)') ++r4()4) /.4
2275 (5) = ([(T'(4)) Ty - 2319 (6) = 4- SZ,_'4,+4)
2276 (5) = D(I'(4)) /4% — 41) - F(\/_ ) = g(41) +4) + T(V4)
2277 (6) = (4 — 4%) - (sq( (4)! -4 2321 (0) =4 (Sq(4;) +4) + V4
278 (5) = PO/ 4%4%)/4% r()! 2325 (6) = (4% +4) - (sald) T (/D)
2219 (5) = (T(T(d )) - 2323 (6) = (\/().r—u+r(r(4)))/1“(4)
2281 (4) = (F(‘[) o T(4)! + 4 2325 (5) = (V4% +1 ( 1) +T(4)
) % Tt Ve ) 2526 (6) =4 (sall) + 4 +TC)
2283 (6) = sq(T(}/sg(4)) + )/T(4) 2527 (6) = (4%| 4')+s4q'(4)
2284 (4) = (V4™ —1 \/(Ty())/)zl% r(4)! 2328 (0) = 4 :;1) 4144 sq(4)
2285 (5) = (T(T(4)) + 44(;1“( 4)! 2329 (6) = I'( T(4)) +V4)/4% — T(4)!
Rl I S 091 (4) = (L) 4y 2 T8
2287 (6) = 4 - (sq(4!) — 4) — 2881 () = (F(4)(4!) 4+ 4
2288(0)23 ((4)!_42 4)/.4 2333%2324(18/\% ) — sq(sq(4 )))/ 4 —sq(9)
9 (6) = 233 =5 I'(4
2290 (5 ({18 + (a3 4) 2355 6) = VA sl - sclsa®)) ~T(V)
2291 (6) = sq(4/. )_Sf (Sf4 2335 (6) = v 0144 T(4) 4 -
2292 (6) = 4 - (sq(41) — 4) rCW) 2336 (4) = I(4) 2(T(@) + sq(sq(4)) + T(@)/VE
2293 (6) = 4 - sq(4!) — \/ 1;(\/1) + 2337 (3 = (;(4() 4 T Vi
7205 (1) — (L LT /4 2039 (1) = (T(1) A/ A+ T()!
2295 (4) = (F(F( )i'/ 4:;1) ;gio (4) = (41/4)1/ A+ T(4)!
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2341 (4) =
9349 (4) = (T(4)! + 3)/3
Ry I
4
2345 Eé; _ L)Y/ 4+'1:(8q sq(4))/ 4) 2386 (6) =
2346 (4) = ;q((\/_+4%) 4!+ 4 -I'4) 2387 (6) — (T(4)! +4)/.4
2347 _ 4)/.4 /4%) — 2388 sq(4!/.4) — + sq(4!
5 (6) =s +T(4) sq(sq(4 (6) =T ) = sq(4! — )
348 (6) = a(sq(T (V4 + T (4)! ) 2389 (6) = (4) - (sq( T(vV4
2349 (4 ;‘(1?(4)(4') /DT - o p 2300 (9 :?Z( o(T( \/Z))/iw; ( /) )
50 (5) = ! = v 91 =(4-41- 4))) —
2351 523 =/ 4++:)) // T 2392 Eg - +1%)(/4% )t
2352 (0) ; i'- T(4)! — Sq(zé' 2393 (6) ; (41 —4) (T ())/ 4+ sq(4))
yiat (0) = o “a TV 200 (4) = ralealf (08 ey
6) = 95 —4-—
3355 (63 :;1 sq(4!) f\%ﬂ) +4- sq(4) 2396 Ei; = T (\/—) (F(4)4) - r(4)4 4
2350 (0 = sZEF“‘*—‘“%/zx%)%_ | 2397 (4) = (=4)-T (?(2 —T@
2258 (5) = e oL/ + 1e wW 2008 06} = (ol )+ Fyt 4
2359 (6) ~ (VE/d + 41 +T(4))) - 44 3299 () = (I 4)-T (p(4))__4
o Eé) - 417 F((iqisq()s/(}a))) B 248(1) Eg; =4 (\(4[) i +EL4))4 - \/f
T r )+)/r(r(4)fq(8q(4/.z))) 2102 (1) — (1 1) o )
236 =4-( 4 24
2904 (4) = aTT ) T 0T 2404 (4) = (F(f)) L) +va
2365 (4) =T4)! /Zj_))) T4 ))/1—‘( ) 2405 (4) = (4! -4)- (4 ))4 + 4
2365 (6) = (T(v1 P DT 2405 (4 = (T(VD + ((4) + 4
2367 Eg; i (T(4)! ) "21)11/(4))4 _ a4 ) 2402 (4) = 4! )) (4))4 44
2368 (2) ; i (3 (4!) +.;lq-(tl$(I(4!) )) 2408 Ejg z (F(\/_) (](:21(4)4) + I‘(4)
;369 (6) =4 41 (\/2+4!)))—F(\/1) 2409 (6) :i 4 (T N +T)
2370 (5) =4 (sq(41) + sq(4 2410 (5) = ar (4)))/1“( ) + 4)
2371 (6) = ({‘4%/4_'_1.‘( ))—i—[‘(\/z) 2411 (6) = (4-4!'+ 4)/4(; )+4/4
2872 (6) = 4 ((S) va)/ 4(1” 2412 (6) = §(< ATV +
2575 5)— o rw). 2115 (6) T s T)@
2376 (2) = (C(4)/.2 - + 5q(4)) + T( -4 241 (6) = sq(T 4)) — 4)/4% — +5q(4) — 4
2377 22 : 44-41/ 4 4)/.4% (4) 2413 Eé) =4-(T (( ()4)))/F( )+ iqg‘;')
ot (6) = (Fr(({) +T(4)) 2418 (6% ;(1 (V) +T( () (4)+4) !
PR s
380 (4) = 4/4%) +V4 9490 (4 q(V4/4% ) + T(T(4
2581 (6) = (N v4)- (1;( (4) - T(v4) 2421 243 - ‘/Z)O)(; i)
7283 (0) — ey Dl 2422 (6) = (/A T
2384 (43 i (sq(I'(T (+ sq(4!) + I‘(4)) 2433 (6) = (1"(( ) = Vi +4
2385 (6) - 4. (T(4 4))) — T(4))/T(4) o 4(4)=4- (i') 4%)/4%8(1(4[)
BN o 40 v HIe) )
- 4
2427 (4) = ?15 NPT ))4+ 4!
2428 (4):I‘( /4 —/4) Wy
(4)/v 3/ 3~ ff
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2429 (4) = T'(4)!/V 4/ 4 - T'(/4) 2473 (6) = sq(v4 — 4%/4%) — /4

2430 (2) = (41/4)1/V4/ 1 2474 (6) = sq(v/4/4%) — V4 — 4

2431 (4) = (C@YV I+ 3)/ 3 2475 (4) = (T(T(4))/4+T(4)!)/ 4

2432 (4) = 4- (A + 4)-T(4)! 2476 (4) = \/vA" —T(4)!/.1

2433 (4) = (T(4)!/. 4+f )/VA 2477 (6) = sq(vV& — 4%/4%) + V4

2434 (4) = T(4)!/V 3/ 4 +4 2478 (6) = sq(v/4/4%) — 4 + V4

2435 (6) = (sq(sq(4)) + T'(4)! — V4)/ .4 2479 (6) = sq(vA— 4%/4%) + 4

2436 (4) = (I'(4)!/.4+4)/V 4 2480 (4) = (4! — 4) - (T(T'(4)) + 4)

2437 (6) = (D(vA) + T(4))" + sq(T'(4)) 2481 (6) = sq(v'4 — 4%/4%) + T (4)

2438 (6) = (sq(sq(4)) +T(4)!)/.4 — V4 2482 (6) = sq(V'4/4%) — 4'+F(4)

2439 (4) = (T(4)!/V I+ 4)/1 2483 (6) = sq(v4/4%) — T'(V4) — sq(4)

2440 (4) = (T(4)! + 4%)/ .4 2484 (4) = (D(4)!/VA+4)/ 4

2441 (6) = (sq(sq(4)) + T(4)! + .4)/.4 2485 (5) = (4/A% —T(4))/ -4

2442 (6) = 4 - (sq(T(4)) + sq(41)) — T(4) 2486 (6) = sq(vV/4/4%) — sq(4) + V4

2443 (6) = (sq(sq(4)) + V4 + sq(T(T'(4))))/T(4) 2487 (7) = sq(sq(T'(4)))/.4 — T(V4) @ sq(sq(T(4)))

2444 (6) = sq(T'(T'(4)))/T(4) + 44 2488 (6) = sq(44) — 4! + sq(4!)

2445 (6) = sq(sq(T'(v4) +T'(4))) + 44 2489 (6) = sq(vV4% + 4/4%) — sq(T'(4))

2446 (6) = sq(v/4/4%) — 4!/.4 2490 (5) = (4/.4% — 4)/ 4

2447 (6) = 4 - (sq(T(4)) + sq(4!)) — T(v/4) 2491 (6) = sq(vV4/4%) — 4/4

2448 (4) = 4!- (4- 41 + T(4)) 2492 (6) = sq(v4/4%) —

2449 (6) = 4 - (sq(T(4)) + sq(4!)) + T(v4) 2493 (6) = sq(v4/4%) — (f ) —T(4)

2450 (5) = (4 - 4!+ V/4) /4% 2494 (5) = 4/.4/.4% —T'(4)

2451 (6) = sq(v/4 — 4% /4%) — 2495 (5) = (4/ 4% V4)/ 4

2452 (6) = 4 - (sq(T(4)) +sq(4‘)) +4 2496 (0) =4-4!- (VA+4)

2453 (6) = sq(sq(T(V4) + T(4)))+sq(T(4)) +sq(4) 2497 (6) = s (xf /4%) — /4] 4

2454 (4) = T(4)1/V A/ T+ 4! 2498 (5) = 4/.4/ 4% — V4

2455 (6) = (sq(sq(4 ))+F(4)'+F(4))/.4 2499 (5) = (4/.4% — 4)/.4

2456 (6) = sq(v/4/4%) — 2500 (0) = (4/.4)*/4

2457  (6) = \/sq H —sq(T@)) + 2501 (5) = (4/4% + 4)/ 4
sq(T(4)!/sq(4)) 2502 (5) = 4/.4/.4% + V4

2458 (6) = .4- (4! - sq(sq(4)) + T(V4)) 2503 (6) = sq(v/4/4%) + \/4/ 4

2459 ( ) = sq(\/4 4%/4%) q(4) 2504 (5) = /4/ 4% + 4

2460 (4) = (T(4+4) —T(T(4)))/V4 2505 (4) = (T(4)! = T(4))/ 4+ T(4)!

2461 (6) = sq(sq(T'(V4) + T'(4))) +4!/.4 2506 (5) = 4/.4/.4% + T'(4)

2462 (6) = sq(v4/4%) — sq(T(4)) — V4 2507 (6) = sq(v/4/4%) + T(V/4) + T'(4)

2463 (6) = sq(v/4/4%) — T (V4) — sq(T'(4)) 2508 (4) = (T'(4 +4) — 4)/V/4

2464 (5) = V4-T(4)!+ V¥ 4 2509 (6) = sq(v/4/4%) + 4/ .4

2465 (6) = sq(4! — T(vA)) + sq(44) 2510 (4) = (T'(4)! —4)/.4 + T(4)!

2466 (4) = ([(4)!/.3+41)/V 4 2511 (4) = (D(4)! +4)/V 4/ 2

2468 (6) = sq(v/4/4%) — V/4 2512 (6) = 4!- 4! + sq(44)

2469 (6) = sq(v/4 — 4% /4%) — T'(4) 2513 (6) = T'(v/4) + sq(4!) + sq(44)

2470 (5) = (T(V4) + T(4))/. 4%+F( )! 2514 (4) = [(4+4)/V4 -T(4)

2471 (6) = sq(vV4 — 4% /4%) — 2515 (4) = (T(4)! — v4)/.4 +T'(4)!

2472 (4) = (4— 4) - F(4)'—F(F(4)) 2516 (4) = T(4+4)/V/4 -4
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;gig Ei; = g&l + jg 5(4\)%\/1 2562 (4) = (4—.4)-T(4)! + V4
= + 4 = (s
iR 0 )= (a0 20+ T
=4+ 4 _VTE
= + —
2523 (4) = (T(4+4) + (4 ))/ V4 gggg EZ; _ E/Z_' SZ)(?%((FLL()%)))AE POV -4
2524 (4) = T(4+4)/VA +4 2569 (6) = sq(44 — (ﬂj_ T(4)!
2525 (4) = (F( )'-l—\/_)/ 4+F( )' 2570 (5) : q\/ﬁz 4 )+ ( )
2526 (4) = (4 + 4)//4 + T'(4) 9571 (6) ( VAT )/4
2527 (6) = sq( /4% + +4/4%) ++/4 sq(s (I‘(4)§)) = (sq(sq(4)) —F(\/‘I))/\/‘r% +
2528 (6) = sq(4!) + sq(4) + sq(44) q25q72 (6) = Vi (4
2529 (6) = sq(vV4% + 4/4%) + 4 oar3 (sq(sq(T'(4))) — 4/4)
2530 (4) = (T(4)! + 4)/.4-+ D(4)! o)) ~ T — sa(sa VA%
2531 (6) = sq(vA% + 4/4%) + T(4) a )~ T(V4) - sa(sa(1(4))))
2532 (4) = (T(4 + 4) + 41)/v/4 32;451 g = E % % + ig)()ﬁl/)L)/ a
2533 (7) = VA% A% = * :
2534 Eﬁ% ZZQ( (;Q!) PN @ sa(VVAR/AR) 9576 (5) = T(a)y/ VA% — /A
2535 (4) = (D(4)! + F(4))/ 4+ T(4)! 2577 (6) = sq((V4 + 4%) /4%) — 4!
2536 (4) = (4~ 4) - T(4)! —41_ 2578 (6) = V4 - (sa(sq(T'(4))) — 4) — T'(4)
2537 (6) = sq(T(4)!/sq(4)) + ¥/sq(@) 2579 (6) = V4- (sq(sq(I'(4))) = T'(4)) — T'(v4)
2538 (6) = (sq(T(4)) + T(4 + 4))/f 2580 (4) = v4- (T(4)" —T(4))
2539 (7) = (sq(4!) — T(v/4))/V/4% & T(4)! 2581 (6) = s(v/4/4%) + sq(4/9)
2540 (6) = (4/.4% + sq(4))/ -4 2582 (6) = V4 - sq(sq(T'(4))) — 4/ 4
2541 (6) = sq(vA% + 4/4%) + sq(4) 2583 (6) = (V4 - sq(4{1) —4)/4
2642 (0) = sql/4/4%) + L1 + sa(T(4) 2584 (4) = V4~ (L(4)" ~4)
2543 (6) = ﬂ (sq(sq(T(4))) - 4) - T(v/4) 2585 (6) = sq((v4 + 4%)/4%) — sq(4)
2544 (4) = T(4 + 4)//4 + 4! 2586 (4) = (4 — .4) - T(4)! — T(4)
et =YL ) o 2 L
2546 (6) = V4/4%) +T(4)* =\a=a)- L)
2547 (6) — fﬁq((sq( { » : +\/Z() L 2389 (6) = (4 sa(a(T(4) ~ T(4)/ Vi
2549 (6) = sq(v4 % + /4%) +4! 2591 (4) = (4—.4) -T(4)! - T(V4)
2550 (4) = (D('(4))/.4 + T(4)1) /.4 2592 (0) = (4 —.4) - (41/4)!
2551 (6) = sq(sq(T(v/4) + T(4)) +T(4)/4% 2593 (4) = (4 —.4) - T()L+ T(v4)
2552 (4) = (4! — v/4) - (T(T(4)) — 4) 2594 (4) = (4—.4) - T(4)!+ V4
2553 (6) = sq(41/.4 — T(v/4)) — sq(s¢(4)) 2595 (6) = sq((V4 +4%)/4%) — T'(4)
2554 (4) = (4 — ) -T(4)! — ['(4) 2596 (4) = (4 —.4)-T(4)! + 4
2555 (5) = (V%/4—/4)/.4 2597 (6) = sq((v/A -+ 4%)/4%) —
2556 (4) = 54[ —4)-T4)! -4 ;ggg Eg = E;{ " (ig) 1“(4)é+) 1“(;1()7)/4(7
2557 (6) = v/ - sq(sq(T'(4))) — sq(T'(4 = — 5q(4) — 4%) /4%
2558 (4) = (4 — _zq)(.%((zl()l)z)\/z a(T() + TV 2600 (0) = 4- (f+4v)1/4||
2559 (4) = (4 — .4) - T(4)! — T(V4) 2601 (5) = (VA +4%)/4%)""
2560 (0) = 4-44/.4 2602 (6) = v/4 - sq(sq(T(4))) +4/.4
2561 (4) = (4 — .4) - T'(4)! + T(V/4) 2603 (6) = sq((vV/4+ 4%)/4%) + V4
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2604 (4) = V4. (T(4)" + T(4)) 2650 (5) = (4/4% + T'(4))/4%

2605 (6) = sq((vV4 +4%)/4%) + 4 2651 (6) = (sq(sq(sq(4)) —4) + T'(T(4)))/4!
2606 (6) = (T(T'(4)) — sq(4)) /4% + T'(4) 2652 (6) = T'(4)! — 4 + sq(44)

2607 (6) = sq((vV4 + 4%)/4%) + T(4) 2653 (6) = sq(sq(T'(v/4) + T(4))) + sq(sq(4)) — 4
2608 (6) = E4f —4)-T(@)! + sq(4)\/_ 2654 (6) = T'(4)! — V4 + sq(44)

2609 (6) = v4-5q(sq(T'(4))) + T (v4) + sq(4) / r(4) |

2610 (4) = (D(4)! — 4)/V4/ .4 2655 (4) = ff( )/4) L

2612 (6) = sq(v/4 + 41) + sq(44) 2656 (4) = 44V" + T'(4)!

2613 (8) = sq(sq(4! — T(V4)) - [(T(4)) >>T(4) 2657 (6) = T(v) + T(4)! + sq(44)

2614 (6) = sq(v/4/4%) — T(4) + T(T(4)) 2658 (6) = T(4)! + /4 + sq(44)

2615 (6) = (sq(sq(T(4))) — T(V4)/.4%)/.4 2659 (6) = (sq(sq(T(4))) ~ V4)/4 - sq(4)
2616 (4) = 4! — (.4 — 4) - T(4)! 2660 (4) = (4! \/_) (N(T(4)) — T(4))
2617 (6) = sq((v4 + 4%) /4%) + sq(4) 2661 (6) = sq(4! — T(v4))/V4% + s¢(4)
2618 (4) = (41— V4) - (T(T(4)) - T(V4)) .

2619 (6) = V4 - (sq(4!) +T(4))/ 4 2662 (0) = (41— v4)" /4

vt (o) = 4t ote oo 2663 (6) = sq(sq(T(4)))/4 — sq(4!) ~ (/)
2622 (4) — (41— Ty - (T T 2664 () = 44 T(A)

2623 (6) —4. F(4) (\/Z) l]( ( )) 2665 (6) - (EQ(S‘](F(4))) + '4)/'4 - SQ(4!)
2624 (4) = 4-T(4)! — 44 2666 (5) = .4-41/.4% — V4

2625 (5) = (V4% + 4)/.4%/ .4 2667 (6) = (sq(sq(T'(4))) + v4)/VA+T(4)
2626 (6) = .4 - (sq(sq(4/.9)) + 4) 2668 (4) = (T(T(4)) — 4) - (4! - T(v/4))
2627 (6) = sq(4!/.4) — sq(T'(V4) + sq(4)) 2669 (6) = (sq(sq(T'(4))) +4)/4 — sq(sq(4))
2628 (6) = 4 - (sq(4/.3) + sq(4!)) 2670 (6) = sq(sq(sq(4)) —4)/4! + 4! _
2629 (6) = sq(4! — I'(v/4) /\/F% 2671 (6) = sq(sq(T(v4) +T(4))) +T(T(4))/ 4
2630 (5) = 4 -T'(4)! — (\/’ )/4% 2672 (6) = T'(4)! + sq(4) + sq(44)

2631 (6) = sq(4)/.4% — sq(sq(T(4)) + T(V/4)) 2673 (6) = sq(sq(4/.4) — 4!) — sq(4!)

2632 (6) = T'(4)! — 4! + sq(44) 2674 (6) = (sq(sq(I'(4))) +4)/-4 — sq(4!)
2633 (6) = sq(sq(T(vVA) + T(4))) + sq(sq(4)) — 4! 2675 (6) = (sq(4! =T (v4)) +T(4))/vV4%
2634 (4) = T(T'(4)) - (4! — v/4) — T(4) 2676 (4) = T'(4)!/V.4/4 - 4!

2635 (6) = (sq(4! — F(\/Z)) —V4) VA% 2677 (7) = (sq(sq(sq(4))) — 4! @ sq(sq(T'(4))))/4!
2636 (4) = T'(T'(4)) - (4! —V4) — 4 2678 (6) = sq(sq(T(4)) + sq(4)) — V4 — 4!
2637 (6) = sq((V/4 + 4%) /4%) + sq(T'(4)) 2679 (6) = (sq(sq(T'(4))) +T'(4))/4 — sq(4!)
2638 (4) = T(T(4)) - (4! — v4) — /4 2680 (4) = (4 — 4) - T(4)! + T(T(4))

2639 (4) = T(T'(4)) - (4! — vV4) — T(v/4) 2681 (6) = (sq(sq(sq(4))) —.4)/(4+4)
2640 (0) = 44 -4!/.4 2682 (6) = sq(4!) - (V. A+ 4) — T(4)

2641 (4) = T(T(4)) - (4! — v4) + T(v4) 2684 (4) = (41 — v4) - (T(T(4)) + v/4)

2642 (4) = T(T(4)) - (4! — V4) + V4 2685 (4) = (T(4)! — 4)/V 4/ 4

2643 (6) = sq(4! - T(V4)/V4% — V4 2686 (6) = sq(4!) - (VA +4) — V4

2644 (4) = T(T'(4)) - (4! — 4 4) +4 2687 (6) = sq(d) - (VI + 4) — T(V)

2645 (5) = \/ (4! — T(v4))" /4% 2688 (0) = 4 - 4!- (41 + 4)

2646 (4) = ([(4)* —T(0(4)))/.4 2689 (6) = (sq(sq(sq(4))) —4/.4%)/4!

2647 (6) = (sq(sq(sq(4)) — 4) + 41) /4! 2690 (4) = (T'(4)!/V4—4)/.4

2648 (6) = (sq(sq(4)) + (4 + 4)) /f 2691 (4) = (T'(4)!/.4 —T(4))/V 4

2649 (6) = sq(4! — T(V4))/V4% + 2692 (6) = sq(v/4 + 44) + sq(4!)
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2693 (6) = sq(sq(T'(4)) + sq(4)) — 2733 E8; = s?(iq(isg((lgg4)))r)(j;{4 \>/4? r'4)
2734 (4) = 41- (T - -
VRV < rr) 2735 (4) = 41 (T(D(4)) — T(4)) — (/)
2694 (4) = (T(4)!/4 —4)/V4 2736 (4) = A4-T(4 +4) + T(4)!
2695 (4) = ([(4)!/V.A—/4)/.4 9737 (4) = 4! - (D(T(4)) — T(4)) + [(v/4)
2696 (4) = T'(4)!/v A/ 4 -4 2738 (4) = 4! - (D(T(4)) — T(4)) + V4
2697 (4) = (D(4)!/.4—V4)/V 4 2739 (6) = sq(I'(4)!/sq(4)) + T'(4)! - T'(4)
2698 (4) = T(4)!/V.4/.4— V4 2;30 24; =4l &2554))(4—))“4%)(5'4 )
_ 2741 (6) = s 1/s + -
2699 (4) - F('4)‘/'\/_ [4-T(4) 2742 (4) = 4!q- (r(r(4)q) —-T(4)) +T(4)
2700 (2) = (4!/4)!/v/4/ 4 2743 (6) = (T(T'(4)) — 4%) /4% — s
B = 0)/4% — sq(sq(4))
2701 (4) = (T(4)!/V A+ 4)/ 4 )
2702 (4) = T(4)!/V A/ 4+ V1 2744 (4) =/ (4/ 4+ 4) _
2703 (4) = (T(4)!/.4 +VA) V1 2745 (5) = (V4/ 4%+ T(4))/ 4
2704 (0) = (41 + 41 + 4)V7 2746 (3) = /T(v/4) +T(T(4))/.4% —
2705 (4) = (T(4)!/V 2+ V4)/ 4 2747 (6) = sq(I'(4)!/sq(4)) + I'(4 )'+f
2706 (4) = (P(4)!/4+4)/V'2 _ 2748 (5) = \/T(VA) + [(T(4))/.4% — Vi
2707 (6) = + 1/4
2708 (o) = ity i iy ey VY 2749 (5) = (,/C(V/A) + D(C() — 4%)/ 4%
2709 (4) = (D(4)!/.4+T(4))/V4 2750 (5) = 44/4/.4%
2710 (4) = (D(4)!/vVA +4)/.4 2751 (5) = (\/T(vA) +T(T(4)) + .4%)/ 4%
2711 (6) = D(T(4))/4% — sq(T(v3) + sg(4) 2752 (4) = 4 (T(4)! — Vd)
2712 (4) = (4 = 4) L)1+ DO 2753 (6) = sq(sq(T(4)) + 5q(4))+sq(T(V/4) +T(4))
2713 (6) = sq(sq(I'(4)) + sq(4)) +4/.4 2754 (4) = 4-T'(4)! — T(T'(4)) — T'(4)
2714 (4) = (41 -T(V4)) - (T(T(4)) - V) 2755 (6) = (sq(4!) — T'(vA) — 41)/V4%
2715 (4) = (T(4)! +4)/V 4/ 4 9756 (4) = 4 -T(4)! — T(T(4)) — 4
2716 (6) = T'(4)!/V4/.4+ sq(4) 2757 (6) = sq(v4/4%) + sq(sq(4)) + T'(v/4)
2717 (6) = V4% - (sq(T(T'(4)) — T(V4)) — sq(4))) 2758 (4) = 4-T(4)! —T(T(4)) — V4
2718 (6) = sq(sq(T'(4)) + sq(4)) — V4 + sq(4) 2759 (4) = 4-T(4)! —T(T'(4)) — T'(v4)
2719 (6) = sq(sq(T'(4)) + sq(4)) +T'(4)/ 4 2760 (4) = T'(4)!- (4 —4/4)
2720 (4) = T(4)! - (4- .4+ /4) 2761 (4) = 4-T(4)! + T(V4) — T(T'(4))
2721 (6) = sq((V4 + 4%) /4%) + T(T'(4)) 2762 (4) = 4-T(4)! — T(T(4)) + V4
2722 (6) = sq(sq(T(4)) + sq(4)) + 4! — T(4) 2763 (6) = (sq(sq(41)) + 41)/T(T(4)) — VA
2724 (4) = T(4)!/V ] 4 + 4] 2764 (4) = 4 - T(T(4)) + 4-T(4)
= | !
2125 (5) = (N(O() — T/ + )% 2o ) = WD) )
2726 (5) = \/T(vA) + (L (4))/.4% 4 2767 (6) = (sa(u(4) + )/ (D) + V3
2768 (4) = 4 - (T(4)! — 41 — 4
2T 0) = saloalT(0) b oa(®) =TV + 2760 (6) = (sq(sq(41)) + 4)/T(T(4)) +4
2728 (2) = V4. (\/ V4 —4) 2770 (6) = (sq(4!) — 4! + v/4) /4%
2729 (6) = (sq(sq(sq(4))) — sq(4)/.4)/4! 2771 (6) = (sq(sq(4!)) + 4!)/T(T(4)) + T'(4)
2730 (4) = T'(4-4)/(4!/v/4)! 2772 (4) = T(T(4)) - (4! — .4/ 4)
2731 (6) = (sq(sa(sq(4))) +4 +4)/4! 2773 (6) = sq(4!/.4 — T(v/4)) — sq(T'(4))
2732 (2) = VA- (VA" + V4 2774 (5) = \/T(VA) + T(T(4))/.4% + 4
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2861 (6) = (\/% 4 + sq(4!))/V4%
2862 (4) = (T(4)" —41)/4

2863 (4) = 4- (['(4)! —4) — T'(V4)
2864 (0) = 4 - ((4!/4)! — 4)

2865 (4) = 4-T(4)! —T'(4)/.4
2866 (4) = 4 - (T'(4)! —4) + V4
2867 (6) = sq(4!/.4) — sq(T(v4) + T (4))
2868 (4) = 4- (D(4)! —4) + 4
2869 (4) = 4-T(4)! — \/T(v4) + T
2870 (4) = 4-T(4)! —4/.4

2871 (4) =4-T(4)! —4/.4

2872 (0) = 4- ((4!/4)! - V4)

2873 (4) = 4-T(4)! = T'(v/4) —T'(4)
2874 (4) = 4-T(4)! — 41/4

2875 (4) = 4-T(4 )'—f/4

2876 (0) = 4 - (4!/4)! —

2877 (4) = 4-T(4)! — \/4/

2878 (0) = 4- (4!/4)! — /4

2879 (4) = 4-T(4)! — 4/4

2880 (0) = 4 - (4/.4 — 4)!

2881 (4) = 4-T'(4)! + 4/4

2882 (0) = 4- (4!/4)! + V4

2883 (4) = \/4/4+4-T(4)!

2884 (0) = 4- (4!/4)! + 4

2885 (4) = 4-T(4)! +V4/ .4

2886 (4) = 4-T'(4)! + 4!/4

2887 (4) = I'(v/4) + T'(4) +4-T'(4)!
2888 (0) = 4- ((4!/4)! +v4)

2889 (4) = 4-T(4)! +4/.4

2890 (4) = 4-T(4)! +4/.4

2801 (4) = \/T(VA) + T(T(4)) + 4-T(4)
2892 (2) = /(41/ )" — 41

2893 (6) = sq(4!/.4) — 4! + T'(+/4)
2894 (4) = 4- (T(4)! +4) — V4
2895 (4) = 4-T(4)! +T'(4)/.4

2896 (0) = 4 - ((4!/4)! + 4)

2897 (4) = 4- (T'(4)! +4) + T'(V4)
2898 (4) = 4- (D(4)! +4) + V4
2899 (5) = (T(T'(4)) — 4 — 4%) /4%
2900 (4) = 4- (D(4)! +4) + 4

2901 (5) = (T(T'(4)) — 4 + 4%) /4%
2902 (4) = 4- (0(4)! +4) + T'(4)
2903 (4) = 4-T(4)! —=T(vV4) + 4!
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3
250 8) = (sq(4) - 4%)
. L = AR T
3282 (6) _ (sq(sq(T(4))) + s ) 3323 (6) =
3283 (6) = sq(4)/.4% + \/Z_q(p) +.4)/.4 3324 (6) = sq(T'(4)!/sq(4)) +
3254 (6) = se(oaF () 10 3975 (0 = (on(oa A 3 caleu(F(0) + VA
3285 (6) = (;I(sq( 4)))/. 4+44sq(sq(I‘(4)))) SO 3326 (6) = 4 g((sq(r(4))) T s (Fq(4).)
3256 6) = CataaT) 411804 5927 (6) = 4- (atsa(®) + sa(4) ) V4
3222 EB - S;%(F((r(i ) _(S)q'(+(r)(;1)) 3323 Eg; — j gsqgmq) +))4Zf) sq(41)) - T(V4)
32 _ /4 3330 (4) = I sq(sq(4
B s
3 = (sq(sq(T T4 = (sq(sq(T
333; gg; = isq((sggrgg;; N 4'( )/)/44 D gggi Eg; - L(l\/-(j-ir 454)()1)1:)861( ((i) +.4)/4
3 - S + = *-(8¢(s )
2% 1) = gﬁéﬁiﬁ” ) - ) 3356 (1) = <;q__<Fq<(4>q>(i”f - g(4) Pr
205 ) = toglodo ) saat@)e oot (©) i saloalC )/ 4
3206 (5) = T'(4) qé (4))) + 41 — /), 4 3338 (6) = r(i()r(r(4)) Z V) - sq(4!
2297 (6) = Sq(F(4)(4) viT/g : 3339 (6) = (T(4 sq(4!) — 11(11(4))%54 \})_ /4
3;98 (6) = (SQ(Sq(I"/Sq(4)) 41+ sq( 3340 (6) = Sq(4‘//-£1% —sq(4))/.4 4
209 = )+ a1 et ®) 3341 (6) = 4% o
3 00 (4) = (D(4)* ) +41/.4 —T(v4 42 (6) = T'(4) (q( g(T(vV1) + sq(4
3502 6) = aoaT ) 3 ! ot (1) — a0 Bt N
- + 4! 4) = _
gsog (6) Ezggsq(g(@)) N 4,)741/ \4[ 3345 Eﬁg _ E? (T(4 + 4) )ZL) sq(s9(4)
304 (4) = (41 + (T(4)) + V) + 4)) 3346 (6) = (Sq(sq(r(4))) (.))
3305 (6) = (sq(s 4) - (N(I'(4)) — f)/ 4 3347 (8) = s (q(sq(F(4))) + sq( (/4+1“(1“(4))
gggs (6) =T(4)-s ’ ((4!)))) +VA+41)/4 ngg 2((sa(T(T(4) & sqw;;)f 4+ 5q(4)
/5207 ®) = safealsalT b)) — ouDee e I A iy =
3308 (6) = I'(4) q(T(4)))/T(T4)) >>1 3350 (5) ; EEEZL}) T'(4))/vV4%
3210 (6) Ty 3351 (4) = \/MV\/%_ sa(sa(9)
3311 (6) i (sq(sq(T'(4)) L(4)! 3352 (4) = T/ 4)F(4) 4!
331 (6) =T(4)- (s |) +dl+4)/4 3353 (6 4-(L(T(4)) +
312 () T (4) a(d) ~4) TV ) = L) Iy
R SO e
6) = - (sq(4!) — 6(4) =4 —4) —
1o ©) = Galal) riN 5306 (0 = V4 T+ IRETIT
e o) = Sq(r(4)si(;(4!) —ad ! 3358 (4) = V4 T i — V) + 5q(sq(T(4))))/ 4
3319 (6) = 4% <sq<qu(§f” + 5q(sq(T'(4))) 3300 (4) = V4. [‘( +4) - Vi R
s 0 i L eI
= . — S =
ggg; (5) = (F(4)/(i1127'+ 1“(1*(4_)) a(sq(4)) 3362 (4) = ﬁ [(4+4)+T(/4
(6) = 4-(s 0—4l)/.4 3363 (6) = 4-T(4+4 )
( Q(Sq(4 (6) = (s )+ \/_
) +sa(4D) =T 2503.6) = CatllTe) 74
(4) 64 (0) = (4!/.4 — \/—)_4)/4
3365 (5) = (F(4)/zf)
4%)/ A%
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3366 (4) = Vi T(4+4)+T4) 3399 (4) = (I‘(4)/.4)F(4) + 41
3367 (8) = sq(sq(T(I'(4))) + sq(4!) —T(T'(4))) >> o
5q(4) 3400 (4) = \/V4 —T4)! +4!
3368 (4) = 4- (T(T(4)) + T(4)! + v4) 3401 (6) = sq(sq(T(v4) + T(4))) + 4/.4%
_ () _ 3402 (6) = ['(4) - (sq(41) — 4/ 4)
3369 (4) (1"(4')/4) ) 3403 (8) = sq(sq(sq(T(4))) +4!) >>4/.4
3370 (4) = \/v4" —T(4)! - T(4) 3404 (6) = (r(I\*/@)) + 5q(4))/4% + 4 i
- 3405 (7) = (T(vV4) + T(T(4)) & T(4)) /v/4%
3371 (4) = \/ ((4)/.4)"") — 4 3406 (6) = T'(4) - sq(41) — v/4/4%
3372 (4) = \/vA© —T(4)! -4 3407 (6) = I'(4) - sq(4!) — sq(T'(vV4) + T (4))
— 3408 (4) = (41 + 4.4) - T(T(4))
3373 (4) = \/(0(4)/.4)" - V4 3409 (6) = sq(4\!/—_F(\/Z)) +4-T(4)!
N 7 3410 (6) = (sq(v/4% + 4) — 4)/.4%
3374 (4) =/ (C(@)/ 49" —T(V4) 3411 (6) = (T(4)/.4% + sq(4)) /.4
- 3412 (6) = T'(4) - sq(4!) — 44
3375 (0) = (4/4/.4) 3413 (7) = (sq(T(T(4))) — T(4)! & sq(T(4))) /4
" 3414 (6) = (sq(4) — 4%)/.4% — sq(4!)
3376 (0) = \/ V4 — (4!/4)! 3415 (6) = (I'(4)! — T(vV4) — sq(\l}(_4))) /4%
_ r'(4) 3416 (4) = (4! +4) - (T(T(4)) + v4)
I =y (T4 3417 (6) = (sa(T(T(4)) — V) — sq(sq(4)))/4
3378 (4) = \/V4 —T@4)!+4 3418 (6) = sq(4)/.4% — sq(4!) " I'(4)
3419 (6) = (sq(T(T'(4))) — T(4)! — 4) /4
3379 (1) = /()07 44 3420 (0 = 140 P d
_ Ty 3421 (6) = (sq(T(T(4))) — D(4)! + 4) /4
3380 (4) =V v4 +4-T(4) 3422 (6) = sq(4)/.4% — V4 — sq(4))
3381 (4) = \/(D(4)/.4)™™ +T(4) 3423 (6) = (sq(4) — A%)/.4% — sq(4))
B m 3424 (5) = 4! - (V.4/.4% — 4
3382 (4) = V4 —T(W!+T(4) 3425 (6) = sq(4)/.4% — sq(4) + T(v/4)
3383 (7) = 1/ (T(4)/4)" ™ @ 4! 3426 (4) = (VAT® _T(T(4)))/4
3384 (4) = VA4 -T(4+4) + 4! 3427 (6) = (T(4) — 4%) - (sq(4!) — T(V4))
3385 (6) = sq(4!/.4 — T(v4)) + sq(4!) 3428 (6) = I'(4) - (sq(4!) —4) —4
3386 (6) = sq(v4 + 4!)/v/4% + T'(4) 3429 (5) = (T'(4)/.4% + 41/ .4
3387 (8) = sq(sq(T(T(4))) + V4/.4%) >> sq(4) 3430 (6) = T'(4) - (sq(4!) —4) — V4
3388 (4) = (VA +4) - (T(4)! + T(4)) 3431 (6) = T(4) - (sq(4) —4) ~T(vV4)
3389 (6) = I'(4)!/.4/.4 — sq(sq(4)) _ i
3390 (6) = (D(D(4)) + sq(4) — 4) /4% 3432 (0) = |/ VA /4 -
@ 3433 (6) = sq(4!) - (T(4) — 4%) + 4%
3391 (6) = \/(T(4)/4) ™ + sq(4) 3434 (6) = T'(4) - (sq(4!) — 4) + V4
3392 (4) = (4! — 4)-4!1-T(4) 3435 (8) = (sq(sq(T(T'(4))) @ T(4)!) >> sq(4)) +
3393 (6) = sq((4! +4)/.4) — sq(4!) r'(4)
3394 (6) = (D(T(4)) + sq(4))/4% — T'(4) 3436 (6) = T'(4)/.4% + sq(44)
3395 (6) = ((T(T'(4)) + s¢(4)) — V4%) /4% 3437 (8) = (sq(sq(4)) — sq(T(4)))/ A% >> 4
3396 (6) = ['(4) - (sq(4!) — 4/.4) 3438 (6) = T'(4) - (sq(4!) — 4) + L(4)
3397 (6) = (sq(T(T'(4)) + v4) — sq(s¢(T'(4)))) /4 3439 (6) = sq(4/4%) — sq(sq(4/4))
3398 (6) = (D(T'(4)) + sq(4))/4% — /4 3440 (4) = 4!- (4! - T(4) — vV 3)

45



3441 (6) = I'(4) - sq(4!) —'(4)/.4

3442 (6) = I'(4) - sq(4) + V4 — sq(4)
3443 (6) = I'(4) - (s¢(4!) — V4) —T(V4)
3444 (4) = T'(4) - (4! - 4! — V/4)

3445 (6) = sq((4! — .4)/.4) — sq(I'(4))
3446 (6) = I'(4) - sq(4!) — 4/.4

3447 (6) = T'(4) - sq(4!) —4/.4

3448 (6) = I'(4) - sq(4!) — 4 — 4

3449 (6) = I'(4) - sq(4!) — T(4) — T(v4)
3450 (0) = (\/ V V41" — 41)/4

3451 (6) = I'(4) - sq(4!) — V4/4

3452 (0) = \/V V"' /4 — 4

3453 (6) = T'(4) - (sq(4!) — v/4/4)

3454 (0) = \/\/ V' j4a— v

3455 (0) = (\/ V V¥ — 4)/4

3456 (0) = 4!*/4!/4

3457 (0) = (\/ V/ V4&I* + 4)/4

3458 (0) = \/ V4" /4 + V4

3459 (6) = I'(4) - (sq(4!) + V4/4)

3460 (0) = \/ \/ V4" /4 + 4

3461 (6) = I'(4) - sq(4!) + /4/.4

3462 (0) = (\/ \/ VA" + 41)/4

3463 (6) = ['(4) - sq(4!) + T'(4) + T'(V4)
3464 (6) =T'(4) -sq(4)) +4+4

3465 (6) = sq((4! — .4)/.4) — sq(4)

3466 (6) = T'(4) - sq(4!) +4/.4

3467 (6) = I'(4) - (sq(4!) + V4) — T'(v/4)
3468 (4) = T'(4) - (4! - 4! + /4)

3469 (6) = I'(4) - (sq(4!) + V4) + T'(V/4)
3470 (5) = (D(4)! — 4! — v4) /2%
3471 (6) = T'(4) - sq(4!) + ['(4) /.4

3472 (4) = (4! +4) - (D(T(4)) + 4)

3473 (6) = (D(4) +4%) - (sq(4!) — T(V4))
3474 (5) = (T'(4)! — 4!) /4% — T'(4)
3475 (5) = (T'(4)/. 4+ .4)/ 4%

3476 (5) = (T'(4)! — 4!) /4% —
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3521 (6) = (T'(4)! — sq(4))/vV4% + T'(\/4) 3565 (5) = (D'(4)! — T'(4) — D(v4))/vV4%
3522 (6) = (I'(4)! — sq(4))/vV4% + V4 3566 (5) = (I'(4)! — T'(4))/v4% — 4
3524 (6) = (sq(4) — V/4)/.4% + 4! 3567 (6) = (sq(D(T'(4))) — sq(T'(4)))/4 — 4!
3525 (4) = ['(4)!/.4/.4 — [(T'(4)) 3568 (5) = I'(4)!/v4% — /4
3526 (6) = (T'(4)! — sq(4))/v4% + I'(4) 3569 (5) = (I'(4)! — I'(4))/vV4% — T'(v/4)
3527 (6) = V4 - sq(sq(T'(4)) + '(4)) — T(V4) 3570 (4) = V4- (T(4)! —T'(4))/.4
3528 (4) = (4! +4) - (I(T'(4)) + T'(4)) 3571 (5) = (T(4)! — T(V4)) /4% — 4!
3529 (6) = sq(4!/.4 — T(v/4)) + [(4)! 3572 (5) = [(4)!/vVA% — 41 — 4
3530 (6) = (sq(sq(T'(4))) + T(D(4)) — 4)/ .4 3573 (6) = sq(\/sq(4]) —4/.4) — /4
3531 (6) = (sq(T(T'(4)) — sq(T(4))) + T(4))/v4 3574 (5) = (T'(4)! — .4)/v/4% — 4!
3532 (6) = V4 -sq(sq(T'(4)) +T'(4)) +4 3575 (5) = (4!-T'(4) — T'(v4)) /4%
3533 (8) = sq(sq(sq(4))) — sq(T(4))/ A% >> 4 3576 (0) = (41/.4)Y4 — 41
3534 (6) = (V4% +T(4)) - (sq(4!) —T(4)) 3577 (5) = (V4% + T(4)!)/V/4% — 4!
3535 (6) = (sq(T'(T'(4))) — sq(sq(4)) — 4)/4 3578 (5) = (T(4)! — 4.4)/vV4%
! 3579 (5) = ([(4)! — 4)/v4% — I'(V4
3536 (5) = T'(4)!/v/4% — \/ \/ VA" 3530 E4g _ s/;f/ll. (r)({xg!/?@ v4)
3537 (6) = I'(4) - sq(4!) + sq(4/.4) 3581 (5) = (I'(4)! — 4 + vV4%)/vV4%
3538 (6) = (sq(T(T(4))) — sq(sq(4)))/4 + V4 3582 (5) = (T(4)! — 4)/VA% + /4
3539 (6) = sq(/sq(4!) — 4/.4) — sq(T'(4)) 3583 (6) = (sq(T(T'(4))) — 4)/4 — sq(4)
3540 (4) = (D(T(4)) + T(4)")/.4 3584 (4) = I'(4)! —4 - (4 —T(4)))
3541 (6) = (sq(sq((4))) + D(T(4)) + .4)/ .4 3585 (4) = (V4-T(4)! —T'(4))/.4
3542 (6) = (sq(T(T'(4))) — sq(sq(4)) + 4!)/4 3586 (5) = (I'(4)! — 4)/v4% + I'(4)
3543 (8) = (4/.4)! >>4/.4 3587 (6) = (sq(D(T'(4))) — sq(T'(4)))/4 — 4
3544 (6) = sq(44)/.4 — sq(sq(T(4))) 3588 (4) = V4 ([(4)!/.4 —T(4))
— I — —
3515 (5) = (! - TV +TE@)Va% o0 () = T = HV) V=T
3546 (5) = [(4)!/v/4% — 4!/.4 3501 (4) = (D(4)!/d — 41)/3
3548 (6) = I'(4) - (sq(4!) + sq(4)) — 4 3592 (4) = V4 ([(4)!/.4 — 4)
3549 (6) = sq(sq(sq(4)) + T(V4)) —sa(T(vV4)/-4%) 3593 (5) = T'(4)!/v/4% — T(v/4) — [(4)
3550 (5) = (4!-T'(4) o \/i)/ i% . 3594 (4) = (41/.4)V* —T(4)
35561 (6) = s sq(4!) —4/.4) — 4!
) Y 5 (0~ (/T
3553 (6) = T'(4) - (sq(4!) + sq(4)) + T(V4) I A _
3554 (6) = T(4) - (sq(4!) + sq(4)) + V4 3597 (5) = T'(4)!/vV4% — \/4/ 4
3555 (5) = (D(4)! — 4/.4)/V4% 3598 (0) = (41/.4)V" — V1
3556 (5) = I'(4)!/v/4% — 44 3500 (4) = (T(T(4))V" — 4)/4
3557 (6) = sq(sq(T'(vV4) +T(4))) + 3600 (0) = 4!-41/.4/.4
sa(sa(T(4) - v4) 3601 (4) = (VA-T(4)! + 4)/.4
o LSRN e
=S8 sq(4:) — . — 8q —
3560 (4) = 1“%4)1 (VA A+ 1) 3603 (5) = T(4)!/ ‘QT%J“ 4/4
3561 (6) = sq(sq(4/.3)) — T(T(4))/4% 3604 (0) = (4!/.4)"" +4
3562 (6) = (T(4)! — .4)/v4% — sq(T'(4)) 3605 (4) = (V4-T(4)!+v4)/4
3563 (6) = (sq(T(T'(4))) — 4)/4 — sq(T(4)) 3606 (4) = (41/.4)V* +T(4)
3564 (4) = ['(4) - (T(4)! — T'(4)) — T'(4)! 3607 (5) = (VA% + T'(4)")/vV4% + T'(4)
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i1 )
3653 (1) = T(4)1/4/ 4 & T(I'(4)
- I/A+4)/4
608 (4) = v4- (D(4)!/4+4) 3654 (4) = (T(4) T
3009 (5) = T(4)!/ V4% +f)//-i 3655 (5) = (+/T(vd) + T(T(4)) + F4(‘4)')/
e A 5657 (6 = (g {0 - V5) a0
3611 (5) = 6) — (sq 7
3612 (4) = V4. (T(4)!/.4 + F((ﬁa)))/4+ A gggg Eﬁg — (sq(T(T(4)) + sq(sq(4)) (;y)( {1%4)))
3611 (5) = (14 DT (D 3050 (1) = GgtaaT() )40 50
3614 (5) = (T'(4)! 0/ 0 (4) = (VA-T(4)! +41)/.
s E e i
R S e e
3618 (5) = (T(4)! +4 —. = 1 — -
3619 gs; = %;ﬁkﬂ{)@{?@ T(v4) 3664 (5) = (@\/?(4 ;)Ffs;/(;{;g Y
3620 (4) = v/4/.4- (T(4) 665 (6) = (5q A/
3621 Egg - fp(?i;{ '4/21) /fzi_% 4l 30660 (6) = P(Ei%(- r(ff)(f)(i”r& ?Z)(;ﬂ)% >£(\/)Z
22 = T —
3023 (3) = LY VIR - T(/D) + 4 2665 (6)  T(3). (s ) + sa(4) —
Y005 By = (Pl 240/ 3 3670 (5) = (L)) — V4% + T4
3626 (3 = (P01« D00V — 3671 (6) = T+ 4) — sgloLla) + T/
3627 (6) = (sq(sq(T'(4))) 3672 (5) = T(4)!/. 2)) + 4- sq(4))
S )~ (1VA) 4 T P P e
9(5) = ' 36 = - 7
R R B
3631 (5) = (T'(4)! Pyl 3676 (6) = sq(4)/.4% T - Vi
o0 ) = (o) saT O+ 4 3479 5) = (M40 + () vAe — 1V
3633 (6) = (s%(g'(r(‘;)()i);r/f/qw 2 3679 (6; = ;125“4()4); (‘IF A
634 (5) = (T(4)! + y A 3680 (4) = - '__
SHE S R |
= ([(4)!/.4-4)/. - I'+s sq(4]) —
3657 (6) = a2 ) + TV Sy 1683 (8) = (auaT LN o sald) ® sa)
3638 (6) = Egigi/ﬂ%\/%f;q(%-/. ) 1“(\218)4 (6) = 4 (sq(4- 41) — T(4))
ggig EQ = (r(? } 41-/4; 431/¢4T% 3685 56; - 82(1;;\({11)446 4_!/ .;1) 5q(T(4))
=T(4)!/4/4- 3686 (6) = 4 sq(4-4]) - . 1)!
ggi; Eé; — sq((zi!é.%)/-% F(il/);l+ I'(4) 3687 E? _ (Zq((iz((i(ﬂ'))):gél))/'él ®T(4)
§§ﬁ E4g =T(4)!/.4/4-T(V4) 3689 (6) = Sq(mﬁ% sq(
o = 1 3091 (0) — (sa(L(CC0) + V)  E(O(4) /4
3646 (4) = (T(4)!/4 + . )\% 3691 (6) = (sqr(r(4)))/F(4) "+ sq(sq(T(4)) — 4
3647 (4) =T(4)!/.4/4+ i) 3692 (6) = sq( (D(VA) + T(4))) + sq(sg(T(4))) — 4
3648 (4) = 4 (T(T(4) + 3094 6) = (s0(h) ~ VAT) 4% - sa(oatd)
3649 (4) = '(4)!/.4/4 + 27 3694 (6) = (?1(11(4)) o I‘(\/Z))/‘l% +T(4)!
3650 (5) = (T(4)/.4 — .4)/ A% 3695 (5) = (T(T( 4l e ol
3651 (4) = I'(4)!/.4/4+T(4) | 3696 (4) = 4 - (T'(4)!
3652 (6) = sq(4!/.4) + sq(4) + T(4)!
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) — sq(T(4))
3739 (6) = ?gim/iv sq(T
4) — 4! 40 (5) = 0 4 14%
O % i 0= ity 0 =0 s
3600 () = (P01 + 1)) 1 3743 (6) = (oald) 470 45 ra(on(8)
- 4% 3743 (6) = (s 4
3700 (5) = (41-T(4) +4)/ 4! 3744 (4) =T(4+4) —T(4) 4
3701 (6) = mf; si(r&) oalsa T s (5) = (0(a)/.4% 4 \/:1)/'
3702 (6) = S‘I(F(F(@))/Af)() )sq(4' I'(v4)) 3746 (5) = ['(4)/. 4%1{7 ORZE!
3703 (6) = (T(V4) T sq(sq(T(4))) 3747 (6) = (sq( \/;{7 /04 V4
3705 (0) — s o et ) 3748 (3) = T(4) 4% %)/.4%
e ) Y e 2O et Sy
3706 (6) = sq(4!) - ( ) +T(®) = salsa(sa(TA)N) = () = () (Vi/4) 4
3707 (8) = sq(sq(sq(sq(I'( 3751 (5) = (T(4)/.4% Zf)\é—
"5708 (6) = sq(4) - (04 +. 4)(7 ! 3753 5) = (sall /(4?/))) +sq(T(4)) + sq(41)/4
= 4% /4%) — sq 3753 (6) =
 E I SO
3710 (5) = A4)-T 3755 (5) =
3711 (6) = ?2(4!)@((1;((?); _ 4)) 3756 (5) = T(4)/. j%;/ +44T/1:1() l 5q(T(4))
2 ()= \/Z;ﬂ +4)/-4) — sq(sq(4)) 3757 (6) = sq(T'(vd 4@ sq(4)/-4%
3713 (6) = sq(( ; 41) /A% — T(4) 3758 (7) =T(I'(4))/. T 4%/4%) — sq(4)
3714 (5) = (I(4) 1) - /T /4% + T(4) 3759 (6) = SQ(W V)
3715 (5) = (F(Z('3_4,)/\/4T% 4 3760 (4) = T(I'(4)) - ( \/_<7/4% + sq(T'(4))
3716 (5) = (F(r)(ﬁ) '+4!/.4) -4 3761 (6) = sq(\/ij_/ 4)) +V4)
18 () = (o g I A
3718 (5) = ( (T(4)) 4%)/4% + T(4)! 3763 (7) = (sq(T(T'(4))) T(4)!)/4 — sq(4)
3719 (5) = (I( (F(4)' +41)/.4 3764 (6) = (sq(T'(T'(4))) + T(T(4))
5720 (4) = Vi 7.4)Y* 8765 (1) = DY 41441 sq(4)
3721 (4) = (F(\/Z,D Zjl)//m+f 3766 (6) = I'(4)/. 4%)) 1“(\/1) ST(T'(4)/4%
3722 (5) = (T(4)! + 41/4) + 4 3767 (7) = 4(;]1(, /v —T(T(4))
3723 (6) = sq(L (V4 )JN% +4 3768 5) = "Y1 +4%/4%
a6 = L +4%)/ 4%/ 4 3769 (6) = sq \/7\[/4%+1“( 4)!
3725 (5) = (['(4) _(7/ 4— 41 3770 (5) = (T(F'(4) + 4% /A%) —
3726 (5) = '(4)/ 4 41/4) +T(4) 3771 (6) = sa(V/T(4) +4%
AR B a0 i o r)
3728 (6) = sq 5/4%) + 4 - 4% /4%) —
3729 (6) = Sq(\/lﬂzl/% +T(4 ) 3773 (6) = ?( \)//ﬁf
3730 (5) = (D(T'( )4 %/4%) + (4 3774 (5) = (4) +4%)/ 4%/ 4
3731 (6) = ;q((S/F(((Tﬂ) - sq(4') r@y+ Eig _ (\[ (T(T(4)) — \{71) Vi
= 3 - 0/4%) +
3735 6 saa P (/D) + T + sl o s ) /4~
so(T(4 3778 (6) = (sq(T %/4%) + 4
qg;ézl))(ﬁ) =T(4)/.4%/ .4 _(8354;)4 3779 (6) = sg(m/
3735 (5) = (F(4)/'4% - 3780 (2) = Esé(F( T'(4))) +T(4)! + 4)/4 .
3736 (4) = VA" - T(4)Y/ Vi (s0(4)) 3782 (6 = (oa(T(T () - T4 2 Vi
737 (6) = sq((4! — .4)/.4) + sq %sq(4)) 3782 (6) =
2738 (6) = sq(4)/.4% — T(4) — sq
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3868 (6) = v/4-sq(44) —4 3910 (6) = (4% — .4 + sq(4))/.4%
3869 EG% = 5q(sq(T(4)) + T'(v4)) + sq(v/4/4%) 3912 (5) = V¥%/T(4)/V4 + 4!
3870 (5) = (D(4)! + 4/.4%)/ 4 3913 (7) = sq((4! — 4)/.4) @ F(4)!
3871 (6) = V4 - sq(44) — T'(V4) 3914 (6) = sq(4! + 4) /4% —
3872 (0) = V4 - 441 3915 (4) = (T(4)! —4)/.4/ 4
3873 (6) = V4 - sq(44) + T'(V/4) 3916 (4) = \/va" - T(4 )1/4
874 (6) = vA_aq(an) + VA 3017 (1) = sq(TT(@) — sg(T(@) o
3876 (5) = (% F(4) —ay/Vi 3918 (6) = sq(4! + 4)/v/A% — V4
3877 (8) = (sq(sa(T(T'(4))) = sa(4)) >>sa(4)) + 3919 (6) = sq(4)/.4% — sq(4/.3)
L(4)! 3020 (4) = 4.4-T(4)! + T(4)!
3878 (6) = V4 - sq(44) + T(4) 3921 (6) = sq(4! + 4)/vA% + T(V4)
3879 (6) = (sq(4) — 4%)/.4% — T (I'(4)) 3022 (6) = sq(4! + 4)/v/4% + V4
3880 (4) = T(4)!- (T'(4) — 4) ~ [(['(4)) 3923 (6) = (sq(sq(T'(4))) + sq(T(T(4))) — 4)/4
3881 (6) = (sq(sq(I'(4))) + sq(sq(4)) + .4)/.4 3024 (5) = (VF 4+ T(4))/.1
3882 (5) = VYT(4)/v4-T(4) 3925 (6) = (sq(4! + 4) + T(v4)) VA%
3883 (7) = (sq(sq(T(4))) — 54(T(4)) © sa(TT(4)))/4W 3936 (6) = (ald) - AT/ 4% - 4
3884 (5) = "YT(H)/Vi-4 3927 (6) = (sq(sq(sq(4)) + T(T(4))) — 4)/sq(T(4))
3885 (5) = (Y*{/T(4) —T'(4))/V4 3928 (6) = 4 - (sq(sq(4)) + T'(4)!) + 4!
3886 (5) = (V"Y/T(4) - 4)/v4 3929  (6) " )= sq(sq(C(4)) -T(v4) +
= (V%/T(4) — V4)//4 sq(sq(T'(4)) + sq
TE = 0= VO 3930 (4) = ['(4)!/4/.4 — T(T(4))
3888 (2) = \/ Va4 - 7) 3931 (6) = (sq(sq(sq(4))) — T(4)!)/sq(4) —T(T(4))
3889 (5) = ( 4‘</F_ )+ vA)/v1 3932 (6) = 4% - (sq(sq(sq(4 )))/\[4 4)
= (V% f 3933 (6) = sq((4 +4)/ 4) — sq(T'(4))
3890 (5) = (VZ/T() +4)/V4 = o e
% 3934 (6) = (sq(4 )/- q(4)
3891 (5) = (vl + I 3935 (6) =  sa(salsaT@N)/A -~
3892 (5) = V%/T /—/f+4 salsaleq(4)) + T(VA)
3803 (7) = (sq(F(F(4))+F(4))®F(4)!)/4 3036 (4) 41 (D((4)) + 44)
3894 (5) = YT()/VA+T(4 3037 (6) = sq(sq(T(v/4) + T(4))) + T(4) - sq(sq(4))
3895 (6) = (sq(sq(T'(4))) + S(I(SQ( ) +T(4))/ 4 3939 (6) = (sq(T(T(4)) + T(4)) — T(T(4))) /4
3896 (6) = (sq(4) — .4)/.4% — 4 3040 (6) — sq(4 )/ 4% — 1.4
3897 (6) = sa((v4 + 4%)/4%) + sq(sq(T(4))) 3941 (6) = sq(41 — T(v))/VA% + sq(sq(T(4))
3898 (6) = (sa(4) — 4)/.4% - V1 3042 (6) = I(4) - (sa(4/.9) + sq(4))
3899 (6) = (sq(4) — 4% — .4)/.4% 3943 (7) = (s q( ( (4))) ©I'(4)/.4%)/4
3901 (6) = (5‘12‘2 4‘)7; 2(7-4)/ -\%’ 3045 (6) = sq((4 + /1)
3902 (6) = (sq(4) — .4)/.4% + -
3(6)=4-(s T(4)!) — I(V4 3946 (5) = V4 —T(4)/4%
3004 (4 = 4. (Tety o gy 0T 3047 (7) = sq(D(T(4)) - T(vA)) & sq(D(T(4))) —
3905 (6) = 4 - (sq(s T(4)!) + T(v4) T'(4)
3906 Eﬁg = (sq((ﬁg(— " ))/) 4% +T'(4) 3948 (5) = ( V*{/T(4) + T(T(4)))/V4
3907 (7) = (sq(T(T'(4))) — sq(T(4)) ® sq(sq(T'(4)))) /4 3949 (6) = (sq(4) — V4%)/.4% — [ (V4)
3908 (6) = /4 - sq(44) + sq(T'(4)) 3950 (5) = (4 -4 — V4%)/.4%
3909 (7) = sq(4! — T'(V4))/vV4% @ sq(sq(T'(4))) 3951 (6) = (.4% — V4% + sq(4))/.4%
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1 3992 (5) = 4 - (4/.4% — V/4)
3952 (4) = \/v/4" — 4! T(4) 3993 (6) = sq((4! + 4)/3) + 4!
3953 (6) = sq((4! +4)/.4) — sq(4) 3994 (4) = T(4)! - (T(4) — ) — T(4)
3954 (6) = (sq(4) — V4%)/ A% + 4 3995 (6) = (sq(4) — A%)/.4% — 4
3955 (6) = sqg4§ j.i? - 524)!/ sq(4) 3996 (4) = ([(4)!/.4 — 41)/ 4
3956 (6) = sq(4)/.4% — - e T
O MO )Ty W0
3959 (6) — sa(og(T()))/4 ~T(V4) + T(4) 3999 (4) = T(4)!- (T(4) - ) -~ T(v4)
oo E4g _ F(?%(L/l')?;r %1)) !+ (44) 4000 (0) = .4- (4/.4)*
3961 (6) = sq 1/sq sq _ ! N, I‘\/Z)
) i Ay e RN
3963 (6) = sq((4! + 4)/.4) —T(4) 4003 (6) — (sq(4) — A%)/ A% + 4
3964 (6) = sq(4)/.4% — \/T(4) 4004 (4) = T(4)! - (T(4) — ) + 4
3965 (6) = sq(41+4)/4) ~4 4005 (6) = sq(4)/.4% + v/4/.4
3966 (6) = (sq(4) — %)/ 4% — 4! 4006 (4) = T(4)! - (D(4) — 4) + T(4)
3967 (6) = sq((4! +4)/4) — V4 4007 (6) = sq(4)/.4% + T'(v/4) + T'(4)
3968 (4) = V- (0T(4) +4) 4008 (5) = 4 - (4/.4% + v/4)
3969 (2) = \/((4! +4)/.3)" 4009 (6) = sq(4)/ -43 + Z 3
41 =sq(4)/.4% + 4/.
3970 (4) = Vv4 —T(I(4) —T(4) 381(1) Egg = (sq(g(i)/+ 4.4%) /.4%
3971 (6) = sq((4!'+4)/.4) + V4 4012 (6) = sq(4)/.4% + sq(4) — 4
3072 (4) = VA" — F(E(4))4— 4 \/14013 (6) = (sq(sq(sq(4))) — sq(5q(T'(4))))/sq(4) —
=3 ! .
3973 (6) = q((44'+ 4/4) + 4014 (6) = (sq(4) — 4%)/.4% + 4!
3974 (4) = \/V4 —V4A-T(T(4) 4015 (6) = sq(4)/.4% + T'(4)/.4
3975 (4) = \/ VA" - T(VA) — T(T(4)) 4016 (4) = \/va" — V- T(T(4))
4! — S sq(4 4%
3076 (0) = VYA - (VA4 oi7 Egg - 55@1 ai 5((4))/
3977 (4) = \/VA" —T(T(4)) + T(4) 4019 (6) = (sq(sq(sq(4))) — sq((s)g}l';l(ﬁl)))) /sq(4)+4
4 =T(4)-T(4)! —T(T4))/. ~
3978 (4) = /A" + VA - T(T(4)) 4020 (4) = T'(4) NE
3979 (6) = (sq(sq(sq(4))) — sq(4!) — sq(sa(T'(4))))/ sq(‘ﬁgg Eg; - zggigﬁ((;ﬁ) ;r! E(il/)%) +I4)Y
3980 (4) = \/vA" —T(T(4)) +4 4023 (6) = (sq(4) — A%)/-4% + 4!
3981 (6) = sq(\/T(4) — 4% /4%) + sq(sq(4)) 4024 (4) = T(4)! - 557(4) . i) FJE j!z |
4! = sq(4)/.4% + 4!
3982 (4) = \/v4 —T(T'(4) +T(4) ig;g Ei; _ Fq(i))!;_z /441
3983 (6) = (sq(4) — 4%) /4% = sq(4) 4027 (6) = (sq(sq(s4(4))) — T(4))/sq(4) — 4
3981 (5) =4 (/4% —4) 4028 (6) = sq(4)/A% + 41 + 4
3986 (6) — (sg(d) 4%/ 4% - 4 100 (0) = sa()/ 4%+ 4T
3986 (6) = (sq(4) — 4%)/.4% — = sq(4) - (sq(sq(4)) — 4) — T(V/4
3987 (8) = sq(sq(sq(4)) — V4) —T(4)! >> 4 jgg; Egg _ f/(i‘) (i 1(431;(4)) vt
2080 (6 = (ol gty 4] 1033 (6) = sq(4) - (g(sa() — )+ (V)
090 (4) = (D(4)!/.3 — 41)/ 4 4034 (6) = L(4)!/.4/4 = sq(4)
3991 (6 = sa(d 4% — 413 4035 (4) = (C(!/ 4 -T(A)/ 4
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4105 (2) = \/v2" +4/1 4138 (6) = \/VA" +T(4) + sq(T(4))
4106 (0) = /A" 4 4/.4 4139 (6) = (S(is_ifsq(4))) +T(4)1)/s5q(4) - VA
4107 (4) = \/T(V) +T(T(4) + Vv 31?1(1] Eg; _ (sq(jll‘i) iﬁzx)!) /sq(4)
- 4 4142 (6) = (I'(4)! + sq(4) + sq(sq(sq(4))))/sq(4)
HOS(0) =V VA &4V 143 (6) = (sg(sa(sa(4)) + T())/s(8) + V1
4109 (8) = 4/T'(4) N + sq(sq(sq(4))) >> 4 4144 (0) = \/E-I-él! o
A0 (1) = (T} 4+ 4)/ 4 1145 (6) = (sq(sa(sa(4))) + T(4)!)/sa(4) +4
4112 (0) = \/va" +4-4 4147 (6) = V4% - (sq(4! - T(4)) — T(V4))
4113 (6) = (sq(T(T(4)) + T'(4)) + sq(4!))/4 4148 (6) = V4% - (sq(4!-T'(4)) +4)
an 4149 (6) = (sq(I'(I'(4)) + T'(4)) + T'(4)!)/4
4114 (4) = V4 +41-T(4) !
4115 (8) = sq(sq(sq(4)) +v4) —T(4)! >> 4 4150 (2) = v+ 41/.4
m 4151 (6) = sq(+/sq(4!) —4/.4) + sq(4))
4116 (0) = /4 +41—4 4152 (4) = T(4) - (T(4)! — 4! — 4)
4117 (6) = (sq(sq(sq(4))) + T'(4)!)/sq(4) — 4! 4153 (6) = (sq(sq(sq(4))) + sq(sq(T'(4))))/sq(4) —
S Al
8 (0) = VI 4= 4154 (6) = sq(d) - (sq(s4(4)) + 4) ~ T(@
4119 (4) = \/ V4 —T(V4) + 4! 4155 (6) = (sq(sq(4)) — T(vV4) + sq(4!)) /4%
4120 (0) = (4 +4)" + 4! 4156 (0) = 1/ﬂ4!+4!/_4
4121 (4) = \/ V42" + T(V3) + 4! 4157 (6) = (sq(sq(sq(4))) +T'(4)!)/sq(4) + sq(4)
@ " IV + 4158 (6) = sq(4) - (sq(sq(4)) +4) — /4
4122 (0) = VA + VA + 4! 4159 (6) = sq(4) - (sq(s¢(4)) +4) — T(vV4)
4123 (6) = (/' sq(£(4)!) —sq(T(4)Y) + sq(sq(sq(4))))/sqgl41)& ) = Vi + /v
124(0) =y VA +4+4 4161 (6) = sa(4) - (sa(sa(4)) +4) + T(v/3)
4125 (5) = \/T(VA) + T(T(4))/.4%/V3 4162 (6) = sq(4) - \(/s_q(sq(4)) +4)+ 4
1 4163 (8) = I'(4)!/V .4 + sq(sq(sq(4 4
4126 (4) = \/VA" +T(4) + 4! 4164 243 = FE4§ -/(F(4;r! —qz(L!q—( \q/%)))) 7
4127 (6) = sq(4) - (sa(sq(4)) + V4) —T(V4) 4165 (6) = (sq(sq(sq(4))) + T(4)!)/sq(4) + 4!
_ 4 4166 (6) = sq(4) - (sq(sq(4)) +4) +T'(4)
A28 () = I+ Vi 4167 (6) = (sa(T(T(4))) — sa(T(4)))/4+ sq(4)
4129 (6) = sq(4) - (sq(sq(4)) + v4) + T(V4) 4168 (6) = sq(4) - (sq(s¢(4)) + T(4)) — 4!
4130 (6) = (sq(4) + 4%)/.4% + T(I'(4)) 4169 (7) = sq(T(4)!/sq(4) + 41) ® T(4)!
4131 (6) = (T(4)!/-4 + s5¢(I'(4))) /-4 4170 (4) = T(4)!/.4/4 + T(T(4))
4132 (2) = \/va" + 4V 4171 (6) = (T(4)! — T(v4))/V4% + sq(4!)
o 4172 (4) = T(4) - (T(4)! — 41) — 4
4133 (6) = sq(T'(4)) + T'(v4) + 1/ V4 4173 (6) = (sq(sq(sq(4))) + sq(sq(T(4))))/sq(4)—4
4134 (6) = sq(4) - (sq(sq(4)) + V4) +T(4) 4174 (4) = T(4) - (T(4)! — 4!) — V4
4135 (6) = (sq(sq(sq(4))) + T'(4)!)/sq(4) —T'(4) 4175 (4) = T(4) - (T(4)! — 4!) - T(V4)
4136 (6) = sq(4) - (sq(sq(4)) + 4) — 4! 4176 (4) = 4-T(4)! + T(4)*
4137 (6) = (sq(sq(sq(4))) + ['(4)!)/sq(4) — 4 4177 (4) =T(4) - (T(4)! - 41) + T(V4)
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4350 (4) = (T(4)! — 41)/.4/ 4 4392 (4) = T(4)! - (4! + 4)/4
4351 (6) = sq(4) - (sa(sq(4)) + sq(4)) — T(V4) 4393 (6) = s¢(T'(4)) - (C(T(4)) + V4 + (V%)
4352 (0) = \/va" + 44 - VT
4353 (6) = sq(4) - (sq(sq(4)) + sq(d)) + T(vA) SO =YYV (AT
4354 (4) = T(4) - (T(4)! + T(4)) — V4 4395 (6) = (sq(sq(I'(4)) +T'(4)) —T'(4))/.4
1855 (4) = T() - (C(0)!+ T(4)) - T (v4) 4396 (4) = \/vA" + T(T(4))/.4

T 4397 (6) = (sq(sq(sq(4))) +T(4))/sq(4) +
4356 (0) = (\/ V4 +V4) sq(sq(4))
4357 (4) =T(4) - T(4)! +T(4)) +T(v4) 4398 (6) = 4! - sq(T'(4)/.4) + 4!
4358 (4) = T(4) - (T(4)! + T(4)) + V4 4399 (6) = sq(T'(L'(4))) — T(V4) — sq(4/4%)
4359 (8) = (sq(sq(sq(4))) +T(T(4)) >>4) + 4400 (4) = (4! + .4) -T'(4)!/4

5q(sq(4)) 4401 (4) =T'(4) - ([(4)/.4+T(4))
4360 (4) = T(4) - (D(4)! + T(4)) +4 4402 (6) = s¢(T'(T'(4))) — sq(4/4%) + V4
4362 (4) = T(4) - (T(4)! + T(4)) + T(4) 4403 (6) = (T(T'(4)) — T(v4)) - (sq(T(4)) + T(V4))
4364 (4) = T(4) - T(4)! + 44 4404 (4) =T(4) - (T(4)! —T'(4)) + [(I'(4))
4365 (4) = I'(4)!/.4/.4+T(4)! 4405 (6) = (sq(sq(T(4)) + T'(4)) — v4)/ 4
m _ 4406 (6) = sq(V4% +4)/.4% — 4
4366 (4) = \/v4~ +T(T(4))/4 4407 (8) = (sq(sq(T(T(4))) —= T(T'(4))) >> sq(4))+
4367 (6) = T(T(4)) - (s¢(T(4)) + 4) -~ T(vV4) sq(sq(T(4)))
4368 (4) =T(4) - (T(4)! +4+4) 4408 (6) = sq(vV4% +4)/.4% — V4
4369 (6) = (.4 - sq(sq(sq(4))) —.4)/T'(4) 4409 (6) = (sq(vV4% — 4 — .4%))/ 4%
4370 (5) = T(4) - T(4)! + V4/4% 4410 (4) = T(4) - (T(4)/ A + T(4)))
4371 (6) = (sq(4!/d) — V4)/V 13 4411 (6) = (sq(sq(T(4)) + T'(4)) + .4)/.4
4372 (6) = T('(4)) - (sq(I'(4)) + .4) + 4 4412 (6) = T'(4) - (T(4)! + sq(4)) — 4
4373 (6) = (sq(sq(4! —T'(4))) — 41)/4! 4414 (6) = sq(vV/4% +4)/.4% + 4
4374 (2) = V3 - (4/.9)" 4415 (6) = T'(4 + 4) — sq(sq(v/4/.4))
4375 (5) = (T(4)/ 4+ 4)/ A% 4416 (4) = 4!- (T'(4)!/4 +4)
4376 (6) = 4! - sq(T(4)/4) + V4 4417 (6) = T'(4) - (T(4)! + s¢(4)) + T'(vV4)
4377 (6) = (sq(4!/.3) + VA V1 4418 (6) = sq(4/4% —T(4))/v/4
4378 (6) = 4! - sq(T'(4)/.4) + 4 4419 (6) = (sq(sq(sq(I'(4)))) /4! + T'(4)!)/sq(4)
4379 (6) = (sq(sq(4! — T(4))) + [(T'(4))) /4! 4420 (5) =T'(4) - T(4)! + 4/4%
4380 (4) =T'(4) - (T'(4)! + 4/ .4) 4421 (6) = {/T(V4) + 4! + sq(sq(T(4)))
4381 (8) = sq(sq(sq(T'(4))))/4!+T(T'(4)) >> 4 4422 (6) = T'(4) - (T(4)! + sq(4)) + T(4)
4382 (7) = sq(vV4% +4)/ 4% © 5q(T'(4)) 4423 (7) = (sq(sq(sq(T(4)))) /4! & sq(sq(T(4))))/sq(4)l
4383 (6) = (sq(4!/4) +T(4))/V4 4424 (6) = (4! — 4)/.4% — sq(4!)
4384 (4) =T'(4) - (4!- 4+ T (9 4425 (5) = (T(T(4)) — V4)/V3/4%
— s 4 4426 (6) = sq(vV4% + 4)/.4% + sq(4)

4385 (6) = sq(L(VA) + sa(d) + V V4 4428 (4) = T(4) - (T(4)! — T(4) + 41)
4386 (4) = T(4) - (yT(v) + T(T(4)) +T(4)) 4429 (6) = (sq(sq(sq(4)) + sq(T'(4))) — sa(T(T(4))))/sa(4)l
4387 (8) = (4! +4) /4! >> /4 4430 (7) = sq(sq(T(4))) — V4 @ 4 - 5q(sq(T'(4)))
4388 (6) = sq(I'(4)) - (C(T(4)) + v4) — 4 4431 (7) = sq(sq(C(4))) = T(V4) @ 4 - 5q(sq(T(4)))
4389 (8) = sq(sq(sq(4)) +4/.4) >> 4 4432 (6) = 4 - sq(4! + 4) + sq(sq(T(4)))
4390 (6) = (T'(4)/-4% + sq(sq(4)))/ -4 4433 (6) = (sq(sq(sq(4))) + sq(sq(T'(4))))/sq(4) +
4391 (6) = sq(T(4)) - (T(T(4)) + v4) - T(V4) 5¢(sq(4))



4434 (4) = I(T(4)) — [(4) + T(4) - T(4)! 4474 (6) = sq(4) - (sq(sq(4)) + 4!) — T(4)

4436 (4) = T(4) - T(4)! + T(T(4)) — 4 4475 (4) = (T(4)! — 4)/.4/ 4

4437 (6) = (sq(T'(4)) + sq(44))/ 4 4476 (4) = T(4)!/.4/.4 — 4!

4438 (4) = I(4) -T(4)! + T(C(4)) — V4 4477 (6) = (T(V4) + T(T(4))) - (s¢(T(4)) + (V%))

4439 (4) = T(4) - T(4)! + I(T(4)) — ['(v/4) 4478 (6) = sq(4) - (sq(sq(4)) + 4!) — /4

4440 (4) = (T'(4)1/4—-4hH/ 4 4479 (6) = sq(4) - (sq(sq(4)) + 4!) — T(V/4)

4441 (4) = T(4) - T(4)! + T(T(4)) + T'(+v/4) 4480 (2) = 4/4- (4 + 4)!

4442 (4) = T(4) - T(4)! + V4 + T(T'(4)) 4481 (6) = sq((v/4 +41)/.4) + sq(sq(4))

4443 (6) = (sq(sq(sq(I'(4)))) —T(T(4)))/4! — 4482 (6) = sq(4) - (sq(sq(4)) +41) + V4
sq(sq(sq(4))) 4483 (8) = sq(T'(4)!/V4 >> 4) —T(4)

4444 (0) = 4444 4484 (6) = T'(4)!/.4/.4 — sq(4)

4445 (6) = sq(+/T(4) — 4%/4%) + T(4)! 4485 (4) = (T(4)!/.4 —T(4))/.4

4446 (4) = F(4) F(4)'+F( (4)) +T'(4) 4486 (6) = sq(4) - (sq ( q(4)) +4) +T'(4)

4447 (6) = (sq(sq(sq(T(4)))) —4h/4l — 4487 (8) = (T'(4)! — V4)/4% >> /4
sq(sq(sq(4))) . 4488 (4) = T'(4) - (T(4)! + 4! + 4)

4448 (4) = T(4)!- (4- 3+ T(4)) 4489 (6) = sq((4! +4)/.3 + 4)

4449  (6) = (sq(sq(sq(T(4)))) +4)/4! — 4490 (4) = (T(4)!/.4 —4)/ 4
sq(sq(sq(4))) 4491 (5) = (T(T'(4)) /4% — T'(4))/V 4

4450 (5) = (F(4)'/4 V4) /4% 4492 (6) = (sq(T'(4))/.4% — sq(4))//4

4451 (7) = sq(yT(4)! © 4!/.4) + T(vV4 4493 (8) = sq(T(4)!/V A >> 4) + 4

4452 (4) = T(4) - (T ( )! —f+4‘) 4494 (4) = T(4)!/.4/.4 —T(4)

4453 (6) = (sq(sq(sq('(4)))) +T(T'(4)))/4! — 4495 (4) = (D(4)!/.4 — V4)/ .4
R (6) 2 (sqlsald) + T0) D) 4oqty O —T@I/ar4 -4

= (sq(sq +5q 4497 (5) = (D(T'(4)) /4% Vi

4455 (6) = (4! + 4) - sq(T'(4)/.4) 4498 E4§ = i“(A(L)'(/ 21)//4 ff)/

4456 (4) = \/vVA" +T(4)/v4 4499 (4) = T(4)!/.4/.4 - T(V4)

4457 (7) = sq(T(4)!/sq(4)) ® 4 - sq(T(T(4))) 4500 (0) = (41/4)!/.4/ 4

4458 (4) = T(4) - (T(4)! + 4!) — T(4) 4501 (4) = ([(4)!/4+ 4)/ 4

4459 (8) = (sq(sq(T(T(4))) — vA) >> sq(4)) + 4502 (4) =T(4)!/.4/4+ V4
sq(sq(T'(4))) 4503 (5) = (D(T'(4))/4% + V4)/V 4

4460 (4) = T(4) - (T(4)! + 4) — 4 4504 (4) = T(4)!/.4/.4 + 4

4461 (8) = sq((T(4)! — sq(T'(4)))/4%) >> sq(4) 4505 (4) = (T(4)!/.4 + /4)/ 4

4462 (4) = T(4) - (T(4)! + 41) — /4 4506 (4) = T'(4)!/.4/.4+T(4)

4463 (4) = T'(4) - (T(4)! + 4!) — T(v/4) 4507 (8) = (sq(T(T'(4))) + 41)/vV4% >> 4

4464 (4) = T(4 + 4) — 41 - 4! 4508 (6) = (sq(T'(4))/-4% + sq(4)) /4

4465 (4) = T(4) - (D(4)! + 4!) + T(v4) 4509 (5) = (T(T'(4))/4% + T (4))/V 4

4466 (4) = I'(4) - (D(4)! + 4!) + V4 4510 (4) = (T(4)!/.4 +4)/ .4

4467 (8) = (sq(sq(T(T(4))) + sq(4)) >> sq(4)) + 4511 (6) = T'(4 + 4) — sq(4! — T'(\/4))
sq(sq(T'(4))) 4512 (4) = T(4) - (T(4)! + V4)

4468 (4) = T(4) - (T(4)! + 41) + 4 4513 (7) = sq(4! — T(v4)) & T(4 + 4)

4469 (6) = (sq(T'(4)!) +4)/(T(T'(4)) — 4) 4514 (6) = (T(T(4)) + v4) - (sa(T(4)) + T(v4))

4470 (4) = T(4) - (T(4)! + 4) + T (4) 4515 (4) = (T(4)!/.4+T(4))/.4

4471 (6) = (sq(sq(sq(4))) + 4!/.4%)/sq(4) 4516 (6) = T'(4)!/.4/.4 + sq(4)

4472 (6) = 4 - (s¢(sq(T(4))) + V4) — T(4)! 4518 (6) = (sq(T'(4))/-4% + sq(T(4)))/V4

4473 (7) = (sq(sq(T(4))) + 4@ T(4)!) /.3 4520 (4) = T(4)! - (T(4) + 4) — T(T(4))
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4521 (6) = (sq(sq(T(4))) =T(4))/ 4+ sq(sq(T(4))) 4571 (8) = \/sq(sq(4!)) << T(4)-T(v4)-sq¢(T'(4))

4522 (6) = (sq(T'(4)) + V4) - (T(T(4)) — T(V4)) 4572 (6) = sq(4)/ A% + sq(4!) — 4

4524 (4) = T(4)!/.4/ A+ 4! 4573 (8) = v/3q(sq(a)) << T(4)+T(v/4)—sq(T(4))

4525 (4) = (T'(4)! +4)/.4/.4 4574 (6) = s5q(4)/ A% + sq(4)) — V4

4526 (6) = (sq(4) — V4%)/ 4% + sq(4!) 4575 (5) = (T(T(4)) + v4)/V.3/4%

4527 (6) = (sq(sq(T'(4))) +L(4)! —4)/ 4 4576 (4) = T'(4) - T(4)! + 4*

4528 (6) = T'(4+4) — /sq(4) 4577 (6) = (sq(4) + A%) /4% + sq(4!)

4529 (6) = sq(4! — T'(v/4)) + sq(4)/.4% 4578 (6) = sq(4)/.4% + sq(4!) + V4

4530 (5) = (I'(4)!/4% + T'(T'(4)))/4 4579 (6) = (sq(sq(sq(4)) + sq(4)) —T(4)1)/sq(4)

4531 (6) = (sq(sq(T(4))) — vV4)/ 4+ sq(sq(T(4))) 4580 (6) = sq(4)/.4% + sq(4!) + 4

4532 (6) = T'(4) - (s¢(T(4)) + T(4)!) — 4 4581 (6) = (sq(T(T(4)))/ V4% + sq(sq(T(4))))/sq(4 )

4533 (8) = (sq(sq(T(T'(4)))) >> sq(4)) + 4582 (6) = sq(4)/.4% + sq(4!) + T'(4)
sq(sq(I'(4)) + T'(v4)) 4583 (8) = v/sq(sq(d)) << T'(4) — T'(v/4) — 4!

4534 (6) = T'(4) - (sq(T'(4)) + T(4))) — V4 4584 (4) =T'(4) - (T'(4 )' + 44)

4535 (6) = I'(4) - (sq(T'(4)) + T(4))) —~T(V4) 4585 (7) = (sq(4!) —T'(4) @ sq(sq(I'(4))))/ -4

4536 (4) = 4-T(4+4)/4 4586 (6) = (sq(4) + 4%)/.4% + sq(4!)

4537 (6) = (sq(sq(T'(4))) + 4)/.4 + sq(sq(T'(4))) 4587 (8) = (sq(4!) +4) - sq(I'(4)!) >> s¢(4)

4538 (6) = T'(4) - (sq(T(4)) + T(4)") + V4 4588 (6) = sq(4! + 44) — sq(T'(4))

4540 (5) = ['(4 +4) — V4/.4% 4590 (4) =T(4) -T(4)! + T(T'(4))/ 4

4541 (6) = (s¢(5q(T(4))) + V4) /.4 + sq(sq(T(4))) 4591 (6) = sq(sq(4!)) — sq(sq(4!) — 4) - T(V4)

4542 (6) = T'(4) - (sq(T'(4)) + T(4)!) + '(4) 4592 (eg =4. ((\/(Z )s)q(4!) (—4() ) ) i

4543 (6) = (sq(sq(sq(4)) + sq(4)) — sa(sq(T'(4))))/sa(4)B593 (6) = sq(sq(4!)) — sq(sq(4!) — 4 + r

4544 (6) = sq(4) - (4-T(4)! — 4) 4594 (6) = sq(+/T(4)! + sq(4)/.4) —

4545 (6) = sq((4! +4)/.4) +);1(4!) salT) 4595 (7) = (sq(4!) — fea sq(sq(T'(4 ))))/ 4

4546 (6) = (sq(sq(T'(4))) +4)/.4 + sq(sq(T'(4 _ 41

4548 (6) = (sq(4 - 41) — T(T(4)))/V4 4596 (5) = v f_* Vi A% et

4549 (7) = (sq(T(T(4)))/VA% @ sa(sa(T(4))/sq@ 4397 ®) = Vsa(sq(dh) <<T(4)

4550 (5) = (T(4)1/4 + v3)/4% V/T(v/4) + T(T(4))

4551 (6) = (sq(sq(sq(4)))/-4 — 4)/sq(T'(4)) 4598 (6) = sq(/T(A) + sq(4)/.4) — V4

4552 (6) = sq(4)/.4% + sq(4!) — 4! 4599 EG; — sq(T(T(4))) — sq(44/3)

4554 (6) = T(I'(4)) - (sq(T'(4)) + v4) — T(4) 4600 (5) = (T(4)1/4 + 4) /4%

4555 (8) = sq(I'(T'(4))/4) —T(4) >> 4 4601 (6) = sq(\/TT+ sq(@)/.4) + ()

el e o I S i () =l o)1)

= 4603 (8) = /sq(sq(4)) << T(4 4

4558 (6) = T(D() - (sa(T() + V) — V7 ot ) = yslea e << T~ VA

4559 (6) = 4- 5q(sq(T(4))) — sq(sq(v'4/4)) 4605 (6) = (sq(4- 41) — T(4))/v4

4560 (4) = (T'(4)!/.4+41)/ 4 4606 (4) = T(4)! - (T(4) + 4) — Vi

4561 (6) = [(D(4)) - (s¢(T'(4)) + v4) + T(v4) 4607 (4) = T(4)! - (T(4) + .4) — T(v/4)

4562 (6) = T(T(4)) - (sq(T(4)) + V4) + V4 _ 4608 (0) = (4+4)-4!-4!

4563 (6) = sq(sq(T'(4)) + T(T'(4)))/(T(4) — V'3) 4609 (4) = L(4)! - (T'(4) + .4) + D(V4)

4564 (6) = (['(4)!/4% + sq(sq(4)))/4 4610 (4) = T(4)! - (T(4) + .4) + V4

4565 (6) = (sq(V/VA/4%) + sq(41))/.4 4611 (6) = (sq(4- 41) + [(4))/v4

4566 (6) = (sq(4) —4%)/.4% + sq(4!) 4612 (4) =T D! (T(4) + 4) +4

4568 (6) = sq(sq(4!)) — sq(sq(4!) — 4) — 4! 4613 (8) = \/sq(sq(4!)) << T(4) +4/.4

4570 (5) = T(v/4)/.4% + T(4) - T (4)! 4614 (4) = T(4)!- (T(4) + 4) + T (4)
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4615 (6) = (sq(T'(T'(4 4)) — = _
1616 4) = (o oo e ) = (- satsr it
4617 (6) = (sq(sq(T'(4))) + T(4)! + sq(T'(4)))/.4 4668 (6) = I'(4) : (s (Z, f 1) r(4))'
4618 (6) = sq(4! + 44) —T'(4) 4669 (6) = (sq(s (sq(4}) + 5g(4)) + T(4)!
4619 (8) = (sq(sq(4!)) +T(4)! >> I'(4)) — sq(4!) 4670 (6) = (sg(sg(l‘q(zi))) + 2324)!)) 1L4)(/ )4.)/sq(4)
4620 (4) = T'(4)!/.4/.4+ T(T'(4)) 4671 (6) = (T'(4)/.4% + sq(4!))/ 4
4621 (7) = 5q(1/5q(T(4)) + T(4)!/.4) ® T(T(4)) ,
4622 (6) = sq(4! + 44) — /4 4672 (0) = /A" +41-4!
4623 (6) = sq(4! + 44) — (V4 _ !
1694.(0) = AT ) 4673 (6) F(\/Z)'+ sq(dl) +1/va'
4625 (6) = sq(4! + 44) + T (V) 4674 (6) = \/ VA" + sq(4!) + v
4626 (6) = sq(4! + 44) + V4 4675 (6) = (sq(4!) — V4 + sq(s¢(T(4))))/ 4
igg; Egg = (s%ifq(sZigl))) —L(4)1)/sa(4) + sq(4!) 4676 (6) = sq(v/4 +41) + sq(4)/.4%

= sq(4! + 4 _ !
1630 (6) — ol 4 46 + T(4) tors (2) = VVA" 4+ sq(4) +T(4)
4631 (6) = 41/.4% — sq(sq(T(4)) + T(v/)) (6) = (sa(sa(T(4))) + sq(4D)/ 4 - T(v4)
4632 (4) — D(4). - (T(4) 1 .4) 4 41 4680 (4) = T'(4)!/.4+4-T(4)!
4633 (6) = sq(sq(4/.3) — 4) — sq(sq(T(4))) 4681 (6) = (sq(sq(T(4))) + sq(4!) +4)/.4
4634 (4) = T(4)! - (T(4) + 4) — T(4) 4682 (6) = (sq(sq(T'(4))) + sq(4!))/-4 + V4
SRR 8= )
4 = 1 = (sq(sq +sq(4!) +v4)/ 4
423575 §i§ - ?q(gf F((if)(l{)‘f E)SE(%F(4))) >>4 4686 (6) = (sq(sq(T(4))) + sq(41))/.4 + T(4)
4639 (4) = T(4)! - (T(4) + 1) — T(vV) 4687 (8) = T(I'(4))/ 4/ 4% >> 4
4640 (4) = T(4)! - (V4 + 4.79) 4688 (6) = I'(4) - sq(4! + 4) — sq(4)
4641 (4) = T(4)! - (T'(4) + 4) + T(V4) 4689 (6) = sq((4! +4)/.4) +T(4)!
4642 (4) = T(4)!- (T(4) + .4) + V4 4690 (6) = ('(4)!/.4 + sq(sq(4)))/ -4
1643 (8) = +/5a(5q(@)) << T +5¢T@)-T(VE)  gons (6) = T(4) - (sq(4! + 4) — V4)
4644 (4) = T(4)! - (T(4) + ) + 4 4694 (6) = (4! — 4%)/.4% — sq(sq(T (4)))
1645 (8) = \/sq(pa(@) << T(W+sqT()+T(vD) 020 (0) = (salsa(T)) +sa(d) + T()/ 4
4646 (4) = T(4)!- (T(4) + 4) + T (4) 4696 (4) = T(4)! - T(T(4)) + /v4"
4648 (6) = sq(4! + 44) + 4! 4698 (6) = I'(4) - sq(4! + 4) — T'(4)
4649 (7) = sq(sq(T'(4)) + T(V4)) @ 4!/.4% 4700 (6) = T'(4) -sq(4! +4) — 4
4650 (4) = (T(4)!+4)/.4/.4 4701 (6) = sq(+/sq(T(4)) + T'(4)!/.4) — 4!
4651 (8) = sq(T(T(4)) + v4)/VA% >> 4 4702 (6) = T(4) - sq(dl +4) —vA
4652 (7) = T(4) - T(4)! @ T(4)! — 4 4703 (6) = T(4) - sq(4! + 4) — T(/)
4653 (8) = /sq(sq(4!)) << T(4) +T(4)!/s9(4) 404 (4) = T Y
4654 (6) = (sq(T(T(4)) + sq(4)) + T(T(4))) /4 (4) =T(4) /(4 +4)
4655 (6) = 4 - sq(sq(T'(4))) — sq(4! — T(v/4)) 4705 (6) = T'(4) - sq(4! + 4) + T(V4)
4656 (6) = I'(4 +4) — 4! sq(4) gog (6) = T(4) - sq(4! +4) +v4

4 =S l— s

4657 (6) = \/T(V4) + sq(4)r( T sq(sq(4)) 4788 EQ = Fq(EL) -1:‘9q4()4‘! +4q)(£(i))/'4) erey
4658 (7) = ['(4)! + VA ® T(4) - T'(4)! 4709 (6) = sq(v/sq(I'(4)) + T'(4)!/.4) — sq(4)
4660 (6) = sq(4! + 44) + sq(T(4)) 4710 (6) = I'(4) - sq(4! + 4) + I'(4)
4662 (6) = (4 — .4) - (sq(sq(T'(4))) — ['(V4)) 4712 (6) = (Sq(4/4%)r_ sq(41))/v/4
4664 (4) = T(A)!- (T(4) + 4) + 4 4713 (8) = (VA+4)"" >> sq(4)
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4714 (6) = sq(4)/4% +T
4716 (6) = sq(4)/. 4%IFE g 5(4) 4760 (4) = T(4)! - (T(4) + 4) + T(T'(4))
4717 (6) = (sq(sq(sq(4))) + T(4)!)/sq(4) + sq(4! 4761 (6) = sq((4!+4 - 4)/.4)
4718 (6) = T(4)! — V4 + sq(4)/.4% q(4) + sq(4)) 4762 (6) = sq(T(4)!/sq(4) + 4!) + (V4
4719 (6) = (sq(4) — .4%)/-4% +FE 4)! 4763 (6) = sq(I'(4)!/5q(4) + 4!) + \/(Z 4
4720 (4) = T(4+4) — 4-T(4)! 4764 (6) = T(4)!- (V.4 +T(4))
4721 (6) = (sq(4) + 4%)/.4% + T(4)! 4765 (6) = sq(T(4)!/sq(4 )+4')— s4q(r(4))
4722 (6) = sq(4)/.4% + T(4)! + V4 4766 (6) = V4 - sq(sq(T'(v4) + y
4723 (6) = sq(\/sq(T(4)) + T(4)!/.4) — V4 4767 (6) = sq(T'(4)!/sq(4) + 4! (r))) —5¢(T(4))
4724 (6) = sq(d)/ A% + T(4) +4 4768 (6) = T'(4 + 4) — sq(sq(4 ))+ o
4725 (4) =T (4 + )/(\/—+ 4) 4769 (7) = I‘(\/AI) + sq(4!) 29 T4 ;Sg( )
1810 = % 3T 1 mi e
4728 (4) - f“%gi) (g;é(l))) )( ){1“4()+f 4772( )=l Z,(sq(4))) ['(4)!)/sq(4) + T (4)!
4729 (6) = sq(y/sq(T(4)) + T(4)!/ 4 ") by VA sa(Vi+ 4y
i;g? Eg; = (sq(4 )+4%)/ 4% +T'(4 ))'+ 4775 28 - flg? )'F '(I;FM) ?;qu)
— sq(+/5q(T = — sq(4! = I( 4%
1752 (6) = o VA ey D 170 (0~ PO T
4734 (7) = sq(sq(T(4))) — VA & 41. i<7)) ﬂ; (6) = sq((4! — 4)/.4) + sq(s¢(T(4)))
4735 (6) = (sq(sq(sq(4))) — sq( (6) = [(4+4) — T(4) — sq(sq(4))

T (4)! a(sq(T(4)))/sq(4) + 4779 (6) = (sa(sa(T(4))) + T(T(4)))/V 4/ 4
4736 (6) = (4+4) - (sq(4!) + sq(4 )) 4780 (5) = (4! — v3) /A% —T(@)! X!
ggg Eg; i? ((( )!/sq(4) +41) — F(i)781 (8) = sq(sq(4!) — s¢(T'(4))) + sq(P(T'(4))) >>
4740 (4) = T(4 inLS)Q( 1)“)(1“(4)()/) )4>> s 4782 (6) = T(4 +4) - sq(sq(4)) - V4
110 =l alT0) 4 T + s ) ST ) T

= /sq(sq(4! = 4
4743 (8) — nloatd (861) )+(f/q§)) Zv)< T'(4) +r(4) 1;85 (6) = (sq(4) -T(T'(4)) — T(4))/.4
P O SRR V221 s (o) = T L) ) AN
=35 (]_" 1/s s B +4- ( 4
4746 (6) — Fq( )(S)q{mq)( ) F+( ;u)+ sq%gz;)(r(m) 4790 (5) = T'(4 +4) — (V4 \/8_4)/33((% )

F(%? ® = (q(sa@TE@)) >> sg@)/ VT + (4) = VA" +T(2) -4
ATAS (6) = T(4+4) — _ 4793 (6) = \/T(V4) +s¢(4) T
4749 (6) = sq sq(p(f)q)(iq(r)) /ff(+( 9 4704 (4) = T(4)! - (VI + T(4)) - re
4750 (5) = (4! — V4/.4)/ A% 4795 (6) = (sq(4) - T(L(4)) —))ﬂ)/F (44)

4751 (6) = T(4 + 4) — sq(T(v/3) + sq(4) 4796 (4) = T(4)1- (VA + T(4)) -4
4752 (4) =T (4 +4) — .4-T(4)! 9(4)) 4797 (6) = sq(l"(4)!/(;q(4) _+(_ i,) —4
4753 (6) = sq((sq(sq(4)) + sq(T'(4)))/4) — sq(4! 4708 (4) = ()1 - (VI )+ sq(T'(4))
4754 (6) = (VA% -+ 41) 4% — sq(sq(T(4 sq(4!) 4799 (4) — (4 ; \/-:+1“(4)) — V4
ggg 223 — sq(T() sq(d) 4 41) 3(4)( )) 1500 (4) — ( 4(4)_.-4() .1:1(11:(1531)) —T(V4)

=T '
4757 (6) = s q(( )! (/ )4‘;;; zr ;i(iq'§4l)4 4801 (4) = T(4)!- (VA +T(4)) + [ (v4)
4758 6) = (0l 3) 4 stea(4)/ 3 1505 () = T marirt L)’

— 5q(T(4)!/sq(4) +4) — V1 = (V.4-35q(L(I'(4))) + T'(4

) — V4 4804 (4) :I‘(4)!,(\/z+r(4))+i))/\/1
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4805 (6) = (sq(4) -T(T'(4)) + V4)/.4 4846 (6) = sq(44)/.4+T(4)
4806 (4) = T(4)! - (VA +T(4)) + T (4) 4847 (6) = 4!- 5¢(sq(4)) — sq(s¢(T'(4))) - T(V4)
4807 (8) = (sq(sa(sq(v4/.4))) >>T(4)) — 4848 (6) = [(L'(4))- (sq(4)/-4 + 4)
sq(sq(T'(4))) 4849 (6) = sq(4! —T'(v4)) +T(4) - T(4)!
4808 (6) = I'(4 + 4) — sq(sq(4)) + 4! 4850 (5) = (T'(V4)/.4% +T'(4)") /4%
4810 (4) = \/ VA" —~T(4) + T(4)! jgg; Egg _ 24 « 4,‘%)) +sfig(4)) F(v4)
4812 (4) = \/vA" +T(4)! — 4 4854 (6) = (sq(sq(C(4))) /.4 — 4)/V 4
4813 (8) = (sq(sq(sq(4))) — sq(r(4)) >>4)+T(4)! 4855 (6) = (sq(44) + T'(4))/.4
_ 41 4856 (6) = sq(44)/.4 + sq(4)
AR 1357 (6) = (sq(sa(T(4))/ 4 — Vi)V
4815 (4) = T(4)! = T(V4) + \/ 4858 (6) = sq(s ( (4)))/V3)4—/4
4816 (0) = /va" + (4,/4) 4859 (6) = sq(sq(T'(4)))/V4/.4 —T(\/4)
4860 (4) = r(4+4) T(4)!/4
4817 (4) = T(V4) +T(4)! + 1/ V4 4861 (6) = (sq(sq(T(4)))/V A+ 4)/ 4
4818 (4) = ﬂ4'+ ( )M+ VA 4862 (6) = sq(sq(T'(4)))/V 4/ 4+ V4
4819 (6) = (sq(sa(sq(4)) + 41) = sq(sq(T(4))))/sq(4) 4863 (6) = (sa(sq(T(4)))/ 4+ V4)/V'2
4820 (4) = \/414'+1“(4)'+4 4864 (6) = s (44)/4+4‘
- : 4865 (6) = (sq(sq(T(4)))/V A+ V4)/ 4
4822 (4) = \/VA" +T(4) + T(4)! 4866 (6) = (sq(sq ( ( 4)))/A+4)/V1a
4823 (8) = (sq(T'(4)!/4%) >> sq(4)) — T(T'(4)) 4867 (6) = V4% (sq(sq(T'(4)) + [(T(4))) — T(V4))
4824 (4) = T(4 + 4) — /T(4)'@ 4868 (6) = V4% - (sq(sq(T'(4)) + T(T'(4))) + 4)
4825 (6) = (sq(44) — T(4))/.4 4869 (6) = (sq(sq(T'(4)))/.4 +T(4))/vV 4
4826 (6) = (T'(V/4) + sq(4))/.4% + sq(4!) 4870 (6) = (sq(sq(T(4)))/V 4 +4)/ .4
4828 (7) = T'(4) - T(4)! & sq(4!) — 4 4871 (6) = sq(+/sq(4!) — 4/.4) + sq(sq(T'(4)))
4829 (6) = sq(sq(T(4)) —D(V4)/Va% — 4872 (4) = (T(4)! —4!) - (T(V4) + T (4))
sq(sq(T'(4))) 4873 (7) = (sq(sq(sq(4)) +4!) & L(4)!)/sq(4)
4830 (6) = (sq(44) — 4)/.4 4874 (6) = (sq(sq(4)) + T(4)!)/vV4% — T (4)
4831 (7) = sq(4!) — T(v4) @ T(4) - T(4)! 4875 (5) = (T'(4) /4 + T'(4))/ A%
4832 (6) = sq(4) - (T(C(4))/-4 + V4) 4876 (6) = sq(T'(4)) + sq(44%/4;1
= sq(s !
oy ) = st T 4877 (6) = /T(VA) + 5q(d)  — sq(T(4))
4835 (6) = (sq(44) — V1), 4 4878 (6) = (sq(sq(4)) + T(4)! — .4)/V4%
4836 (6) = sq(44)/.4 — 4 4879 (6) = (sq(sq(4)) + T(4)!)/vV4% — T (V4)
4838 (6) = sq(44)/.4 — \/4 4880 (5) = (4! —4)/.4% — T'(T'(4))
4839 (6) = (s (4 4) — .4%)/.4% 4881 (6) = sq(I'(4)!/sq(4) + 4!) + T(T'(4))
4840 (0) = 44V%/ 4 4882 (6) = (sq(sq(4)) +T(4))/V4% + V4
4841 (6) = (sq(44) + 4)/ 4 4884 (6) = sq((4! +4)/.4) — sq(4)
4842 (6) = sq(44)/.4 + V4 4885 (6) = (sq(s¢(4)) + T(4)! + T (v4))/V4%
4843 (7)) = (sa(sq(sq(4))) +vA)/T(4) @ 4886 (6) = (sq(sq(4)) +T(4)")/V4% + T'(4)
sq(T(T(4))) 4887  (6) = (sq(I'(T'(4))) —sq(I'(4)))/4 +
4844 (6) = sq(44)/.4 + 4 sq(sq(F(4)))
4845 (6) = (sq(44) + /4)/.4 4888 (7) = 4 - (sq(\/VA/4%) @ sq(T'(4)))
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T'(4)

4889 (6) = 1/T'(V4) +sq(4)  —4!
4890 (5) = ['(4 +4) — T'(4)/4%
4891 (6) = (T(4)! — T(v/4))/ V4% + sq(sq(T(4)))
4892 (6) = I'(4) -T'(4)! + sq(4!) — 4
4894 (6) = sq((4! +4)/.4) —T'(4)
4895 (6) = sq(4!) — T'(v/4) + T'(4) - T(4)!
4896 (4) = T'(4+4) —4!-T(4)
T'(4
4897 (6) = /T(V4) + s¢(4) Y sq(4)
4898 (6) = sq((4! +4)/.4) — V4
4899 (6) = sq((4! +4)/.4) — T(V4)
4900 (0) = /@A + 4)/ 4"
4901 (6) = sq((4! +4)/.4) + T(vV4)
4902 (6) = sq((4! +4)/.4) + V4
4903 (8) = (sq(sq(T'(T(4)) +4)) >> sq(4)) +
(sq(I'(4)))
4904 (6) = sq((4! +4)/.4) +4
4905 (6) = sq(T'(4)/4%)/4 — T'(4)!
4906 (6) = sq((4! +4)/.4) + F(;L)
I'(4
4907 (6) = \/T(V4) +s¢(4)  —T(4)
4908 (6) = ['(4) - (T(4)! + V4) + sq(4!)
I'(4
4909 (6) = 1/T(v/4) + sq(4) () —4
4910 (6) = (sq(sq(4) — V%) ;4;1)/4%
4911 (6) = \/T(V4) + sq(4) — /4
4912 (6) = T'(4 4+ 4) — sq(slqgil))) /4
4913 (4) = \/T(vV4) +4-4
4914 (4) = T'(4 + 4) — T(T(4)) — T'(4)
T'(4
4915 (6) = 1/T(V/4) + sq(4) w + V4
4916 (4) = T'(4 +4) —T(T(4)) — 4
T'(4
4917 (6) = \/T(vV4) + sq(4) v +4
4918 (4) = T(4+4) —T(T'(4)) — V4
4919 (4) = T'(4 + 4) — T(V4) - T(T'(4))
4920 (4) = T(4 +4) — (v/4/.4)!
4921 (4) = T(4 +4) —T(T'(4)) + T(V4)
4922 (4) = T(4 +4) —T(T(4)) + V4
4923 (8) = (sq(sq(4!)) — sq(T(T'(4))) >>T(4)) —
(T'4)
4924 (4) =T(4+4) —T(T(4)) + 4
4925 (6) = (sq(v/v/4/4%) + T(4)))/.4
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4926 (4) = T(4+4) —T(T'(4)) + T(4)
4927 (6) = 4 - s¢(sq(T(4))) — T(v'4) — sq(sq(4))
4928 (4) =(4)!- (T(4) + .4+ 4)
r'(4)
4929 (6) = \/T(V4) +sq(4)  + sq(4)
4930 (6) = (sq(T'(4)) + sq(44))/ 4
4932 (6) = (sq(sq(4)) + sq(44))/ 4
4934 (6) = 4 - sq(sq(T'(4))) — T'(v4)/.4%
4935 (8) = sq(T'(4)!/4% — sq(4)) >> sq(4)
4936 (4) = \/ VA" + T(4)! + T(T(4))
I'(4
4937 (6) = \/T'(V/4) + sq(4) Y + 4!
4938 (7) = I['(v/4)/ 4% & T'(4 + 4)
4939 (8) = (sq(T'(4)!/4%) >> sq(4)) — 4
4940 (5) = (4 + 4) — 4/4%
4941 (6) = (D(4)!/.4 + sq(4!))/.3
4942 (7) = sq(sq(4)) — VA® (4 + 4)
4943 (7) = sq(sq(4)) —T(v4) ®T(4 +4)
4944 (4) =T(4+4) —4 - 4!
4945 (6) = sq((V4+4!)/.4) + T (4)!
4946 (8) = sq(T'(4)!/4% + 4) >> sq(4)
4947 (8) = (sq(T(4)!/4%) >> sq(4)) + 4
4948 (6) = (sq(I'(I'(4)) + sq(4)) + sq(sq('(4))))/4
4949 (6) = (4% +4) - sq(sq(T(4)) — T(V4))
4950 (5) = (4! — 4 — V4%) /4%
4951 (6) = (sq(sq(sq(4))) + sq(T'(T'(4))) — T(4)!)/sa(4)l
4952 V4 - (sq(v/4/4%) — 4))

4953 sq(T(4)!/VA >> 4) T (4)!
4954 T(V4)/.4% /4% — sq(sq(T(4)))
4955 ((sq(sq(T(4))) @ T(4))) — V4)/.4
4956 T'(4) - sq(4!) + T(4)/.4%

4957 sq(T(4)!/4% +41) >> sq(4)

—~
»

L=}

—~
»

¢(T(4) ®T(4))/4 - V4

(6)

(8)

(6)

(7)

(6)

(8)

(7) (
4959 (6) = ['(4 + 4) — sq(4/.4)
4960 (4) = T'(4)!- (T'(4) + .4 + 4)
4961 (6) = sq(sq(4/.4)) — sq(sq(4)/-4)
4962 (7) = (sq(sq(T(4))) @ T(4)) /.4 + V4
4963 (8) = (sq(sq(4!)) — sq(T(T'(4))) >>T'(4)) +4
4964 (6) = (4! — 4)/.4% — sq(T'(4))
4965 (7) = (sq(sq(T'(4))) + VA& T (4)))/.4
4966 (7) = (sq(sq(T(4))) ® T(4)!)/.4 + T'(4)
4967 (8) = (sq(T'(4)!/4%) >> sq(4)) + 4!
4968 (4) = T(4)!- (4/d+T(4))
4969 (6) = sq(sq(T(4)) + T(V4)) + T(4)!/ V4%
4970 (5) = (4/.4% —'(4))/vV4%



4971 _
4972 ((2)) :_((:q( (4)!/4%) >> sq(4)) @
4074 (6) = (q(sq(sq(4))) L (T sq(I'(4 )) 5018 (4) =
4975 (6) = sq(sq(4! = I'(4))) + sq(T D)/sq4) - 5020 4) =T(d+4)+vi-4
) sq(VA + 4 — 4%/4%) g(T(T'(4 ))))/41 021 Eﬁg = F(4\—/k4)+744|
976 (4) = T'(4 - 5022 i 5q( %/4%)
P I
T(4)) - sq(4) sq(T(v4) +T(T'(4 5024 (4) =T(4 + - T(v4) - Sq(4)
1979 (8) = (Sq(F)( 4)!/4% @) e 0= FE4 ) Lo
980 (4) = T'(4 + 4) :’) >> 5q(4)) + sq(T'(4 5026 (4) = (T'(4 4)-T4)/4
4981 (6) = sq(\/# ) 5028 (4) = T'(4 + N —V4) - (T(V/4) + T4
1382 (6) = (sq(4/4;,)(_)) T(4)!/.4) + sq(sq(4)) 5029 (4) = T(4 + Y-t ’
4983 (8) = (sq(sq(4!)) — Zq< 4))/V4 5030 (4) = (4+4) = \/ I'(v4) +T(T
84 (6) = (4! — ¢(T(T(4) >> =0 ) =T(4+4)—4/.4 (T(4))
4986 (4) = T(4 + i)/ A%~ 2a(4) r) 5035 (4) =T(4+4)-4/4
B
4990 g _ gi /4% - 4) /fo >>T(V/1) 5034 (4) = F(4J+ri8 :Z'(/i) ~T(V4)
1992 54) Y 4; sq(FEﬁ/Z) +T(4)) o EZ; = ;(4' +4)/4) —4
6) =T(4)-( : =T@+4)—/4/2
4994 (5) = sq(sq(4)) + s 5038 (0) = 4/.4
it )= L T e i
4996 (4) = 1‘(4+;7)°)/ 4% /V4% 2830 (0) = (44/4 — 4)! /4
4997 (6) = (sa(4/4%) — iy = TaT AL
005 o4y = (oo e (o (0) = (44 9)/4)! + V4
199 (5) = (11 - )TV 1) i () = JATTAT Y
00 — 0 0) 0) =
200 ggg = E4/ 4)4 /v 5045 (43 _ E}% /z +)/1“4)i +4
5002 (5) = (4! )7 4‘{7%)/ 4% 2833 (4) =T(4+4 )+(4‘744)
3003 (6) = (s4(4/4%) i}r(‘[ 5048 Ei) =T(V4) +T(4+4) +T
5004 (4) = T(4 +4) — 1))/v4 5049 (43 =T{A+4)+4-+4 @
5005 (5) = (T (\/—) o 11(4) 5050 (4) : F(4+4)+4/4
o e iy
005 (6 = a0 TV @ 40T D) 5062 (8) — 4/ A+ T+ e
= S¢S 4) =
5010 (4) = F(El i(i/ ) — sq(sq(4)) — sq(sq(T 5055 (43 _ gi )!+V4) - (T(V4) +T(4
5011 (7) = sq(T( ) — 41 —T(4) ¢(T(4))) 5056 (4) =T )/ A+T(4+4) )
5012 (4) = 1“(4+£ (f) ST+ 4) 5057 (6) = FE‘\*/W_L 4)+4-4
5013 (7) = sq(T(4) 5058 (4) = T(4 ) +T(4 + 4) + sq(4)
5014 (4) = T(4 + 4) (\/_) o4 +4) 5060 (4) = T +4) - F(4) + 4!
5016 (0) = ((4,+4)/41:(\/—) 41 5062 (4) = Fq(gfq(‘*/ 4)) - T(4)/4%
5017 (4) = T'(v4 ) =4l 5063 (4) = 4! — +4) = VA+4l
(v4) -4 4T ) =4 -T(V4
(4+4) 5064 (0) = I(V4) +T(4+4)
5065 (4) = (F({'/JI 4)/4)! + 4!
4)+4!14+T(4+4)
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5066 (4) = ['(4 +4) + V4 + 4!

5068 (4) = T(4+4) +4!+4

5070 (4) = T(4+4) + T(4) + 4!

5071 (6) = sq(/I'(4) + 4%/4%) + sq(sq(T'(4)))
5072 (4) =T(4+4)+ V4

5073 (6) = sq((sq(sq(4)) + sq(I'(4)))/4)—sq(sq(4))
5074 (6) = sq(T'(4)) — V4 +T(4+4)

5075 (6) = sq(T'(4)) — T'(V4) +T'(4 + 4)

5076 (4) = /T(@) +T(4+4)

5077 (6) = sq(T(4)) + T(v4) +T(4 + 4)

5078 (6) = sq(T'(4)) + V4 +T(4 + 4)

5079 (6) = (sq(sq(4)) — [(vV4))/4% — sq(sq(T(4)))
5080 (6) = sq(4)/.4 + (4 + 4)

5081 (7) = sq(sq(T(4)) + T(v4)) ® .4~ sq(T(T'(4)))
5082 (4) = (C(4)! +T(4)) - (C(v4) +T(4))

5084 (4) = ['(4 +4) + 44

5085 (6) = I'(4)!/sq(4) + (4 + 4)

5086 (6) = 4- (sq(sq(T'(4))) —4!) — V4

5087 (6) = 4- (sq(sq(T'(4))) —4!) — T(V4)

5088 (4) = 4- (D(4)* —4!)

5089 (6) = sq(I'(v4) +T'(4)) + (4 +4)

5090 (5) = v/4/4% + T'(4 + 4)

5092 (6) = 4 - (sq(sq(T'(4))) —4!) + 4

5004 (4) = 4!/ 4+ (4 + 4)

5006 (5) = \/ VA" +4/.4%

5098 (6) = sq(sq(4))/4% — sq(sq(L'(4))) — T'(4)
5099 (6) = (sa(sa(4)) — V4%) /4% — sa(sa(T'(4)))
5100 (4) = ['(4 +4) + 4!/ 4

5102 (6) = sq(sq(4))/4% — sq(sq(T(4))) — V4
5103 (6) = (4! +4) - sq(T'(4)/.4)

5104 (4) = 44 - ([(T(4)) — 4)

5105 (6) = (sq(sq(4)) +4%)/4% — sq(sq(I'(4)))
5106 (6) = sq(sq(4))/4% + V4 — sq(s¢(T'(4)))
5108 (6) = sq(sq(4))/4% — sq(sq(T'(4))) + 4

5109 (6) = (sq(sq(4)) + V4%) /4% — sq(sa(T(4)))
5110 (5) = ( V¥4 - V4)/V4%

5111 (6) = (sq(sq(4!)) — sq(V4/.4%))/sq(4)
5112 (4) = /(4! = T(4)'™ — ()

5113 (8) = (sq(sq(4!) — 4) >>I'(4)) + I'(V4)
5114 (5) = Y¥/4/V4% - T'(4)

5115 (5) = (V¥4 -T(V/4))/vV1%

5116 (5) = V/4/V4% — 4

5117 (6) = sq(sq(4/4)) — sq(sq(T(4)) +v4)
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+ sq(4)) >> sq(4))/VAR
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5205 6) = salsalT () + TVD) —salsa(4)/ V278
_ T(4+4) =4 (sq(sq(T(4))) + 4
R It I B b e
4) =T(I(4) +T(4+4)+4 1% 5208 (4) = 4 -T(4)* + +4! ~ -

3165 Esg = (sq(sq(sq(4))) + qu}')r(f; FED/% 5209 (6) = sq (sq<4/-;{)(4—))§)+ o
5166 (4) = Z(F((“)(L; F((f);g _)4) ~T(V4) o Egg _ ? S&Zé(ig)) +T(4)! >> T(4)) + sq(4)
5167 (6) = 4- (sq 52 = ' 4
5168 (4) = 4- (T(4)* —4) )4 5212 (6) = 4- sq(sqgrgﬂgg N 4'(+) +4!
5169 (6) = 4 - sq(sq(T'(4))) Y 5214 (6) = 4 - sq( (4)) + sq(4)) ® T(T(4))) >>
5170 (6) = 4 - (sq(sq(T'(4))) —' ) S T)) 4 5215 (8) = sq(sq(T(T
5171 (8) = (sq(sq(4")) — sq(412 Z)))) sq(4) (4))) + 4 +4)
3172 (6) =4 =4 (4 — sq(sq(( VOETED) 0 e) ~ a4 4 a0 — 4) > sa(d)
5173 (6) = 4 - sq(sq( (4)))—4/F4( g;}; Eb‘; ;4 Sq(sq( (4))) + sq(T'(4)) _(\r/é)))
5174 (6) =4- Sq(sq;(r 44)1;)/2 - 5219 (6) = sq(T'( (ﬁi+ 4+ 5q(sq
5175 (6) = (4-;(153;1)_—\/1). 5220 (4) = I‘(4)'/4+F(4 +(s )( 214)/sa(4)
5176 (4) = 4 - (I'( —T(/4) —T(4) 5221 (6) = (T'(4)!/4% + sq(sq(s (4)) +v4
5177 (6) =4. sq(sg(r 4))) 52929 (6) =4. ( ( ( ))) ((4)) +F(4)) >>
S178 (4) = 4-T'(4)" — 1;(4))— v/ 4 5223 (8) = sq(sq(T(T(4)) +
5179 (6) = 4- Sq(sz(r(4)) sq(4) I(4))) +4/.4)
5180 (4) = 4-T(4) ; ) - VI 5224 (6) = 4 (Srq((zf)q/(4) a0 /4%
5181 (6) = 4 - sq(sq(T'( i 5225 (6) = (sq( (sq(T(4))) + sq(T'(4)) + T(4)
e ) — 4T D) 5221 (8) = sa(os(TVA) + oa(i) + D) > 4
5183 (4) = 4-T(4)" —I( 5227 (8) = " S;I(Sq(r(4))) a4
e vy 5920 (6) = (salh - TEAD 4 T sa(4)
5185 (4) = 4- F(4)4 + I( 5229 (5) ~ (41— \/‘T%)/ 4% — T(4)!
5186 (4) = 4- F(?) (;(;/)Z)) vy T §6§ = 4 5q(D(T(4))) - sq(4! —~ T(V)
5187 (6) = 4 - sa(sq ' 5232 (4) = (44 — .4) - T(T(4)) r(4)))

88 (4) =4-T(4)" +4 = 5q(T(V4) +T(4)) + 4 - sq(sq(
001 A 234 () = 4q(sq(<sq<r<)§)))r+( Vi

—4. =44-(T(T(4)) —

5191 E‘é% = 4-59(sq(T(4))) +T(4) +T(V4) e ((;*)) - (ﬁ(s(qéf@) ® sq(T'(4))) ~sq(sa(T(4)))
5192 (4) = 4- (F(4)‘ + ﬁ)z 5238 (6) = (4 - sq(4!) +41)/.3
5101 (6) = - satsalD(1)) <4/, o1 By = o] D eton ) - 4
5194 (6) = 4- sq(s 6) = sq(sq s
5195 (6) = /T(v/A) + T(T(4)) +4- sq(sq(T(4))) 242 Esi = 4- (sq(sq(T(4))) p ?Z)(;‘)) I
5196 (6) = 4 - (sq((i?)()rf )q)(z)4)>; 4r ()14 5244 Eg = 21(4 : (F((F(EL))));éq'sq(SQ(4'))) >>T(4)) -

197 (8) = (sq(sq(4! s - 5245 =
5108 0) 4 (arlnT ) cor e (sa(T(4)) + sa(4)) = v
200 (0= 4. (FC 1 4) 5247 (6) = - oaoaT0) + () - (VD

4) =4- (@) + 52 =4-

201 (5 = 4. foaleal () 10+ T/ 1 Efq(?ﬁs&i%g?)i sq(4)) + T(v/4)
5203 5) = (aloa(in) + T 5> T(0) & 4 5250 (4 = ((Te) + T/ s
5204 (6) = 4 - (sq(sq(T'(4))) +4) + 4

66



_ _ 41 +T(4)) >> T'(4)) — [(V4)

W may Y B G or o

(sq(sq(sq('(4)))) + T'(4)! >>T(4)) 5293 (6) = sq((sq(sq(4)) + sq(T(4)))/4) — sa(T(4))
5252 (6) = (4% +4) - (sq(sq(T(4))) + 4) A 5204 (6) = sq(sq(4)) + T(4 +4) — v/4
5253 (8) = ((sa(T(T'(4))) & sa(sq(4!))) >>T(4)) & 5295 (6) = sq(sq(4)) — T(vVA) + T(4 + 4)

sq(T(4)) — 4) + 44

q(5254 (6) = 4- (sq(sq(T'(4))) + sq(4)) + T'(4) gggg Eg _ 5(1(?3;(4)))1 T(vA) +T(4 +4)
5255 (6) (ﬂ)): sq(sq(T(4)/Va%  — 5208 (6) = sq(sq(4)) + VA +T(4 + 4)
sq(sq(T(4)) — T _ T4 _ ) /4%
257 (1) — sato(t) ) — se(oalTA) &4 301 (0) — Em%) 2 e/
5258 (8) = (sa(sq(d) + 4) >> TW) + VI 5303 (6 = D) - T/ 44 g(og(Td)
5259 (6) = sq(sq(4/.9)) — sq(sq(T'(4))) — T(4) 3303 (6) = I(T(4)) ) <+ K 1
5260 (6) = (4% - sq(4!) — V1) .41%4 - 5304 (4) = 4 (-(8 ((s ) + sq(D(4)))/4) — 4
5261 (6) = sa(ea(4/ D) ~ sa(saT(W)) - 4 00 (6) = ot o D)
202 (8) = (aloali) £ ) >2 T(0) < T 5308 (6) — 4-slogT () + TLE0) 4 4
L ) i) s
5264 (5) = v.4- (¥ 2 _ 4))/A+T(4+4)
4) = (P(4)!/ 3+ T(4)))/ A 5310 (4) = T(I'(4))/ 2
gggg E6g = gqgsq(4/ 4)) — sq(s¢(T(4))) + 1:/(1\/1) 5311 (6) = sq(sq(4/4-4‘)) - Sgizg\/)ﬁ/ 4%)
5267 (6) = sq(sq(4/4)) — sq(sq(T'(4))) + o) 5312 (6) = x/éf1 ; (Ff; ! );Z)f;l i
5260 (6 = saloal4/ ) - saloaT) 14 SO ST )
p269 §6§ _ fzfsqi%‘?l; Sq(rs(i()l:(m) " a1 223 ~ Usq(sq()) + T(d)! > T(4)) + T(C(4)
5270 (5) = (4! — 4%) /4% — -
R P LA T U G
5273 (7) = sq(sq(4/4)) — (sq(sq(T'(4))) @ 41) 5318 (7) = 4~ sq T(4) — 5q(T(4)))/ 2
4) = 44 - T(T(4)) — T(4) 5319 (6) = (sq(T'(T'(4)))/T( q
gg;g EG; = (sq(s9(4)) )— FEL4)!/SQ(4))/4% 5320 (5) = T(4) - T(4)! + 4/ '37_")) Ve
4) = 44-T(T(4)) — = [(4)) —T(v4)) +
iﬁ?? ng = ((sq(T(T'(4))) @ sq(sq(4!))) >>T(4)) - ggﬁé Eg; - Zq.((sfq((s(q(r(4))) +sq(T'(4))) —T'(4)

4 5323 (6) = sq((sq(sq(4)) + sq(T'(4)))/4) —T'(4)

5278 (4) = 44-T(T(4)) — V4 -

5279 (4) = 44- T\(/li(/‘*i))'_ (V) 5324 (0) = (4-v4) V4

5280 (0) = 44 - (V4/.4)! — au((sa(s sq(T(4)))/4) — 4
2281 (4) = 44-T(T(4) + T/4) 5326 (6) = 4 (aou(TA) + a(ELAY) — v
5282 (4) = 4-TT(4)) + Vi 5327 (6) = sq((sa(sq(4)) + sa(T(4)))/4) — V4
5283 (6) = sq( v/4/3) — sq(T(T(4))) 5328 (4) = 44.4 - T(T(4))

D) = T L)+ 4 4 5329 (6) = sq(T(4)/4% — 4)/4

5285 (8) = ((sa(T(I'(4))) ® sq(sq(41)) >>T'(4)) + 5330 (5) = (V4% + 41)/.4% — T(4)!

4 5331 (6) = sq((sq(sq(4)) + sq(T'(4)))/4) + z
eSS Y 4 5332 (6) = sq(sq(4) + sa(T(4)) +T(4 +4)
5287 (8) = sq(I'(4)!) —T'(4)!/.4% >>T'(4) 5333 (6) = sq((sq(sq(4)) + sq(T(4)))/4) +4
5288 (6) = (sq(4/ j}%%)ﬁq(;l?s)ﬁﬁ))) 4 534 6) = 4 seaT ) S TA/AT
5290 5) = T/ 03 Tk o0 5335 (6) = sa((sa(sq(4)) + sq(T(4)))/4) +
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5336 (6) = (sq(T'(4)!)/4! — sq(sq(4))) /4 53

5337 (6) = sq(T'(4)! 84 (6) = 4- (sq(T(C(4)) = 4) +4
( 5(?(8\/_ sq( (é)) !/sq(4) +4=!) + sq(4!) ) | 5385 (5) = (T(4)! — vA)/VI% I )
s 4)+T(T - ' !

5340 (4))+= p((p(agg /. 481(;%&42)))) 2386 (6) = VI + sq(sq(T(4))) — T(4)

5343 (8) = (sq(T(T(4))) = D(4)1) /4% >> T(4) 5223 (6) = T(4) - (sq(T'(4)) /4% — V1)

5344 (5) = T(4) - T(4)! + V*%/4 Sq(sq(I‘(4()8))) = (sq(sq(sq(4))) —sq(T(4)) >>4) +

5345 (6) = sq((sq(sq(4)) + s5q(T'(4)))/4) + sq(4)

5346 (6) = sq(v/44 - v/4!/.7) 5390 (5) = (y/T(4)"" - .4) /4%

5348 (6) = (sq(T'(T'(4)) — sq(4)) — T(T'(4)))/V4 5392 (4) = Vit 4+ 11(4)4

5350 (5) = (yT@"" ~ vA)/4% 5393 (6) = sq(sa(T(4))) + T(VA) +/ VI

5352 (6) = 4! - (sq(I'(4)/.4) —

5355 () = satas)D 1) —ﬁ()zu) 5304 (5) = T(9)" /4% ( )
sq?j;é@g% = Vsqsq@) <<T(@d) - I'(d) @ P (5) = (/T(@)"™ — Va%) /4%

5355 (5) = (T(4)! — T(4 ))/W 5396 (5) = 1'*(4)1‘(4)/4% _4

2356 (6) = sq(v/4/4% + 41) — D(T(4)) 5397 (5) = (T(4)! = 4)/V4%/V 4
s (g = V<< - Ve 5086 = VI - Ve

5360 () = X(T() (v.T+ 40 5400 (2) = /410" 3

=3 4/.4 4.

5364 (5) — (Ig(fg!(/ \/Zf% )zii \/f%(r(r(4))) 5401 (5) = (y/T(4)"™ + 4%) /4%

ss66 E% - srq(i( - §5i2(4)!5é(£q(2,)))/4) Fsgray 5402 () = T /4% + V4

5368 (4) = 44- (D(T(4) +v4) 5403 (3) = (T(4)! + 4)/VA% - 4

s370 §6§ = 5q(T(4)/4%) /4 = sq(sq(4)) 5404 (5) = /T (4)"“ /4% + 4

5) = (T(4 _

5372 (6) = iqér)(r( ); % Vi sa(T(®) 5405 (5) = (VA+T(4)")/V4/Vi%

5373 (8) = (sq(T(T(4))) + sq(sq(4])) >> T(4)) — 5406 (5) = /T(4)"™ /4% + T(4)

sq(T(4)) 5407 (6) = (sq(T(L(4)) — sq(4)) — V4)/V4

5374 (6) = (4! — V4%)/.4% — sq(4)) 5408 (6) = sq(4/4% + 4)/V4

5375 (5) = (,/T@"™ - T (f ) /4% 5409 (5) = (T(4)!/ V4% +T(4)/V'2

ggzg §4) =T(4+4) - (VI+4 5410 (5) = (\/W +.4)/4%

7) = _

5378 (6) = f/qqu(c;/s_q/ 4))\2)4;/ Teay) + sqta s ) ) oo VA

5380 (5) = (4! — V/4)/.4% — T(T'(4)) ) 5413 (8) - p§4§ Ezgggfﬂ)()él/)%% + V)
Sq?;’?i))( ) = (sq(T(T(4))) + sq(sq(41)) >> T(4)) @ g:ig Eﬁ; — (41— 4%)/_4%_861?4!5;@(4))) >> 4

5382 (6) = (D(C(4)) —4) - T(4)!/sq(4) 415 (3) = (T()L+ V)/ VA% - 3

_ (6) = sq(44 s
5383 (8) = (sq(sa(sq(v/4/.4))) >>T(4)) - T(4)! 5418 (6) = 4(!1/( 4%/:1:;1(4554')1“(4)

68



5419 (8) = _
(419 (6) = (saload)) = saloa(C(4) >> TW) + 546 (6) — 4- (o)) LYY ~ T8
T S s 0 4 G4 o)
5423 (6) = 41/. 472:23&3 }/(Zﬂ) 5470 (6) = sq(v/4/4% + 41) — E g) '
5424 (4) = 4!-4* —T(4)! 2171 (6) = 41/.4% — sq(4! — T(v4))
5425 (5) = (W+P(\/—))/4% 54;; E‘g = (;1 —4+4)-T(4)
5426 (6) = 4!/.4% + v/4 — sq(4! 5474 (6) = (sa(T(N(4))) - T(4)!) + T (V4)
5428 (6) :4/4%_8q(4')f4) S5 (0 = 5q(vV4/4% + 41) — V4
5429 (7) = (T(4)!-T(T(4)) ® T(4)!)/s9(4) - e )/ 4) L)/
5430 (5) = (T4 )l +4) VA% A 3476 (4) = \/VA-T(T(4) ~T(4)
als (13({1)) 8) = (sq(sq(4)) — sq(4!) >>T(4)) + gi;g Eg; = sq(V4 /4% + 4;) + (V)
5432 (6) = sq(T(T'(4)) — sq(4))/V4 + 4! 5480 (6) _ fg((f{“)?jj')(;ﬂ
5433 (8) = (sq(I'(T'(4))) + sq(sq(4!)) >> I'(4 9481 (6) = (sq(T'(4)/4% q— )
5434 (6) = (41 + 4%) /4% — sq(4)) D+ 5489 (6) = 1 \/_ piai ) sath/4
gig‘; (52 S (C(4)!/v/4% + 41) )V 5484 (6) = p (7;174 _J;qr(f)
6) = (sq(sq(sq(4))) + T(4))/sq(4 °
sq(sa(T(4))) AW+ sagg T
e 8] paald)) A e T \/\/TTM
s () - (ot ) feea@d)) T O gﬁ; caald) |+ sq(a)
1(6) = 4- sq(sq(T 5) = (4 f 4%) /4%
5442 (6) = sq(s?](i%g -|E \)/)Z)+ 4 (\s/_() (If Li sq(4)) 5492 (6) = s (\/—/4 o+ 4!))/+ sq(4)
5444 (6) :4.sq(sq@(4)))+sq(sq (4‘1)) (i)) 5494 (5) = (4! = v/1)/.4% — T (4)
5445 (5) = (D(4)! + T(4))/VA% % * 5495 (6) = ((sq(sq(4)) —sq(F(4))) — V4%
5446 (6) = 4- sa(sa(T(4))) + sa(sa(4 5496 (5) = (4! — V/4)/.4% — R
pads E2§:4!'(8q(r(4)/‘4)+%Q( DAL 5498 (5) = (- v/ % - Vi
= sq((sq(s . 99 (5) = _
5450 (5) = (Z'( (_(i(/zq(_ll ) I%)q/(zgx)))/ 4)+T(TMA) 5500 g = (4/( 4\9 f%%))/ w
5451 (8) = (s o7 55 - e
5452 ((6)) :(Sg((\/qfﬁ)% erl;ff)_' >> L) +sa(sa(4) s Eg; - E4% f\)f/ * (74'1/ j%
5453 (7) = ' _ ;
s E6§ = EZ (sq({lz'gzi%)%(r(4() ; /) /14 gggi Eg; ~ o Ef(mm — T(V4) — sq(sq(4))
5455 (7) = sq(4)) — T'(V4) @ 4!/ 4% 5505 (6) = s A%+
436 §4) _ T +4) 5506 (5) = (4! " (\%;17244 4 FF(()M))
58 (8) = (sq(sq(4! — sals = 0
5460 (6) = r&)(,}((sq(ra)\)/?)_z;%;( q(4))) >> 4 gg?g Eg; - (4/sq( ) +4) - sq(sq(T'(4)))
6 o — VA +4%)/.4%
5461 (4) = <\/% — VA)/T(4) sq(sq(T (ﬂ)+( )< )% salsalsatd)) =
5462 (4) (\/\/ﬁwl/ r gg}i ES) = ¢ a(v/4/4% + 41) + sq(T(4))
3464 (6) = (41 - f)/ 4%—sq< () 16 ) = (e Y aayATAD)
5465 (6) = sq(sq(T I 5517 (6) = (sq(sq( (4)) — V4) + T i
F 5519 (6) = 4! - sq(sq(4)) — sq(sq(jtlz(;i()) /4
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5572 (6) = 4!- (sq(sq(4)) — 4

5520 (0) = .4- (\// V4" —41) 5574 (6) = 41 - (sq(sq(4)) — 41) + T'(4)

= —I(4)! 5575 (6) = (sq(T'(4)/.4) — V/4) /4%
5521 (6) = sq(sq(4/.4) — /4) — T (4)! B AR
5522 (6) = V4 - 5q(sq(T(v4) + T(4))) + T(4)! 5576 (6) = ( -4— 12/4 g F(Z)  saloa(T)
5524 (5) = (4! — v/4)/.4% + 4! 5578 (7) = I'(4) | ( )' - a(sq
S W ry -y SR QTR

= (sq(sq(s . > — S ! = .
oI ©) = (aleafoaV D) > ' 5582 (7) = T(4) - T(4)! — V4 ® sq(sq(T(4)))
5528 (0) = 4~ (\/\/ Va4 — 4 5583 (7) = ['(4) - T'(4)! —)g)(\/iiﬁ;g(sq(r@)))

= .4 - (sq(sq(4! 4! 5584 (6) = 4 - (sq(sq(T'(4))) + 0
N — 5585 Eﬁg = 5q(sq(4/-4)) —T(4)! — sq(sq(4))
5530 (0) = .4~/ \/ V4" + 4 5586 (6) = (I'('(4)) — I'(4)) - s\q/(zr(\/Z) 1—1“(4))
5531 (8) = sq(T(T'(4)) — ['(v4))/4% >> T(4) ggg; % - ?Zl(li(f/%) /( -84 SqF((4 f ))\7{)
3532 (4) = - (VATL £ T(4) 3589 (6) = (sq(v/4/4%) - sq(4))/3
5534 (7) = (4/ A% ©T(4))) - V4 5592 (6) = sq(4!) — 4! + D(4 + 4)
2935 (6) = 4 salT(T()) = saT /) 5593 (6) = elea8/ ) + V1) —sa(ou(T0)
5536 (4) = \/VA" + VA -T(4)! 5595 (6) = (sq(T(4)/4%) — T(T'(4)))/4
5537 (6) = sq/(sq(4/ éy FT‘{/)Z 5596 (5) = \/ VA" +T(4)/.4% )
5538 (7) = 4!/ A% + V4 & 5597 (7) = sq(T'(4)/4%) /4 & sq )
539 (7) = sa(y/ T~ T}/ sa(6aCA) 080~ (ot sa(oalP ()
5540(5)=\/’/4%+r(4+4) 5600 (4) = A-T(4+4)/.4
5542 (7) = I(4)! + F(<4)))@ 4!(/4‘)1;% 5601 (6) = sq(T'(4)/4%)/4 — 4! .
5544 (4) =44 (D(I'(4)) + T 5602 (6) = (sq(vV/VA%/.4%) — sq(sq(T(4))))/v/4
5545 (6) = sq(sq(T(4)) — T(v/4)) + T(4) - T(4)! 2002 263 - z(u ((Sq ' (4/)) )
5546 (6) = (T(V/4) + sq(4))/ 4% + sq(sq(T'(4))) 5606 (8) = sq(T(4)! — T(T(4)) — T(vA)) >> T(4)
o547 (6) = 4 sa(aa(agld)) 4 v/ 5607 (1) = (sa(L(8)/4%) & LT (0) 4
5548 (7) = (sq(T(4)!)/4! ® T(4)!) /4 | 008 (6) = o
5549 (6) = sq(sq(T'(4)) — T(vV4))/vV4% — sq(4!) 5609 (6) = sq(T'(4)/4%)/4 — q(4)
5550 (5) = (T(4)/.4% +T'(4)!)/.4 610 (6) = o(dl) S TeA + & T4
5552 (6) = /sq(4) + T4+ 1) 5612 (6) = sq(4!) + D(4 +4) — 4
5553 (7) = sq(sa(4/4)) — sa(4!) & T(4)! 5614 (6) — sq(4!) — v+ T(4 + 4)
5556 (6) = 4 - sq(v/V4%/.A%) + 4 5615 (6) — (sq(T(4)) 4) — 4) /4%
5558 (6) = T'(4! — 4)/sq(4)! — sq(sq(4)) 5616 (4) = 41 - 41 + T(4 + 4)
5560 (6) = sq(44)/.4 + T(4)! 5617 (6) = T(v4) + sq(41) + T(4 + 4)
5562 (6) = 4!- (sqgsq&lgg - jg - 5(4) 5619 (6) = (sq(riﬁ ;;1%)7 - 4;)(/;1(4))
5564 (6) = 4! - (sq(sq(4)) —4!) = 5620 (5) = (41 — v/4)/.4% +
5565 (6) = (sq(sa(T(4)) + T (V) = sa(sa@)/VITD 351 (&) = sa(Tt) /)4 - 4
5566 (6) = 41- (sq(sq(4) —4b — V4 5622 (6) = sq(4!) + (4 + 4) + I(4)
5567 (6) = 4! - (sq(sq(4)) — 4!) = T(V4) 5623 (6) = sq(T'(4)/4%)/4 — V4
5568 (0) = 4! ( (4 - ?\!}Z)) K+ 4) 5624 (6) = (sq(T'(4)/4%) — 4) /4
5569 (6) = sq(4! — T n ) ﬁ
5570 (6) = .4 - sq(I(T(4)) — V4) + .4 5625 (4) - ((11:(2) Z ;))i ‘2)/4
5571 (6) = (sq(vV4/4%) —4!)/ 4 5626 (6) = (sq(I'(4)/4%
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5627 (6) = sq(l"(4)/4(7)/4
5628 (6) = sq(sq(4)) - (()4v -i_\/\—/AI 5678 (6) =
5629 (6) = P—v4) -4 (6) = sq(sq(4))/4% — V4 —
632 — 44. 9 - = )
5633 % - : (4! = V1) 5682 (6) = i‘;q(gf]q(g;)/ AW/ - T ()
5634 (6) — a(sq(4)) - (4! — V) + T(v/4) 5684 (6) — sq(sq(4))/4 6 —T(4)! + 4
oot o) = et 2 5085 (6) — (oa(oa(D) + VAT)/ 451
Yo (o)~ Ss%(F(i)/A) +.4)/4% 5686 (6) = sq(34%4)))/ ;7 4%) /4% — T(4)!
5638 (6) — 33(235433 (1= V) + 4 5687 (6) = 80(}1;(4)! +T(4)
5639 (6) = _4'8(1(11(1;((44).—\/1)+1“(4) sq(sq(T(4)) + T'(v/4)) q(T(T(4)) — sq(T(4))) —
5640 (4) = (4+4) - T'(4 ) L) ~T(vV4) 5688 (6) = 4+ (sq(T(L(4))) —
5641 (6) = sq(T(4 (4)! - T(I'(4) 5689 (6) = (sq(T'(4)/4% '(4)!/4)
5642 (6) = A - Sq()r/é%iM + s5q(4) 5690 (8) = sq(sq(T( 4));)++(Zq(fq'(4)))/4
5643 (8) = (Sq(sq(4!))(+))12 B 'F(F(‘L)) +V4 5691 (8) = (/T @ /4! >>T(4)
5644 (6) = (41 — 1) 4% _(;1).(8>>4r(4)) @ sq(41) 5692 (7) — s (DY >> sq(4)) — 4
5646 (6) = .4 - sq(T(T(4))) +qr 111( 1) 5q(T(C(4))) — sq(vV4/4%) ® sq(T(T'(4
2648 {0) = salagll)) (0 \/ZgJ)r EE)M)) 5693 (8) = (\T(4)""Y >> sq(4)) — V4 W
9 (6) = sa(T(4)/4%)/4 141 5604 (6) = (41 — VA% -
5650 (5) = (4! — T(v/4) — 14' 5695 (8) = T(4)! 6)/-4% — sa(sq(4))
5652 (6) = (sq(4!) + sq(44 )/ 4% 5696 (6) — 4 - \ﬁqw(‘*)!) >>4-4
5654 (6) = (4! — a“d)/ 5697 (6) = (V- T(4)! = sq(4))
5655 (6) = Es Q(F£}4 %S)qg_sqr(ﬁlr)) +T(vV4)) 5608 Egg ~ %ﬁq((j/ ) — 41- sq(T(4))
5656 (6) = sq(T(T(4)) — 44) ( 154)))/4 5699 (6) = sq(s (Fq(j‘J(F(\/Z) +T(4)) @ sq(4)))
5658 (6) = - (saT(8) — slsa(d)) + 4 100 () = sy ey T
5659 (8) = (y/T(4)"™ 5701 (8) = '
5660 (6) = (.4 - S(:g;!) —Z)>/48<;(4)) —sq(T'(4)) 5702 E:i - (\/W > sq(4)) 4 T(4)
ggg; Egg = flsq(ﬂ/4%) + sq(;l)))/.Z 5703 (8) : (\/Sl(i(r(?(z)@ 4l) <<T(4) +T(4)
5663 (6) = 4- Eiggjgggj”) +T(T(4)) - V4 5704 (6) = (4! +(jg!/ 4<y>> 5q(4)) ® T(T(4))
5664 (4) = 4 - (T(T(4 ) +T(T4) —-T(V4) 5705 (6) = (sq(sq(4) 6 — sq(sq(T'(4)))
L e = e
5666 (6) = .4 - (s i + 4 5708 (6) = .4- (s —4/.
5668 Eﬁ% npy éf(ﬂ?(ii)) ~T(V4) +4) 5710 (63 = (%4 .(SZEZ.()F_(“\)% —D(I(4))) — 4
5669 (8) = I'(4/.4 q(L'(4))) +T(T'(4))) + 4 5711 (6) = 41/.4% — 4) /4%
[4) = 4>>T() 5712 (4) = /4%~ sq(T(vV4) + sq(4))
5670 (2) = (4/ D)1\ VA" 715 (6) = sathl ~ T(yB) 1 4. %
5671 (8) = (T(4/.4) >> T 5714 (6) = (4! _F(\/Z))))4;4-sq(sq(f‘(4)))
5672 (6) — 4- (sa(oa(L(4 W)+ T(vd) 5715 (6) = 4- sq(T(T(4)) R
5673 (6) = sq(sq(4 /qz)( )i% + r((F(4()) +4) 5716 (1) — v/ /" )) — T(4)!/sq(4)
5674 (6) = D(v/A)/ A% /4% — sq(s(4)) 57 - +T(4)!/4
575 ()= ea(0).0) 1 V)17 il Nty D
/B! T(4)) >>T(4) gg? gg) = (41— 4)/.4% + T(4)!
) = SCI(S(](4/.4)) —I(D(4)) - T(4)!
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4-5¢(T(T(4))) — 4
'—4%)/.4% — sq(sq
(4 - sq(4)) —T(V4)) /4%

=
~~~

Iy
N—r

[

) = sq(T(4)) = V4
))) = T(vV4) - 5¢(T(4))
)! = sq(I'(4))

+4)/4%

/4% — 4!

(

28

==

55
Iy

I
g

e
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~
S
~
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»
[
—~
—
~
—
~~~
Iy
N—r
N
N—r
[

(4+4)-T@4)! -4
4.5

-t ) r()

q(D(T(4))) + T(V4)

sq(sq(4!)) — sq(sq(T'(4))) >>T(4)) +

(4! = T'(V4) — 4%)/.4%
41).4% — sq(sq(4)) — V4
41/.4% — sq(sq(4)) — T'(v/4)

4-(v/4-T(4)! —4)

4-5q(4!) —T'(4))/.4

(4! =T (V4))/.4% — 4
4

VA

.T(4)! - T(4))
T(V4) — 4%) /A%

(4! —
(4! — 4/4)/.4%
(4! —

4 -

['(V4) + .4%)/.4%
(4-T(4)! —4)
¢(T(C(4))) — T(v4) -~ T(4)
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5768 (4) = V4- (4-T'(4)! +4)

5769 (6) = .4-sq(T([(4))) +4/.4

5770 (6) = (4-sq(4!) +4)/.4

5771 (6) = \/F(\/Z) +I(T'(4)) + 4-5¢(T(T'(4)))
5772 (4) = V4- (4-T(4)! + T(4))

5774 (5) = (4! — T(V/4))/.4% + 4!

5775 (5) = (4! — .4/ .4)/.4%

5776 (4) = (T(T(4)) — 44)V*

5777 (6) = sq(T(T(4)) — 44) + ['(\/4)

5778 (6) = sq(T(T'(4)) — 44) + V4

5779 (6) = sq(sq(T(4)) — V4)/V4% — T (V/4)
5780 (5) = (4! — .4)/.4% — T(T'(4))

5781 (6) = sq(s¢(T(4)) — V4)/V4% + T (v/4)
5782 (6) = sq(T'(T'(4)) — 44) + T'(4)

5783 (6) = .4-sq(T(T(4))) — T(v4) + 4!

5784 (4) = (4+4) -T(4)! + 4!

5785 (6) = .4-sq(T(T'(4))) + T'(v4) + 4!

5786 (6) = .4- sq(T(T'(4))) + 4! + V4

5787 (8) = (sq(sq(4")) +T(4)! >>T'(4)) ®T'(4)!
5788 (6) = .4- sq(T(T(4))) + 4 + 4!

5790 (6) = (sq(sq(4)) — 4! — .4)/4%

5791 (7) = (sq(sq(T(4))) ®T(4 +4)) — T(V4)
5792 (4) = (4+4) - (T(4)! +4)

5793 (7) = sq(sq(T(4))) + T(V4) ®T(4 +4)
5794 (6) = (sq(sq(4)) — 4!)/4% — T'(4)

5795 (6) = sq(T'(4)) = T(vV4) + .4 - sq(T(T(4)))
5796 (6) = (sq(sq(4)) — 4)/4% — 4

5797 (6) = sq(T'(4)) + T(v4) + .4 - sq(T(T(4)))
5798 (6) = I'(4! — 4)/sq(4)! — sq(4)

5799 (6) = (sq(sq(4)) — 4! — 4%) /4%

5800 (5) = (4* — 4!)/4%

5801 (6) = (4% — 4! + sq(sq(4))) /4%

5802 (6) = (sq(sq(4)) — 4!) /4% + /4

5804 (6) = .4 - sq(T(T'(4))) + 44

5805 (6) = (sq(T'(4)/4%) + T(4)!)/4

5806 (6) = (sq(sq(4)) —41)/4% + T'(4)

5807 (6) = -4 (s¢(T(T(4))) + T(T'(4))) — T (v/4)
5808 (4) = (4 +4) - (T(4)! + T'(4))

5809 (6) = sq(sq(4/.4) —4) — T'(T(4))

5810 (6) = T'(4! —4)/sq(4)! — 4

5812 (6) = sq(I'(I'(4)) — 44) + sq(I'(4))

5813 (6) = T'(4! — 4)/sq(4)! — T'(V/4)

5814 (4) = ['(4! —4)/(4 - 4)!

5815 (6) = ['(4! — 4)/sq(4)! + T(/4)

5816 (6) = T'(4! — 4)/sq(4)! + V4



5817 (6) = sq(sq(4/.1)) —T(4)! — 4! 5856 (4) = ['(4) - (T(4)! + 4%)
5818 (6) = I'(4! — 4)/sq(4)! + 4 5857 (6) = sq(sq(4/.4)) — T(4)! + sq(4)
5819 (6) = (sq(sq(4)) — V%) /4%  sq(4) 5858 (6) = .4 - (sq(T(V4) + T(T(4))) + 4)
5820 (5) = 41/.4% — T'(4)!/4 5859 (6) = v/4 - (sq(sq(T'(4))) + T(4))/4
5822 (6) = (4 — 4%) - sq(T(T'(4))) — V4 5860 (6) = (.4 - sq(4!) +4)/4%
5823 (6) = (\/41 -5q(sq(T(4))) —4)/.4 5861 (8) = sq(sq(4! +4)/4%) >> sq(4)
5824 (4) = A- (V4Ar® —T(4)) 5862 (6) = I'(4) - (sq(sq(4)) + T(4)!)) +T'(4)
5825 (6) = (sq(sq(4)) +4%)/4% — sq(4!) 5863 (8) = (sq(sq(4!)) — sq(4!) >>T'(4)) & T'(4)!
0 5864 (6) = (4! — .4)/.4% — sq(T'(4))
5826 (4) = /(4! -T(4)) ™ ~T'(4) 5865 (6) = sq(sq(4/.3)) — T(4)! + 4!
0 L
_ _ 1 = +
520 () = ) + VIO = sa®) 3869 (6) = sa(sa(T(4)) — (D) /VA% — sq(s(4)
5830 (4) = /(4! =T(4)) " - V4 5870 (5) = (4! — 4%)/.4% — T(T'(4)) s
r(4 5871 (6) = sq 4% — sq(4! — T'(v4
831 (4) = (41 - TE)™ ~T(VA) 5872 ) = 4 450 - wgloatiy
5832 (2) = /4 - (41/.9)" 5874 (5) = 4!/. 4<7:[ T(T( (;)4(4)
5875 (5) = 4)/.4%
5833 (4) = /(4! = T(4))'™ + I'(v4) 5876 E5g _ §4, _ 4)//4)@.//0
— /(4 — r'(4) 5877 (6) = sq(sq(4/. 4))+sq( (4)) —-T(4)!
Eg; Eg B (4' F£4))_ +,\/_Z 5878 (5) = 4!/.4% — /4 — T(T'(4))
= sq(sq(4/4)) ~T(4)1 =T (4) 5879 (5) = 4!/.4% — I'(v4) — T(T(4))
_./ T(4)
5836 (4) = /(4! -T(4)) " +4 5880 (4) = (4 +4) - T(4)! + T(T'(4))
5837 (6) = sq(sq(4/.3)) — T(4)! — 4 5881 (5) = (4% + 41)/.4% — (\r[( )
5838 (4) = /(4! = T(4)"V + T(4) ggg; (Z) :—4'5/ 4;% 41 W (s))s+ F44 T'(4
5830 (6) — sq(sq(4/.3)) — T(4)! - v/ o (8) = (sq(sq(4!)) — sq(sq(T(4))) >>T(4)) +
5840 (4) = T(T(4)) - (4! + 4! + V'3) 5884 (5) = 41/.4% — T(T(4)) +
5841 (4) = (4/4)" —T(4)! 5885 (6) = sq(sq(4/.4)) — sq(\/_ )
5842 (6) = (4! — T'(v/4)) - (sq(sq(4)) — v4) 5886 (5) = 4!/.4% — T(T'(4)) + T'(4)
5843 (6) = sq(sq(4/.4)) —T(4)! + V4 5887 (6) = 4! - sq(sq(4)) — T(V4) — sq(sq(4))
5844 (6) = /4 - (sq(4!/.4) + T'(4)) 5888 (4) = 44 I'(v4))
5845 (6) = sq(sq(4/.4)) —T(4)! +4 5889 (6) = 4! - sq(sq(4)) sq(sq(4)) + T(V4)
5846 (8) = (sq(sq(T'(4)) + sq(4!)) >>T(4)) —T'(4) 5890 (5) = (4! — .44)/.4%
5847 (6) = sq(sq(4/-4)) —T(4)! +T'(4) 5891 (7) = (sq(sq(4!) — V4) @ sq(sq(4!))) — T (v/4)
4 = /(a1 — T(AN'@ 4 go(4 5892 (6) = 4! - sq(sq(4)) — sq(sq(4)) + 4
P (0) =y - T) T s 5393 (6) = s (sq<4/ 2) —4) - sq(T(4))
50 0 = ) =T -) 315 ZE e
= ! + -
3851 (8) = (sq(sa((A)) + sg(a) >> () — o2 () = (sa(/A/4%) + )/
T'(v4) 5896 (4) = \/VA" +T(4)!/.4
5852 (6) = I'(4) - (sq(sq(4)) + T(4)!) — 4 5897 (7) = (A% + 41)/. 4% e T(T(4))
5853 (8) = (sq(sq(T'(4)) + sq(41)) >>T(4)) + 5898 (5) = (4! — .4)/.4% — /4
T'(v4) 5899 (5) = (4! — .4 — 4%)/.4%
5854 (6) = I'(4) - (sq(sq(4)) + T(4)!) — V4 5900 (5) = 41/.4% — 4/4%
5855 (6) = I'(4) - (sq(sq(4)) +T(4)!) — T'(v4) 5901 (5) = (4% — .4+ 4!)/.4%
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5902 (5) = (4! — .4)/.4% + V4 5950 (5) = (4! — .4/\/4)/.4%
5903 (6) = 1“(4)! - 1“(\/1) +4- sq(sq(T(4))) 5951 (5) = (4! + .4% — V4%)/.4%
5904 (4) = 4-T(4)* + T (4)! 5952 (4) = (44 4) - (T(4)! +4!)
5905 (6) = sq(sq(4/.4) — 4) — 4! 5953 (6) = s (sq(4/ 1) —4)+ 4
5906 (5) = (4! — .4)/.4% + T'(4) 5954 (5) = (4! — V4%) /A% + 4
5907 (6) = (sq(T(T(4))) + T'(4))/vV4—sq(sq(T(4))) 5955 (6) = 4!/.4% — ( )!/sa(4)
5908 (6) = 4 - sq(sq(T'(4))) + ['(4)! + 4 5956 (5) = 4!/.4% —
5909 (6) = (sq(sq(T'(4))) + T(V4))/V4% — sq(4!) 5957 (7) = sq(sq(4/. 4)) — sq(4!) @ sq(I'(4))
5910 (5) = (4% — 4 +41)/.4% 5958 (6) = 4!/.4% — T'(4) — sq(I'(4))
5911 (6) = (4! = T(V4)) - (sq(sq(4)) + T(v4)) 5960 (5) = (4! — .4 -.4)/.4%
5912 (6) = 4! - sq(sq(4)) — sq(sq(4)) + 4! 5961 (6) = sq(sq(4/.4)) — sq(4!) — 4!
5913 (6) = s (sq(4/ 4) —4) — sq(4) 5962 (6) = 4!/.4% — sq(T'(4)) — V4
5914 (6) = (4! \/%/4%—3(;( (4)) 5963 (6) = 4!/.4% — ['(v4) — sq(T(4))
5915 (8) = (sq(sq(4!)) + T'(4)! >>T'(4)) + T'(4)! 5964 (4) = ,/\/14 —T((4 )))/\/_
5916 (6) = (4! —.4)/4% + sq(4 ) 5965 Esg _ E 4% + 41) /4% — sq( (4))
5918 g? = fl‘,l} Z;%)/ "t(f’/%r(r(‘l)) 5966 (5) = (4! — 4%) /4% —
9919 (6) = 4!/.4% — sq(4/.4)_ 5967 (8) = sq(sq(T(4)) + T(4) + sq(41)) >> T'(4)
5920 (&) = Vi Ty (/T 41 ST () = wlaa(T) 0+ )
5921 (6) = sq(sq(4/.4)) — sq(sq(4))/ .4 5969 (6) = sq(sq(4/.9)) — sq(4)) — sq(4)
5922 §6; = SQE ((4(/ L)) g )){1\(/4‘_; — sq(4!) 5970 (5) = 4!/ 4% I'(4) — 4!
9923 (6) = sq(sq 5971 (6) = 4% + sq(sq(sq(4 sq(4)
9925 (6) = sq(sq 5073 (7) = (A% + 41 4% @ sq(T(4))
5926 (9 = (i) %0 BT ()= (%44 )\/f .
5927 (6) = sq(sq(4/4) —4) - ‘_/‘I 5975 (5) = 41/.4% — D(v/) — 4!
5928 (6) =A4!. (sq(sq(4)) - 4/.4) 5976 (5) — F( ) (4/ 4% )
5930 (5) = (\/% +41)/.4% - T(T(4)) 5978 (5) = 41/.4% + v/A — 4;
5931 (6) = sq(sa(4/ ) ~ 4) + V4 5979 (6) = sq(sq(4/.3)) — sq(4!) — T(4)
9932 E7g = (4'(/ 4(2)/61)11( (‘)1)))4+ sq(I'(4)) 5980 (5) = 41/.4% — 4l + 4
5933 (6) = sq(sq + 5981 (6) = sq(sq(4/.4)) — sq(4!) — 4
5934 ()= (4= V)07 - o1 () = 4)"+ m() )

1 = 4! 0
5936 (5) = 41/4% — [/ VA 085 EQ = i'f i; r4 )/ ‘!
5937 (7) = sq(sq(4/.4) —4) ® 4! 5986 (5) = (4! — 4%)/.4% —
5938 (7) = (sq(T(4)! — T'(4)) @ sq(T(4)!)/V/4 5987 (6) = sq(sq(4/- 4))+f—sq(4')
5939 (6) = sq(vV/ V4% %/ 4%) — sq(sq(4/.4)) 5988 (5) = I‘( ) - (4/.4% — V/4)
5940 (4) = r(r( )) - (4l —+4)/.4 5989 (5) = (4! — 4.4%)/.4%
5942 (7) = s ( (T4 ))/4)/F( ) © sq(T(T'(4))) 5990 (5) = 4!/.4% — 4/ 4
5944 (5) = (4! — V4%)/.4% — T'(4) 5991 (5) = 4!/.4% — 4/4
5945 (6) = sq(sq(4/.4) — 4) + sq(4) 5992 (5) = 4!/.4% —
5946 (5) = 4!/.4% — 4!/.3 5993 (5) = 4!/.4% — (f) —T(4)
5948 (5) = (4! — V4%)/.4% — V4 5994 (5) = 4!/.4% — 4!/4
5949 (5) = (4! — V4% — .4%)/.4% 5995 (5) = 4!/.4% — /4/ .4
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5996 (5) = 4-T'(4)/.4% — 6046 (5) = (V4% + 4!)/.4% —

5997 (5) = (4% + 4!)/. 4% 6047 (6) = 4!- (sq(sq(4)) 4) — I"(\/Z)

5998 (5) = 41/.4% — T'(4 )+4 6048 (0) = 4! - (41 — 4)

5999 (5) = 4!/. 4% 4/4 6049 (5) = (V4% — .4% + 4!) /4%

6000 (4) = 4!- (4* —T'(4)) 6050 (5) = (.4/v4 +4!)/.4%

6001 (5) = 4!/.4% + 4/4 6051 (5) = (VA% + 4% + 41) /4%

6002 (5) = 4!/.4% + T(4) — 4 6052 (5) = (V4% + 41)/.4% + /4

6003 (5) = \/4/.4+4!/.4% 6054 (5) = 41/.4% + 41/ 4

6004 (5) = 4-T(4)/.4% + 4 6056 (5) = (V4% + 41)/.4% + T'(4)

6005 (5) = (.4% + 4!)/.4% + 4 6057 (6) = sq(I'(4)!/sq(4) + 4!) + sq(sq(I'(4)))
6006 (5) = 4!/.4% + 41/4 6060 (5) = 4!/.4% + 4!/ .4

6007 (5) = (4% + 41)/.4% + T'(4) 6061 (6) = sq(sq(4/.4)) — V4/.4%

6008 (5) = 4!/.4% + 4 + 4 6062 (8) = (sq(sq(T'(4))) + sq(sq(4)))/4% >>
6009 (5) = 4!/.4% + 4/.3 I'(4) B

6010 (5) = 4!/.4% + 4/.4 6063 (6) = 4! - sq(sq(4)) — sq(4/.4)

6011 (5) = (4.4% + 41)/.4% 6064 (5) = YR/4+T(4+4)

6012 (5) = T'(4) - (4/.4% + /) 6065 (7) = T(4)!/vV4% @ sq(sq(4/.4))

6014 (5) = (4! + 4%)/.4% + 4 6066 (6) = (VA% + 4)/.4% + sq(4)

6015 (5) = 4!/.4% + T'(4)/.4 6067 (8) = (sq(sq(sq(v4/4))) >>T(4)) —sq(T(4))
6016 (5) = 41/.4% +4- 4 6068 (6) = sq(4!/.4+ 41) — sq(4)

6017 (6) = (4% + 41)/.4% + sq(4) 6070 (5) = (4! — \/%)/ 4% + T'(T'(4))

6018 (5) = 4! — I'(4) + 4!/.4% 6072 (4) = 4!1/T(4! — V4)/V/4

6020 (5) = 41/.4% + 4! — 4 6073 (7) = sq(L'(4)/4%)/4 ® sq(4!)

6021 (6) = sq(sq(4/.4)) — sq(4) + sq(T(4)) 6074 (5) = (V4% + 41)/.4% + 4!

6022 (5) = 4! — V4 + 41/.4% 6075 (4) = r( NIEVR YR

6023 (5) = 4!/. 4% I'(V4) + 4! 6076 (6) = (4! — v/4)/.4% + sq(4!)

6024 (4) = 4!-4* —T(T'(4)) 6077 (6) = sq(sq(4/.4)) — sq(4! — \V/4)

6025 (5) = (.4 /4 +41)/.4% 6078 (6) = sq(4!/.d+ 41) —T(4)

6026 (5) = 4!1/.4% + /4 + 4! 6079 (6) = 4 - (sq(T(T'(4))) — T'(4)!) — ['(v4)
6028 (5) = 41/.4% + 4! + 4 6080 (4) = (4.1 + 4) -T(4)!

6030 (5) = 4!/.4% + 4! + T'(4) 6081 (6) = sq(4/.4) +4!/.4%

6031 (7) = sq(sq(4)) — T'(v4) @ 4!/.4% 6082 (6) = sq(4!/.4+4!) — V4

6032 (5) = 41/.4% + /4 6083 (6) = (sq(sq(T'(4)) +T(T'(4))) — 4)/4
6033 (7) = sq(T'(4)/.4) ® 41/.4% 6084 (2) = /(4|/4+4|)

6034 (5) = (4! + 4%)/.4% 1 4! 6085 (6) = (sq(sq(T(4)) + T(I(4))) +4)/4
6035 (6) = sq(T'(4)) — T'(v/4) + 41/.4% 6086 (6) = sq(4!/.d+4!) + /4

6036 (5) = ['(4) - (4/.4% + ['(4)) D

6037 (6) = (.4% + 4!)/.4% + sq(T'(4)) 6087 (7) = \/ (4! =T(V4)) " @ sq(T(T(4)))
6038 (6) = 4!/.4% + sq(T'(4)) + V4 6088 (6) = sq(4!/. 3+ 4!) +4

6039 (6) = (sq(sq(4)) — sq(4 — V4%)) /4% 6089 (6) = sq(sq(T(4)) — T(v4))/vV4% — sq(T(4))
6040 (5) = (4-.4+41)/.4% 6090 (5) = (.4 — 4% + 41)/.4%

6041 (7) = (sq(sq(4/.4)) ® T(T'(4))) — sq(4!) 6092 (6) = 4! - (sq(sq(4)) — V4) — 4

6042 (6) = (4! — 4) - sq(sq(4)) + 4 6093 (6) = (sq(sq(T'(4)) +sq(4)) +4)/.4
6044 (5) = 41/.4% + 44 6094 (6) = (sq(sq(4) — .4) + .4)/4%

6045 (6) = I'(4)!/sq(4) + 4!/.4% 6095 (6) = 4! - (sq(sq(4 )) f) T'(vV4)
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oo 0= -4~/
6098 Es% _ i: E Esqug) V4) +T(V4) 6140 (0) = 4t- 4" —4
g(l)gg (5) = ( — 4% +21)/ﬁ) +vi 6141 (2) = (\/F— VAV 4
6101 (5) = a5 4% 6143 (4) = 4!-4' — D(V1)
(6) = 4t (sq(sq(4)) - VA) +T(4) 6144 (0) = 41- VI 1
6103 () = sa(Vi/-4)") >> (4 6145 (4) = 4141+ T(V4)
5105 (6) = sa(oa(d) D) — sa(i) 1 6146 (0) = 414"+ V1
= sq(sq(4/.4)) — sq(4)) + T 6147 (2) = :
a0 = ) i) v 2 A
= 4!- sq(sq(4)) —T(vV4) — sq(T(4)) 6149 (6) = 41- sq(sq(4)) + V4
A o ooty it
6) — 4.5 . - + / 4
6110 (5) = (4! + .4 alsg 4)(/2% q(T(4)) +T(v4) g}g; Eg) = F'(\/Z) +T(4) + 4! - sq(sq(4))
2111 (6) = sq(sq(4))/4% — sq(T (\/Z) + sa(4 ) = 4l-5q(sq(4)) +4 +4
6112 (6) = 4!- sq(sq(4)) — ¥4 5q(4)) 6153 (4) = ( \/Z“ +T(4)) Vi
6113 (8) = sq(sq(4!-T'(4)) = T(4)!) >> sq(4 6154 (6) = 4! - sq(sq(4)) +4/ 4
611451 Egg _ ?s( (( ))p (4) +41/.A% e 6155 (6) = \/T(V4) +F(F(4/
6116 (5) = 41/. 4%(+(i)() z4)r)(\_/‘i)) -V /VI% 6156 (4) = 41 (D(T(4)) ())))J; ;" sa(sq(4))
6118 (5) = T(T(4)) — v+ 41/.4% 6158 (6) = 41- sq(sq(4)) — v + sq(4
6119 (5):41/4% I(v) + T ¢ 6159 (6) = 4!- sq(sq(4)) + I'(4 «“
2120 (0) = 41- 4% — 41 (T'(4)) 6160 (2) = 4!- (V4 + 4% W74
121 (5):(4%+4, ; 6161 (6) = sq(s i
6122 (5) = T(T'(4)) j{}i}% (;)4)) 6162 (6% = 4'q( q((iéfi)))__sq((j)) / 4%,
b ES; = f“%( o ())(i)i T (A VAT — Vi oy ggg = fq<sq<r<4)>/ 4) - sqz:ljll)
- ! = (8q(s
6125 (5) = (VA/4 + 4,)7&/ A% 6166 (6) — 41- « q((F((i))))f 4Ld) + sa(T(4))/ 4
2126 (5) = 4!/.4% +T(T'(4)) + T'(4) 6167 (6) = 4!- sq(sq(4)) + 4! +1“4
61os (6) = 4! sa(sq(4)) ~T(v4) - sa(4) 6168 (0) = 41 4% + 41 vV
28 (2) = 4!. ( \/_Z) 6169 (6) =4!. Sq(sq(4)) + 1“(\/41
6129 (6) = 4! - sq(sq(4)) — T(4)/.4 6170 (5) = (VA% + 41)/ 4% iy
B30 (8) = (4 4%)/ 4%+ TALE) 6171 () ~ (VA% + ) s El(mn
31(6) = sa(sa(T(4)) — T(VA)/VA% + T o172 () = 8- sy a s
6132 (5) = F( ) ( 4V \/_) 0 ( ) g};g (6) =4!. Sq(sq( )) + 41+ F( )
2133 (6) = 41 sq(sq(4)) — y/T(V1) + T(T4)) 6176 Egg - L(LSQ(Sq( ) A
34 (6) = 4! - 5q(sq(4)) — 4/ 4 6177 (6) = Sq(;;((:/q%))) v 4
6135 (4) = (\/ V4" — - 6178 (6) = 5q(4)
= W v T 0 Z L )(4)F)(ﬂf ()
6137 (6) = 4!- sq(s¢(4)) — T(v/4) —T(4) 6180 (2) = (F ol salea®)
6138 (2) = (V4" —4)/V1 6181 (6) = 4! sq(sq(4 ;1
6139 (6) = 4! - sq(sq(4)) — VA/.4 152 (6) = i1 o) T sq(C(4) + Wz)
/- 6184 (6) — 4.5 sq(sq(4)) + V4 + sq(T(
= 4-sq(sq(T'(4))) +4/.4%
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6185 (6) =
T Ve
. (sq s
S e
6188 (6) = ) - Sq(r(4).) 6234 (6) =
6189 (6) — 115 - sq(sq(4)) + 4 '/sq(4)) >> 6235 (6) _ L(l (sq(sq(4)) +
6190 (6) = I sq(sq(4)) + 4 6236 (6) = 4‘? q(v4/4%) =T 4) —T'(4)
6191 (6) = (sq(v/4/4 L'(4)!/s 6237 (6) = (sq(s (4))/ .4
(6) = 4!- %) — 4! a(4) (6) =s q(4)) +
6192 (0) — 41 (foa) 4 V) oass (0 = rarie 4
s =t e o gsg—sqésziiﬁ)»;m
=4!. =4 4
o1 6 =1 ol e AR
= 4! ) ’ 42 (6) =
) = o salee®) AN s © =4 q<§§((‘§)))+—£<¢z))ﬂ
6202 =5 al (;1 N/.4% 44 (5) :; sq(4/.4) + /4
6204 223 _ ;1' (sq()s/q‘f?({l/)‘l) + 5q(4!) 2;12 (5) = (r(‘Q/ 4%/4&0[ ) +( Vi
2305 (6) = sq sq(sq(4)) +)4,+ sq(sq(4))) =T 6247 Eg) =T(v4) /4%7% V%) /)4(7
6283 Eg) — Sq%) \/—)/il ) (4) 6248 (5; i ;q( q(4/ 4;/4(7\'0/_ 0
(R T ) ot
09 (6) = ( sq(s 625 0 — 4%
2;1(11 (4; _ ?4 (S(I((iq(r(4§)))+s)( q(4))) - T(V4) 625(1) Eg; N )/4%
_ q(s =
6212 (6) = 1 oaontr PN @)+ TV e O e AT
6212 EQ i Sq(si]‘l(&?;%];‘)(4))) +(s(3(?9{1\({1_ >>4 6254 Egg z ](f\ (\/\/—%715;4- Vi 0
621 — T(V4)/ 4% ®5q(4!_ﬂ)))+4 6255 (6) = (VA)/.4% /4 6) + T(4))/ V4
6 (5) = WM%S(J(M) 6256 (5) — (sq(v/A/4%) %+ 4 4
e e U i
6218 (6) = sq( E4/ 4) \/Z) A1 2358 (6) = 4'/(7:)1+4|)/ 4% +
i [(4)))/v/4% ~ 0 (5) = (LD A% sa(sq(4))
q(4)) (sq(sq(T(4 sq(sq(4 6261 (6) = (V) /4% + q(4)) + V4
2330 (5) = (4! ) — (\/LI)))/\/4£(4) 6262 (6) _ i' q(sq(4/. 4)3) 4) /4%
6221 (6) = 4%- ~ Vi) 4%+ % 20 (0) = LL(t) T L(T(4)/.4
6 2 (6) = (4! (D(4)) - sq( (4)! 6264 (4) = (D(4)) —T \/i-SQ(Sq(4))
6223 6) =s (+ 4)- (Sq(sq(sq( (4))) + V4% 6265 (6) _ Al 4t +F(1“( 4) + 4! - sq(
6324 (6) = 4? (T4 )))/\/(17)) F(\/Z)) 6266 (6) B (s (\/_/4(7)(4)) q(sq(4))
s )~ R f§/4%(4) ) )10 i) e,
Sq(sq(4)) ©) = q((ssqqg)(); V) + sq 6271 (8) = (\(/M+ 4'8/q4(1y( ) — sq(sq(4))
5230 (6) — (s T 6212 (6) = (4 + T 55 gt
i i
(1) = Sq(Sq(4/(i))) - 8q(44)) % 6275 (5) z 11(\/_)/ 4%) —4-T(4)!
)) + (T4 /\/_ 6276 (5 (F(\/—)+ /4%+4!
) @ sq(4!) 6277 (6) = V%/T(4) - A%) /4% /4%
0217 (6) = salsa(4/D T(4)/ 4%
= sq(sq(4)) /4% V4) + sq(T(4
Lrr) - vi
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6327 (8) = (['(4)!/.4% >>T'(4))/.4

6328 (6) = (sq(sq(4)) — 4% - T'(H)) /4%

6329 (6) = sq(sq(4/.4)) + 4! — sq(sq(4))

6330 (6) = .44 - sq(T(T'(4))) — ['(4)

6331 (8) = sq(sq(T(T(4))) +4) >>T(4)/.4

6332 (6) = .44 - sq(T'(T'(4))) — 4

6333 (8) = (sq(sq(4)) —sq(T(4)) >>4) —
sq(T(T'(4)))

6334 (6) = .44 - sq(T'(T'(4))) — V4

6335 (6) = .44 - sq(T'(T'(4))) — T'(v/4)

6336 (4) = 44 - 4! - T'(4)

6337 (6) = .44 - sq(T(T'(4))) + ['(vV/4)

6338 (6) = .44 - sq(T(T'(4))) + V4

6339 (6) = (sq(sq(4)) — T(v4))/4% — sq(T'(4))

6340 (6) = .44 - sq(T'(T'(4))) +4

6341 (6) = sq(sq(4/.4)) — sq(sq(4)) + sq(T'(4))

6342 (6) = .44 - sq(T(T'(4))) + T'(4)

6343 (8) = (sq(sq(4)) +T(T'(4)) >>4)
sq(T(T'(4)))

6344 (6) = (414 4) - (sq(sq(4)) +4)

6345 (6) = sq(T'(4)/4%)/4 + T'(4)!

6346 (6) = (sq(sq(4)) — V4) /4% — 4

6347 (6) = (T(V4) + sq(4))) - \/T(V) + T(T(4))

6348 (6) = (sq(sq(4)) — V/4) /4% — /4

6349 (6) = (sq(sq(4)) — V4 — 4%) /4%

6350 (5) = (4* — v4)/4%

6351 (6) = (sq(sq(4)) — V4 + 4%)/4%

6352 (4) = T(T'(4)) - (2-T(T(4)) — .4)

6354 (6) = (sq(sq(4)) — V4)/4% + 4

6355 (6) = sq(sq(4))/4% — T'(4)!/sq(4)

6356 (6) = sq(sq(4))/4% — 44

6358 (6) = sq(sq(4))/4% — sq(T'(4)) — T'(4)

6359 (6) = (sq(sq(4)) — T(v4))/4% — sq(4)

6360 (4) = (4! — 4) . T(T'(4))/.4

6361 (6) = sq(sq(4/.4) — v4) + T(T(4))

6362 (6) = sq(sq(4))/4% — V4 — sq(T'(4))

6363 (6) = (sq(sq(4)) — 4%) /4% — sq(T'(4))

6364 (6) = sq(sq(4))/4% — /T(@)"

6365 (6) = (sq(sq(4)) —T(V4) — 4)/4%

6366 (6) = (sq(sq(4)) — .4)/4% —

6367 (7) = (sq(sq(4)) — m)/4% ® sq(T'(4))

6368 (6) = sq(sq(4))/4% — V4

6369 (6) = 4!- sq(sq(4)) + sq(T'(4)/.4)

6370 (5) = T'(v/4)/.4%/4% + T(T(4))

6371 (6) = (sq(sq(4)) — T(vV4)) /4% —



6372 (4) = (41— 4) - T(T'(4))/.3 6416 (6) = 4 - (sq(sq(4)/.4) + 4)
6373 (6) = (sq(sq(4)) — T(V4))/4% — V4 6417 (6) = sq(sq(4/.4)) —4!-T(4)
6374 (6) = (sq(sq(4)) — .4)/4% — sq(4) 6418 (6) = sq(sq(4))/4% + 4! —T'(4)
6375 (5) = (T'(4)/4 + 41)/.4% 6419 (6) = (sq(sq(4)) — VA%) /4% + 4!
6376 (4) = 4-T(T(4)V* — 41 6420 (6) = (sq(sq(4)) + .4+ .4)/4%
6377 (6) = (sq(sq(4)) + 4%) /4% — 6421 (6) = (sq(sq(4)) +T(V/4))/4% —
6378 (6) = sq(sq(4))/4% + /A — 4' 6422 (6) = sq(sq(4))/4% +4! — V4
6379 (6) = (sq(sq(4)) — ['(v/4))/4% + 4 6423 (6) = (sq(sq(4)) —4%)/4% + 4!
6380 (5) = (V/4 +41)/.4% — T(T'(4)) 6424 (4) = 4-T(T(4))"* + 4!
6381 (6) = sq(sq(4/.4)) — T(4)!/4 6425 (5) = (D(V4) +4*)/4%
6382 (6) = sq(sq(4))/4% — 4!+ T'(4) 6426 (4) = (4-T(4)! — 4!)/4
6383 (6) = (sq(sq(4)) —4%)/4% — sq(4) 6427 (6) = (sq(sq(4)) + T'(v4)) /4% + V4
6384 (4) = 4- (T(4)!/.4—4)) 6428 (6) = sq(sq(4))/4% + 4 + 4!
6385 (6) = sq(sq(4))/4% —T'(4)/ .4 6429 (6) = (sq(sq(4)) + T'(v4))/4% + 4
6386 (6) = (sq(sq(4)) — .4)/4% — 4 6430 (6) = sq(sq(4))/4% + T'(4) + 4!
6388 (6) = sq(sq(4)) /4% — sq(4) + 4 6431 (6) = (sq(sq(4)) + ['(vV4))/4% + T'(4)
6389 (6) = (sq(sq(4)) — .44)/4% 6432 (4) = T([(4)) - (4!/.4 — 4)
6390 (5) = (4" — .4)/4% 6433 (6) = sq(sq(4/.9)) — sq(sq(4))/V/4
6391 (6) = sq(sq(4))/4% — 4/ 4 6434 (6) = (sq(sq(4)) + v4)/4% — sq(4)
6392 (6) = sq(sq(4))/4% — 6435 (6) = (sq(4!) —4)/v4%/. 4
6393 (6) = (sq(sq(4)) — 4%)/4% I'(4) 6436 (6) = sq(sq(T'(4)))/v4% —
6394 (4) = 1-T(T4)V* - T(4) 6437 (6) = sq(sq(4/. Z)) r(r(4)) —4
6395 (5) = (4% — V4%) /4% 6438 (6) = sq(sq(4))/4% + V4 + sq(T'(4))
6396 (4) = .4-T(D(4))V* -4 6439 (6) = sq(sq(4/4)) —T(T(4)) — V4
6397 (6) = (sq(sq(4)) + 4%) /4% — 4 6440 EG; = 283(5514(4)) JE 4( )‘)1)/ 4%
— Vi 6442 (6) = sq(T'(4)) + T'(4) + sq(sq(4))/4%

6399 (4) = 4 T(C(4)"" ~T(V4) 6443 (6) = sq(sq(4/.3)) — T((4)) + V4
6400 (0) = 1/ (4 - (4! — 4))* 6444 (4) = 4/4 - (T(4)! — 4)

7. Vi 6445 (6) = sq(sq(4/.4)) — T(T(4)) + 4
6401 (4) % F(F(4)) +I(VY) 6446 (6) = (sq(sq(4)) + V4) /4% —
6402 (4) = 4. D(C(4)Y" + V4 64T (0) — sq(sq(4/.8) + () - r(r(4>)
6404 (4) = - r(r(4))f +4 6449 (6) = (sq(sq(4)) + r(\/’ /4% + 41
6405 (5) = (V4% + 4*) /4% 6450 (5) = (V4 +4")/4%
6406 (4) = 4-T(T(4))V* + T(4) 6451 (6) = (sq(sq(4)) + V4 +4%)/4%
6407 (6) = (sq(sq(4)) + 4%)/4% + T'(4) 6452 (6) = (sq(sq(4)) + vV4)/4% + V4
6408 (6) = sq(sq(4))/4% + 4 + 4 6454 (6) = (sq(sq(4)) +v/4)/4% + 4
6409 (6) = sq(sq(4))/4% + 4/.4 6455 (6) = (sq(sq(4)) + f 4+ V4%) /4%
6410 (6) = sq(sq(4))/4% + 4/ .4 6456 (4) =4-T'(4)!/4 -
6411 (6) = (sq(sq(4)) + .44)/4% 6457 (6) = sq(sq(4/.4)) — ( (4)) + sq(4)
6412 (6) = sq(sq(4))/4% + sq(4) — 4 6458 (6) = (sq(sq(T'(4))) + 4)/V4% —
6413 (7) = sq(sq(4/.4)) — T(T(4)) @ sq(T'(4)) 6459 (6) = (sq(sq(T(4))) — 4)/V4% — \f
6414 (6) = (sq(sq(4)) — .4)/4% + 4! 6460 (5) = (I'(4)* — 4)/v4%
6415 (6) = sq(sq(4))/4% +T'(4)/ .4 6461 (6) = sq(sq(4/.4)) — 4/4%
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6462 (4) = 4/.4- (T(4)! — V4)

6463 (6) = sq(sq(T'(4)))/ V4% — T(V4) — sq(4)
6464 (4) = 4 - ([(4)!/.4—4)

6465 (6) = sq(sq(4/.4)) —4- 4!

6466 (6) = (sq(sq(4)) +V4) /4% + sq(4)
6468 (4) = I'(4) - (0(4)!/V. 2 — /4)

6469 (6) = (sq(sq(T'(4))) — T(v4))/V4% —T(4)
6470 (5) = (D(4)* — v4)/vV4%

6471 (4) = (4-T(4)! —4)/3

6472 (4) = 4 - (T(4)!/.4— \/4)

6473 (6) = sq(sq(C(4)))/V4% — T (v4) = T(4)
6474 (4) = 4-T(4)!/.4 —T(4)

6475 (5) = (T(4)" - T(v4))/ V4%

6476 (4) = 4-T'(4)!/.d—4

6477 (4) = (T(4) -T(4)! — v4)/V 4

6478 (4) = 4-T(4)!l/ 4 — 4

6479 (4) = 4-T'(4)!/4 — T(/4)

6480 (2) = 4/.4- (41/4)!

6481 (4) = (4-T(4)! + 4)/ 3

6482 (4) = 4-T(4)!/4+ 4

6483 (4) = (I'(4) -T(4)! + vV4)/V 4

6484 (4) = 4-T(4)!/ 3 +4

6485 (5) = (T(v4) +T(4)")/ V4%

6486 (4) = 4-T'(4)!/.2 +'(4)

6487 (6) = sq(sq(sq(4))) — V*X/4/ 4

6488 (4) = 4 - (T'(4)!/.4 + V4)

6489 (4) = (4-T(4)!+4)/.3

6490 (5) = (V4 +4! — 4%)/.4%

6491 (6) = (sq(sq(T(4))) + I'(vV4))/v4% + T(4)
6492 (4) = I'(4) - (T(4)!/V 2 + V1)

6493 (7) = sq(sq(4/-4)) @ sq(sq(4)) —4
6494 (5) = (V4 +41)/.4% — T'(4)

6495 (6) = (4 — V4% + sq(sq(4)))/4%
6496 (4) = 4 - (T(4)!/. 4+ 4)

6497 (6) = sq(s¢(4/4) — V4) + sq(sq(4))
6498 (4) = 4/.4- (T(4)! + V4)

6499 (5) = (V4 +41)/.4% — T(v/4)

6500 (5) = (44 + 4)/4%

6501 (5) = (V4 + 4!+ .4%)/.4%

6502 (5) = (V4 +4!)/.4% + V4

6503 (6) = sq(sq(T'(4)))/V4% — T(V/4) + 4!
6504 (4) = 4-T'(4)!/.4 + 4!

6505 (6) = sq(sq(4/.3) +4) — T(4)!

6506 (5) = (V4 +41)/.4% + T'(4)

6507 (6) = (sq(4!/.4) —41)/.3
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6508 (6) = sq(sq('(4)))/vV4% + 4! + 4
6509 (6) = sq(sq(4/.4)) — sq(4) — sq(T'(4))
6510 (5) = (V4 + 4! + 4%)/.4%

6511 (6) = sq(sq(4/.4)) — V4/4%

6512 (6) = ¥/sq(4) +4!/.4%

6513 (6) = sq(sq(4/.4)) — 4! — 4!

6514 (6) = sq(sq(4))/4% + T'(T'(4)) — T'(4)
6515 (6) = (sq(sq(4)) — V4%)/4% + T(T(4))
6516 (4) = 4/.4- (T(4)! + 4)

6517 (6) = sq(sq(4/.4)) — 44

6518 (6) = T'(T'(4)) — v4 + sq(sq(4))/4%
6519 (6) = (sq(sq(4)) — 4%) /4% + T'(T'(4))
6520 (4) = .2-T(T(4))V* + T(T(4))

6521 (6) = sq(sq(4/.4)) — sq(4)/ .4

6522 (6) = 4! - (sq(sq(4)) + sq(4)) —T(4)
6523 (6) = sq(sq(4/.4)) — V4 - sq(T(4))
6524 (5) = (V4 +4!)/.4% + 4!

6525 (5) = (T(T'(4)) — 4)/.4/4%

6526 (6) = (sq(sq(4)) +T'(4))/4% — 4!
6527 (6) = sq(sq(4/4)) — sq(T(4)) + V4
6528 (4) = [(T(4)) - (4!/.3 + .4)

6529 (6) = sq(sq(4/.4)) — V/4

6530 (6) = (sq(sq(T'(4))) + 4/.4)/vV4%
6531 (6) = sq(sq(4/.4)) —T'(4) — 4!

6532 (6) = 4!- (sq(sq(4)) + sq(4)) +4
6533 (6) = sq(sq(4/.4)) —4 — 4!

6534 (4) = (4-T(4)! +41)/ 4

6535 (6) = sq(sq(4/.4)) — 4! — /4

6536 (6) = (V4 + 41)/.4% + sq(T'(4))
6537 (2) = (4/D)" — 4!

6538 (6) = sq(sq(4/.9)) — 4! + I'(v/4)
6539 (6) = sq(sq(4/.4)) — 4! + /4

6540 (5) = ['(4)/.4% + T'(4 + 4)

6541 (6) = sq(sq(4/.4)) — 4! + 4

6542 (7) = (sq(sq(4)) +T'(4))/4% @ 4!
6543 (6) = sq(sq(4/.4)) — 4!+ T'(4)

6544 (6) = 4 - (['(4)!/.4 + sq(4))

6545 (6) = (4/.4)" — sq(4)

6546 (6) = (sq(sq(4)) +T'(4))/4% — 4
6547 (6) = sq(sq(4/.4)) — sq(4) + V4
6548 (6) = (sq(sq(4)) +T(4))/4% — V4
6549 (6) = sq(sq(4/.4)) — sq(4) + 4

6550 (5) = (T'(4) + 44)/4%

6551 (6) = sq(sq(4/.3)) —4/.4



6594 (6) = (sq(sq(T'(4))) + 41)/VA% — T(4)
6552 (4) = 1/ (4! = T(4))"™™ +T(4)! 6595 (6) = sq(T'(4)) — V4 + sq(sq(4/.3))
6553 (6) = W —4 6596 (6) = (sq(qul(F(‘i))();(L ‘)*;)/ VA% 4

- (44
6354 (5) = VA% - A+ 6398 6) = (ST + )T~ v
6555 (4) = (4/.9)" — T(4) 0590 () = saoa(l) D) b (T + vi
6556 (6) = sq(sg(:l/A)) —V4/4 6600 (4) f ((( (4)/ Z)) + sq(4)/.4
e e i 6002 (6) = ooal )+ 1+ )/
6538 (6) = sq(sq(4/4)) — v/4/4 6603 (6) = sq(sq(4/.2)) + sq(T(4)) + T(4)
6559 (2) = (4/.4) — V4 6604 (6) = (V4 + 4!) - (sq(sq(4)) — v/4)
6560 (4) = (‘(1/ 4) 4—/ 1;())1/1) 6605 (6) = sq(sq(4/.- %;g +4‘t DYsald)
6561 (0) = ((4—4)/. 606 (6) = sq(sq(4/.4 54
6562 (4) = (4/.3)" + T(+/4) 2607 §7§ = ssqq [(T(4)) — 5q(T(4))) —T(v4) ®sq(4!)
6563 (2) = (4/0)' +v4 6608 (€) = (41~ -4) (sq(aa(4) -4
6564 (6) = sq(sq(4/.9) + v/4/4 6609 (g) = ?q(? (‘(lé (‘i)))) )++ \/t+4') T
6565 (2) = (4/.4) +4 ggi(l) 263 _ Sfl( q(4/.4)) +V4/4%
6566 (6) = sq(sa(4/-0)) + V4/.4 6612 (6) — 41/.4% + sq(4!) + sq(T(4)) -
6567 (4) = (4/:4) +I'(4) 6613 (6) = sq(T'(4)) + sq(4) + sq(sq(4/-4))
6508 (6) = .4 - (sq(sq(s9(4)))/4 + s9(T'(4))) 6614 (7) = T(T(4)) — T(v4) ® sq(sq(4/ 1))
6569 (6) = sa(aq(l/.4)) +-4 +4 6615 (6) = sq(sa(sq(4)) —4)/4!/ 4
6570 (6) = (sq(4!/.4) +4)/.4 6616 (6) = (sa(sa(sq(4))) + (4 +4)1)/sq(4)
6571 (6) = sq(sq(4/.4)) + 4/4 617 (7) = (4/.3)" @ T(T(4))
6572 (6) = 4l/.4% + sq(4) — 4 6618 (6) = syT TNV s(s) ~T(0
6573 (6) = sq(sq(4/4)) + sq(4) — 4 10 (o) = [(T(4) + VA sals0(4/ D)
oo (63 e /(4 ((117:)(1)(4')f \f q(4) 6253 §5; - (4! — .4)/.4% + T(4)!
6575 (6) = sq(sq s _ s
6576 (4) =4- (T ( )!/ .4+ 41) 223; Egg ; ?g(g(g(é‘/(ﬁl)))))tﬁ)//f/l — sq(4!)
G577 (6) = (4/ ) + sq(4) 6623 (6) = (sa(T(T(4))) — v)/v - sa(4)
6578 (6) = 4!/ 4% + sq(4!) + V4 6624 (4) = 41- (D(T(4))/.4 - 41)
6579 (6) = sa(sq(4/.4)) + 4! ~ T(4) 6625 (6) = (sq(sq(4)) +4/.4)/4%
6580 (6) = sq(4!) +4 + 4!/.4% 6626 (6) = (V4% + 41)/. % + sq(4)
6581 (6) = sq(sq(4/4) — 4 + 4 6627 (6) = (sq(T(T(4))) +T(4))/v/1~ sq(4)
6582 (6) = 4!/.4% + sq(4!) + T(4) 6628 (6) = 41 - sq(sq(4)) + sq(4‘ v4)
6383 (6) = sq(sq(4/ D) +4! - V4 6629 (7) = sq(sq(4/4)) —4 & T(T(4))
6584 (6) = sq(sq(4/-1)) (V1) + 4! 6630 (5) = D(T(4))/4%/.3 — T(T'(4))
6585 (2) = (4/.3)" + 4! 6631 (6) = (sq(sq(4)) — T(v/4))/4% + sq(sq(4))
6586 (6) = (4! + 4%) /4% + sq(4) 6632 (6) = sq(sq(4)) - (VA +41) — 41
6587 (6) = sq(sq(4/.4)) + V4 + 4! 6633 (6) = v/4- sq(F(4)) + 5q(sq(4/.4))
6588 (4) = (4( (4)/ 5)(1;(?,)4'1 6635 (8) = 4% - sq(sq(4!)) — 4% />}F(\/‘I)
6589 (6) = sq(sq : — 4% q(41)) + 41)
6590 (6) = (sq(sq(T(4))) + 4! — V4)/v/4% gggg Egg _ ;1(<17(8q((4'(sr((4))))+ T(T(4))) >> sq(4)
oot ity e A 6638 (7) = (sq(sa(4)) + T (4))/4% & T(T(4))
6505 (6) = saoa(h) ) - V3 000 (6) = (F(E+ sat)/4
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6670
6671
6672
6673
6674
6675
6676
6677
6678

(sq(sq(T'(

6679
6680

6681
6682
6683
6684

r
(
(
(
(
(
(

(6)
(6)
(6)
(6)
(6)
(5)
(6)
(6)
(6)
(6)
(6)
(6)
(6)

6
6
4
6
6
6

N
N

)
)
)
)
)
)

-V T(T(4)) + sq(sq(4/.4)) 6685 (6) = sq(sq(4/.4)) + T(T'(4)) + 4
= sq(sq(4/.9)) + sq(4/.4) 6686 (7) = (sq(sq(4)) — V4) /4% @ T(4)!
= 4!- sq(sq(4)) + v4/.4% 6687 (6) = T'(T'(4)) + T'(4) + sq(sq(4/.4))
= sq(sq(4/.4)) + T(T'(4)) — sq(I'(4)) 6688 (6) = sq(sq(4))/4% + 4 -T(4)!
= (sq(sq(4)) — .4)/4% + sq(sq(4)) 6689 (6) = sq(sq(4))/ V4 + sq(sq(4/.4))
= (4! - F(ﬂ)) sq(T(V/4) + 5q(4)) 6690 (6) = (sq(sq(L(4))) + sq(T(4)) + (4))/V4%
= sq(sq(T(4)))/ V4 + 41/.4% 6692 (6) = sq(sq(4)) - (V4 +4!) + 5q(T'(4))
= sq(sq(4/.4) —4) + T(4)! 6693 (7) = sq(sq(4/.4)) ® sq(T'(4))/4%
= (T(T(4))/-4 — 4)/4% 6694 (7) = (sq(sq(4)) — .4)/4% @ D'(4)!
= sq(sq(4/.4)) + sq(I'(4))/ .4 6696 (4) = (4 +4)!1/T(4) — 4!
= s5q(sq(4)) - (V4 +4!) -4 6697 (6) = sq(sq(4/.4)) + T(T'(4)) + sq(4)
= (sq(sq(4/.4)) @ T(I'(4))) + sq(T'(4)) 6698 (7) = T'(v/4)/.4%/4% & sq(4!)
= sq(sq(4)) - (VA +4) — V4 6699 273 = E?q(SQ(;l')) (\/z%;i%(e; r(4)!

Vi 6700 (4) = (4 +4)!-TI(T I'4

VI + T Vi 6701 (6) = sa(sa(T(4)) — T(v))/v/4% + sq(41)
=4t (Va+4y 6702 (7) = sq(sq(4))/4% — VA @ T(4)!
= 5q(sq(4/-4) +4-4! 6703 (7) = (sq(sq(4)) — 4%) /4% @ T(4)!
= sq(sq(4)) - (VA+4) + V4 6704 (6) = (4 + 4)!/T(4) — sq(4)
= (sq(s4(C(4))) + saCW)/VIT-TNVD) 6705 (6) = sq(eq(4/3)) + 41 - T(4)
=T(4)!/4+T(4+4) 6706 (6) = (sq(sq(4)) + v4)/4% + sq(sq(4))
= sq(sq(4/.4)) + 4/4% 6708 (6) = (V4 + 4!) - (sq(sq(4)) + V4)
= sa(sa(4)) - (VA+ 49 + T(4) 6709 (8) = ((sq(T(T(4))) @ sq(T(4)1)) >> T(4)) —
= (sq(sq(sq(T(4))/ A% >> sa()) + s4(sq(T(4)))
6710 (5) = (4! — 4%)/.4% + T'(4)!
= V- (sq(4/4%) - 4) 6711 (6) = sq(sq(4/.4)) + T(4) /4%
= sq(sq(4/.4)) + T(T(4)) — sq(4) 6712 (6) = sq(T'(T'(4)) — 4)/vV4 — sq(4)
= (sq(sq(4)/4%) — sq(4)) /4! 6714 (4) = (4 + 4)!/T(4) — T(4)
= V4 (sq(4/4%) + V4) 6716 (4) = (4 +4)!/T(4) —
= (D(T(4)) /4% — sq(T(4)))/ 3 6717 (6) = sq(sq(4/.1)) + T(T(4)) + sq(T'(4))
= (4! — V4%)/.4% + T'(4)! 6718 (4) = (4+4)!/T(4) — V4
= sq(T(T(4)))/v/3 — sq(4! — T(\/4)) 6719 (4) = (4 +4)! - T(4))/T(4)
=4l (sq(sq(4)) + 4! — /4) 6720 (0) = 4- (4 +4)!/4!
= sq(4! - T(V1)) + 4! - sq(sq(4)) 6721 (4) = (4 +4)! + T(4))/T(4)
= (sq(T(T(4)) — V) — sq(41))/V1 6722 (4) = (4 +4)/T(4) + Vi
= sq(sq(4/4)) + T(T(4)) — T(4) _
= sq(V4 + 41) + 41/.4% 223 Eg _ ?Z(l/s)?j‘;q(( )( DAREL
b - 6725 (5) = (L(L() — 4/4/4%
sa( 6726 (4) = (4 +4)!/I'(4) + T'(4)

Lo 0} S v 6727 (6) = (sq(L(T ( )) ) ﬂ)/ﬂ
= sq(sq(4)) - (VA + 4) + 4! 6728 (4) = /(O(
= (4/0)" +T(T(4)) 6729 (6) = (sq(I'(T ( )) )+\f)/\/Z
= (VA +4!) - (sq(sq(4)) + T(v4)) 6730 (5) = (4! +4%)/.4% + ['(4)!
= sq(sq(4/.4)) + T(T(4)) + V4 6731 (6) = (sq(T(T'(4)) —4) + T'(4))/V4
= (sq(sq(4) — .4) +41)/4% 6732 (6) = sq(T'(T'(4)) — 4)/vV4+ 4
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6734 (6) = I(['(4))/4%/.4 — sq(4)

6735 (6) = sq(sq(T'(4)))/V4% — T(V4) + sq(sq(4)) sa(sq(T(4)))

6736 (6) = (4 + 4)!/T(4) + sq(4) =

6737 (6) = (sq(sq(T(4))) + V%) / V4% +sq(sq(4))

6738 (6) = (sa(sq(T(4))) + 4)/ V4% + sq(sa(4))

6740 (4) = (D(T(4)) + (4 + 4)!)/T'(4)

6741 (5) = (D(T'(4))/4% — 4)/ .4

6742 (6) = sq(s¢(T'(4)))/ V4% + sq(sq(4)) + T(4)

6744 (4) = (4 +4)!/T(4) + 4!

6745 (6) = (sq(sq(T'(4)) + sq(4)) —T'(4))/ 4

6746 (5) = I(['(4))/4%/.4 — 4

6748 (5) = T(['(4))/4%/.4 — /4

6749 (5) = T'(T'(4))/4%/ .4 — T'(v/4)

6750 (4) = T[(4)!/V 4.4/ 4

6751 (5) = (D(T'(4)) /.2 + 4%) /4%

6752 (4) = V- (V1" —T(4))

6753 (7) = sq(sq(4/.4)) + [(T(4)) ® T(T'(4))

6754 (5) = T(['(4))/4%/ .4 + 4

6755 (6) = (sq(sq(T(4)) + sq(4)) — v4)/ 4

6756 (5) = ['(['(4))/4% /.4 + T'(4)

6757 (6) = sq(sq(4) — v/4) + sq(sq(4/.4))

6758 (6) = sq(sq(T'(4)) + s¢(4))/4 — V4

6759 (5) = (D(T'(4))/4% +4)/.4

6760 (6) = sq(4! + 4 +41)/.4

6761 (6) = (sq(sq(T(4)) + sq(4)) + .4)/.4

6762 (6) = sq(sq(T'(4)) + sq(4))/.4 + V4

6764 (6) = sq(sq(T'(4)) + sq(4))/.4+4

6765 (6) = (sq(sq(T(4)) + sq(4)) +v4)/ 4

6766 (6) = T(I'(4))/4%/.4 + sq(4)

6767 (6) = sq(I'(I'(4)) — sq(I'(4)))
sq(T(V4) + sq(4)) B

6768 (4) = T'(4)!- (4/4 + .4)

6769 (6) = sq(sq(4/.4) + v4) — T(T(4))

6770 (5) = (V4% + 4!)/.4% + T'(4)!

6772 (6) = sq(v4/4% + 4!) + sq(sq(T(4)))

6774 (5) = T(['(4))/4%/ .4 + 4!

6775 (5) = (D(T(4)) + .4)/.4/4%

6776 (5) = V*%/T(4) — 4/.4%

6777 (6) = \/T(4)"™ + sq(sq(4/3))

6778 (6) = 4%
(sq(T(T(4)) + V4) + s¢(sq(s¢(T(4)))))

6780 (5) = (T'(4) +4!)/.4% — T'(4)!

6781 (6) = sq(sq(4)) — sq(T'(4)) + sq(sq(4/.4))
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6783 (8) = (sq(T'(4)!) — sq(sq(T'(4))) >>T(4)) —

6784 (4) = 4- (41— 4)-T'(4)!

6785 (7) = (sq(sq(4!) —T'(v4)) @ sq(sq(4!))) —
s5q(sq(4)) B

6786 (6) = (T'(T'(4)) /4% + sq(4))/.4

6788 (6) = (sq(T(T'(4)) — 4) + [(T'(4)))/V4

6789 (7) = sq(sq(4/.4)) + sq(sq(4)) ® sq(I'(4))

6790 (6) = (sq(sq(4)) + sq(4) — .4)/4%

6792 (4) = \/ \/ VA /A - T(T(4))

6793 (6) = sq(sq(4/.4)) + sq(sq(4)) — 4!

6794 (6) = (sq(sq(4)) +sq(4))/4% — T'(4)

6795 (6) = (sq(sq(4)) + sq(4) — V4%) /4%

6796 (6) = (sq(sq(4)) + sq(4)) /4% — 4

6798 (6) = (sq(sq(4)) + sq(4)) /4% — V4

6799 (6) = (sq(sq(4)) + 5q(4))/4% — T(V4)

6800 (4) = T'(4)!- (4/4+ 4)

6801 (6) = (sq(sq(4)) + sq(4) + 4%) /4%

6802 (6) = (sq(sq(4)) + sq(4)) /4% + V4

6803 (6) = sq(sq(T'(4))/.4) —T(v4) — s¢(sq(T(4)))

6804 (4) = I'(4/.4)/T(T'(4))/.4

6805 (6) = (sq(sq(4)) + sq(4) + V%) /4%

6806 (6) = (sq(sq(4)) + s5¢(4)) /4% + T'(4)

6808 (6) = (sq(T(T'(4))) — sq(4! + 4))/V/4

6809 (6) = sq(sq(T'(4)) + T'(v4))/V4% — sq(T (4))

6810 (6) = sq(sq(I'(4))/.4) — sq(sq(T'(4))) + T'(4)

6811 (6) = sq(sq(4/.4)) + T'(V4)/.4%

6812 (6) = (V4 +4!) - (sq(sq(4)) + T(4))

6813 (6) = sq(sq(4/.4)) + sq(sq(4)) — 4

6814 (7) = sq(I'(T'(4)) — sq(I'(4))) ® T(T'(4))/ 4

6815 (6) = sq(sq(4/.4)) + sq(sq(4)) — V4

6816 (4) = 4!- (4-T(4)! —4)

6817 (6) = sq(sq(4/.4)) + 4*

6818 (6) = sq(sq(4/-4)) + sq(sq(4)) + T(V4)

6819 (6) = sq(sq(4/.3)) + sq(sq(4)) + V4

6820 (6) = sq(sq(I'(4))/.4 — 4) — sq(4!)

6821 (6) = sq(sq(4/.4)) + sq(sq(4)) + 4

6822 (6) = (sq(T(T(4))) — T(4)! — sq(T'(4)))/V4

6823 (6) = sq(sq(4/.4)) + sq(sq(4)) + T'(4)

6824 (6) = (sq(sq(4)) + sq(4))/4% + 4!

6825 (6) = T'(sq(4))/(4!/\/4)!/.4

6826 (6) = (sq(sq(sq(4)))/-4 — sq(4))/4!

6827 (7) = sq(sq(T'(4))) —T(V4) @ sq(sq(T'(4))/.4)

6828 (6) = 4!-sq(sq(4)) + T'(4)! — sq(T'(4))
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6874 (6) = sq(sq(4!)) — sq(sq(4!) —
6875 (5) = \/T(vA) + T(T(4))/. 4%/ L
6876 (6) = (4/.4)!/sq(4!) + sq(4!)
6877 (6) = sq(sq(4!)) — sq(sq(4!) —
6878 (6) = sq(sq(4!)) — sq(sq(4!) —
6880 (4) = ['(4)! - (4/.4 — 4)
6881 (6) = sq(sq(4/.4)) + .4 -T(4)!
6882 (6) = (sq(sq(4!))/v4—T(4 ) )/4‘
6883 (6) = sq(sq(4/.4) +/4) —
6884 (6) = (sq(sq(4)) + sq(4. 4))/4%
6885 (6) = sq(sq(4/.4) +/4) — 4
6887 (6) = sq(sq(4/.4) +V4) — V4
6888 (0) = \// V4 /va — 41
6889 (6) = sq(44/.4 — sq(4))
6890 (6) = (sq(v/4/4%) + sq(sq(4)))/-4
6891 (6) = sq(sq(4/.3) + V4) + V4
6892 (6) = sq(sq(4!)) — sq(sq(4!) —
6893 (6) = sq(sq(4/.4) +V4) +4
6894 (6) = (VAI'™ — sq(T'(4)))/V/4
6895 (6) = sq(sq(4/.3) +v/4) + T (4)
6896 (6) = sq(4!) - (sq(4) — 4) — sq(4)
6897 (6) = (sq(sq(4!)) —T(4)!)/4!/V/4
6898 (6) = (sq(V V4%/.4%) + sq(sq(T'(4))))/v/4
6900 (0) = (\/ \/ V4* — 4')/f
6902 (6) = (sq(T(T(4) —v4) —
6903 (8) = (v/sq(sq(4)) << F(4)
6904 (6) = V4 - (T(4) - sq(4!) — 4)
6905 (6) = sq(sq(4/4) +V4) + sq(4)

/.4 6910 (0
6911 (0) = (\ \/ VA" — 1) /4
6912 (0) = .4- 4! - (4!/4)!

6913 (0) = (\/ \/ V4" + V4) /4
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L(4)) +T(vV4)

I'(4)) + sq(4)



6914 (0) = (\/ \/ VA" + 4)/v4

6915 (4) = (V4a'™® 1 T(4))/v/4

6916 (0) = \/ \/ VA" /VA+4

6917 (6) = (sq(sq(4!))/V4+T(T(4)))/4!

6918 (4) = \/\ V4" /4 +T(4)

6919 (7) = (sq(sq(T'(4))) ® T(T(4)))/ V4% —T(v/4)
6920 (6) = V4 - (T'(4) - sq(4!) +4)

6921 (6) = (sq(vV4/4%) + sq(41))/ 4

6922 (6) = (sq(sq(4!))/T(T'(4)) +4)/ 4

6923 (7) = (sq(s¢(C(4))) — T(v4))/ V4% @ sq(4!)
6924 (0) = (\/ VA" + 41)/v4

6925 (6) = sq(sq(4/4) + V4) + sq(T(4))

6926 (6) = (sq(sq(4)) — V4)/4% + sq(4))

6927 (6) = (sq(sq(4!)) + T(4)1)/v4/4!

6928 (4) = 4!- (.4-T(4)! + vV 4)

6929 (6) = sq(4! — T'(vV4)) + sq(sq(4)) /4%

6930 (6) = T'(4!/v/4)/5¢(T(T(4)))/-4

6932 (6) = 4!- sq(T'(V/4) + sq(4)) — 4

6933 (7) = sq(sq(4/.4)) + sq(T'(4)) & T'(4)!

6934 (6) = 4! - sq(T'(vV4) + sq(4)) — V4

6935 (6) = 4! - sq(T(vV'4) + s¢(4)) — T(V4)

6936 (0) = \// VA" /A + 41

6937 (6) = sq(sq(4/.9)) + sq(sq(4)) + T(T'(4))
6938 (6) = sq(T'(T'(4)) — V4)/v/4 — 4!

6939 (6) = (sq(sq(T'(4))) + sa(sa(4))))/V4/4!
6940 (6) = 4!- sq(T(vV4) + sq(4)) + 4

6941 (6) = (s¢(T(T'(4))) — T(4))/v/4 - sq(sq(4))
6942 (6) = 4!- sq(T'(v/4) + sq(4)) +T(4)

6943 (6) = (sq(T(T'(4))) — V4)/V4 - sq(sq(4))
6944 (6) = 4/.4-T(4)! — sq(sq(4))

6945 (6) = sq(sq(4/.4)) +4! - sq(4)

6946 (6) = sq(T(T'(4)) — V4)/v/4 — sq(4)

6947 (6) = (sq(T(T(4))) +T(4))/v4 - sa(sq(4))
6948 (6) = sq(sq(4!) +'(4)) —4!*

6949 (6) = sq(sq(4!) +T(4)) — sq(sq(4!)) + T(v4)
6950 (5) = (4! + 4 — V4%)/.4%

6951 (6) = (sq(sq(4)) — T'(v4))/4% + sq(4!)
6952 (6) = sq(sq(4))/4% + sq(4!) — 4!

6953 (7) = sq(sq(T'(4)))/V4 @ sq(sq(4/.9))
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6954 (6) = (sq(T(T'(4)) — V4) — sq(4))/V4
6956 (6) = sq(I'(I'(4)) — sq(T'(4))) — 4/4%
6958 (6) = sq(T(T(4)) = V4)/vV4 -4

6959 (6) = (sq(T(T(4)) — v4) —T(4))/v4
6960 (4) = 4 - ([(4)! —4!)/.4

6961 (6) = sq(sq(4/.4)) + sq(4)/4%

6962 (4) = 1/ (T(T(4)) - vA)' /4

6963 (6) = (sq(T(T(4)) — V4) +v4)/v4
6964 (6) = (4! + 4)/.4% — sq(T'(4))

6965 (6) = (sq(T(T(4)) — v4) + T(4))/V4
6966 (6) = (sq(sq(4)) — .4)/4% + sq(4!)
6968 (6) = sq(T'(T'(4)) + 4)/v4 — T'(4)!
6969 (6) = sq(sq(4/.4) +4) — sq(sq(4))
6970 (5) = T'(V/4)/.4% /4% + T'(4)!

6971 (6) = (sq(sq(4)) — V4%) /4% + sq(4!)
6972 (4) = (V4@ 4+ 1(T(4)))/V4

6973 (7) = sq(sq(4/.4)) — sq(T'(4)) @ sq(4!)
6974 (6) = sq(s9(4)) /4% + sq(4!) — V4
6975 (5) = (T(T'(4)) + 4)/.3/4%

6076 (4) = \/vA" +4-T(4)!

6977 (6) = (sq(sq(4)) +4%)/4% + sq(4!)
6978 (6) = sq(sq(4))/4% + sq(4!) + /4
6980 (6) = sq(sq(4))/4% + 4 + sq(4!)

6981 (6) = (sq(sq(4)) + V4%) /4% + sq(4!)
6982 (6) = sq(sq(4))/4% + sq(4!) + T'(4)
6983 (8) = (sq(sq(sq(T'(4))))/ 4% >> sq(4)) +
6984 (6) = (4!+4)/.4% — sq(4)

6985 (6) = sq(sq(T'(4)) — T(v/4)) + .4 - 5¢(T(T(4)))
6986 (6) = sq(T'(T'(4)) — V4)/v4 + 4!
6987 (7) = sq(sq(4/.4)) — T'(4) & T(4)!
6988 (7) = YV/T(4) — 4 @ sq(sq(T'(4)))
6989 (7) = sq(sq(4/.4)) —4 T (4)!

6990 (5) = (4 — 4% + 41)/.4%

6991 (7) = sq(sq(4/.4)) — VA @ T(4)!

6992 (6) = V3T/T(4) — sq(4! + 4)

6993 (6) = sq(sq(4/.4) + T'(4)) — sq(4!)
6994 (5) = (4! +4)/.4% — T'(4)

6995 (7) = (sq(sq(T'(4))) — T(v4) & T(T'(4)))/v4%1
6996 (5) = (4! +4)/.4% — 4

6997 (7) = sq(T'(4)) + T'(4)! @ sq(sq(4/.4))
6998 (5) = (4! +4)/.4% — V4

6999 (5) = (4! +4)/.4% — I'(vV/4)

7000 (4) = T(D(4)) - (4! = V4) /.4



7001 (5) = (4;+4+ 4
7002 (5) = (41 + 4)/.4 %)/ A%
7004 (2) = (4t + s TOL () — a1 salealh) + oa(f () 2%
Sq(r(4))(7) = (sq(sq(4!) — T(vA)) ® sq(sq(4! 7046 (6) = zgg;q(gjl(/f)) + sq(4! = V/4)
7006 (5) = (4! + 4 q(4)) —  T047(6) = sq(F(p(4;; _ sq(I'(4))) — 4/.4
7007 (6) = T(T +4)/.4% + T(4) 7048 (6) = (41 + 4) sq(T(4))) —4/4
7008 (4) — 41- (4)/ 4)/sq(T(4)1) /4! 7049 (6) = sq(T(T 4)5)‘1(_3‘1(4)) T(T'(4))
7009 (6) = (4-T(4)! +4) 7050 (5) = (VAR + 4 4fq(r(4)))—1"(\/1)—r(4)
i O VAR AR 1051 (6) = sg(T(E (D) sa(T(
7011 (6) = sq(T (FVT 4)/.4% 7052 (5) = V/T() - F?Z)Q (4) - v4/4
7012 (6) = sq(T (1‘(4)) —sq(I'(4))) — ( )/ sq(4) 7053 (6) = sq(T'(T'(4)) — -
7014 (6) = 4! - (s ((S)) —sq(T'(4))) - 7054 (5) = V*%/T(4) — F?Z)(F(‘l))) - V4/1
7015 (7) = (sq(T(4 ))(_))4+ sq(L'(4 ))) T(4) 7055 (5) = %/T(@) — T4 ;:\/Z
TOLG (6) = (4t + /4% @ s TED) 1056 (0) = (44440 =TV
= sq(4!) — : 57 (5) = V%, ‘
7018 (6) = S;I((F },(4;(_(5)) + sq(sq(4/.9)) 7058 (5) = W{/?% —T(4)! + T'(v4)
O (6) = sq(T(T(4)) E(S( ) - sq(T(4)) —vd 7059 (6) = sq(T(T 4) -T@)!+v4
q(70(2%)))(4) 4 o(EO = T/ - ;060 (5) = % F((‘l)))—_ra)(!rﬁ)H 474
=4-T(4 061 (6) = s — T
) O i + o - o (5 = St Y rch i
1) — 7063 (6) = -4
7022 (6) = sq(T(T'(4)) —
T e e~ LNV Tooa (6 = en i iy T/
7094 5) — ?Z'(SM/ ) eT(4)! — va ;065 (6) = sq(T(4)! /sq(z)) iq#i)
7025 (6) = (sa(oa(l0) + 1L 7066 (6) = sa(T(T(4) - M(C) +
7026 (6) = (sq(sq(4)) +L(v4) +41) /4% T = sq(r(r(4)§) " el
7027 (7) = Sq%sq%i/)zl;r V4) /4% + sq(4!) \/F(\/‘I) +T(I'(4)) —s¢(C(4)) +
7028 (6) = sq(T(T(4 )))_ T'(4)! +f 7068 (6) = sq(T'(T(4)) —
1099 () = secoas/ By o nta 7069 6) = (salDT (L)) — saloa) ~ TN
ChEE T R ST
6) = sq(T(T(4)) — sq(T 4 = sq(T(T(4)) - :
4))) - 7072 (6) = 4 - sq(T(4))) + T (4
7032 (4) = ‘/‘/ﬁ/ﬂﬂ(m)) —-T(V4) 7073 (6) = Sq(:qq(gf/q%)(zi)) (( 4))) +4§ )/-4
7033 (6) = s ) 7074 (6) = 5q
7034 Eﬁg _ Sgg!(/lé)})[ sq(D(4))) — 4! + T(v/4) 7075 (6) = Ezggg/%))_’)_ . ?‘Z(SQ( ) +4)/V4
7035 (7) = (sq(sq(4‘) r_sq wa(4)) ;076 (6) = (VA +4Y)/. 4%q+ ) | L(®)/4%
PR U B T
7(7) = ° = (sq(T(T(4))) — —I(T(4))
s o ﬁq?(rsfr(?ii) T el o 080 (1) Ej?(F(FE‘iggg v Tathy
6) = sq(T(C(4)) - ) -4 sl = ) e
7040 (4) = (4 sq(T'(4))) —T(V4) —s 81 (6) = (sq(I'(I'(4)) —
041 (9) = saloalt) D) + 4 T e i Es«rgrggg) Ve
42 (6) = s - -T(T'(4)) = (sq(T'(T'(4 ¥
o (73 = w(CT(8) ~a(C(0) s+ Vi 7084 (4) = ﬁ-(r LD) + T4 /v~ T(T()
a(sq(4)) = T(v/4)) )+ V4 7085 (6) (41)/(4! - 4)!
® sq(sq(4D) +v4 7086 (6)) = (C(VA4) + T(°(4)) + sq(s
= salT(T(8) - saT8) + r(4) + LWT%I
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7087 (8) = (4/.4)! >> 4/ 4 7129 (6) =
7088 (6) = sq(T(T'(4)) — sq(T(4 . ( ): 5¢(sq(T(4)) + T(v/4)) + .4 - sq(T(T(4)))
7089 (1) = (sq(sq(:;l.(z)g e)a))s;(s;@( ) - ;ig; (2) = sq'(SCI(‘l/ 4)) —[(4) + sq(4)
sq(sq(4)) 7133 263 _ ii("'éi/ %I)(S (4)()4‘—) sq(T'(4))
7090 (6) = sq(4! — T'(v4)) + sq(sq(4/.7)) o = sq(sq(4/.4)) + sq(4!) — 4
7091 (6) = o 34 (6) = (sq(T'(T'(4))) —I(I'(4)))/V/4-T
rigpy ) T A o) oot =TS8 (6) = salsald/ D) +2a() Dt
7092 (6) = T(4) - (sq(sq(T(4))) + T(4)) — T(4)! 7136 (6) = 4 - (E(;l)!/.ll— sq(4))
7093 (6) = sq(T(T'(4)) — sq(T'(4))) + sq(T'(4)) 7137 (6) = (4/.4) + sq(4!)
L(v4) 7138 (6) = (sq(T(T'(4))) — (T (4)) - 4)/v/4
7004 (6) = sq( &/T@) — /T(d)) — sq(sq(4 7139 (6) = sq(sq(4/4)) + VA + sq(4)
7095 (6) = (sa(sq(4)) — T(V4))/4% + T (4 ) e Eg = (4(- rii)/!z_))4!)/.4
7096 (5) = \/14!+I‘I‘4 1% ;s;;sq 4)) + sq(4!) +4
T o) e T, ryery T (5) = sesa D) () £ T8
7099 (8) = sq((sq(T'(4)!}) = T'(4)1)/4!) >> sq(4) 7144 (6) = 4! - Y *sq(l) +T()
7100 (5) = (.4 - T(4)! - 4)/4% 1 7145 (6) — sq(sq(4)) +4/-4%
7101 (6) = sq(sq(4/.4)) — sq(T(4)) + sq(4!) 7146 (6) ; zgg;q(?({lgl)) +\/\Z‘D +'SQ(SZI(4))
7102 (6) = (sq(T(T(4))) — sq(sq(4) — v4))/V4 7147 (8) = (sq(sq(T 4)/ . 4
7103 (7) = sq(4- 41) — T(vVA) @ sq(T(T(4))) 2148 (6) = sq(sq(T(4)1)/41) >> sq(4)) @ sq(T'(4))
7104 (4) = 4- (D(4)!/.4 — 4)) e (53 = ((9(2(1“1(11“54‘ ))/ V4~ 5q(T(4)) — sq(4)
7105 (6) = sq(sq(4/.4) + 4) — T(D(4)) 7151 (6) V- 1“((4) - \/_)/4%
0= S ) e e 8
= sq 1) — V% _ i
1109 (1) = ssa(4/ D) + s8) & (T (1) Mot (0) = ol el )
7110 (6) = (4-T(4)! — sq(T'(4)))/.4 7155 (6) _ Esq(?zqér‘}z)))—) sqgls'c;;sz(ﬁli)))/SQ(@
Sq(741)11 (8) = sa((sa(T(L(4) ®T(L(4))/V-E) >> gigg Egg = ?q((rr((rr(?iii )/f 44/
7112 (6) = (4! + 4) - (sq(s _ = \5q — sq(T(4)))/V4 - 4!
7113 (6) = sor) D)ttt rpy T EE) et ) = T @
7114 (6) = sq(sq(4))/4% + T r'(4 _
;ﬂg Egg = (SQ(( ((‘3)/4(7\/%5/}1% +(1“()4)! ;12(1) Eg - ;1 ((Fii)/!z_);ll/ ﬁ;(m) b4l
= sq(sq 6 +T(4) —4 7162 (6) = (4! + 4) - sq(sq(4 i
7117 (8) = (sq(sq(T(4)!)/4! so(4)) — = q(sq(4)) —T(4)
7118 (6) = Sqq(s (())(/i%/ N )1“(>4§' _q%) vi ;igi Eg; = (4'( (T(4))) — V4) /A — sq(T(4))
7119 (6) = (sq(sq(4)) — 4%) /4% + T (4)! 7165 (6) = (4! +4) - sq(sq(4)) — 4
7120 (4) = T(T(4)) - (4!/.4 — V7T 7166 (6) = §4'( Elr(4))) +V4)/V4 — sq(T'(4))
7121 (6) = (sq(sq(4)) + 4%) /4% + T(4)! 167 (6) = 4'+4) sq(sq(4)) — V4
;gg (6) =s (s (4 ))/4%+F( )'+ﬂ 7168 (0) =4(1 +( )+i§(sq( LS
7 = sq\Ss —
otz (O = sl el =sa@@)-4) @ T8 0 = (04 D e e
7121 (6) = sq(sq(4))/4% + T(4)! + 4 770 (5) = (v T()! - To)/ ik
7125 (5) = (\/Z/Z+4!)/_4% ilbs (6) = Sq'( (T(4)))/V4 @ sq(T(4)) — T(v/4)
Ao s Pl B UL
(5) = (4—4%) -T(4)!/ 4 7175 (5) = (4-T(4)! - T(V4) /4%
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V4)
T,
=4/4 (F_1)+4) Vi
7220 (4) _ sq(sq(é/(z;))) + 44_)/x/1

o3 (0) = (sq((ru/-@ N %

2 sq : 0
v o 2500 - 74 Fiﬁ)fﬂﬁ”{?ﬂ)
e 53«4(-;(&/.4;%;1«&4,
176 (4) = sq(T(T )) — 44 V4 - 722 6) = sq(s (4/4 +ﬂ+4+ '
7 0 Esqggﬁéii%i‘;‘” T 0 §3E§?a<;2))i434;);1¢4—%
7 = (sq - : - 6) = O 4 T

0= . (T(E) - i iowh T2 (1) Wiy s w oo
e EG) = (ng(F(‘m; — VAV~ 7230 (gg - sq<sq(§i*é‘>>)/ ‘/ZF@))/ ‘/Zsz(r(@) )
182 (0 - EiZ(F@(,‘})_i e T (o) sg;fr<r<4>g; _ s )
by it N7 an; ‘/‘Iﬂ 233 (0 - Esq(F(EEig)) - ‘(/liz()i)) _
e ) - I -4~ v/ o= VARt “ea(sa(d/ -423@(4))( )
7156 (5) = EZq@(F@?_ DA ) 2% (6) = 4/ Wi+ A AT
7187 (6; = (F(F(éx); D 4)4 — sq( ;237 Eg; = ?gqgggg)) +41)“(4))

8 (4) = q ). i 38 (6) = q I+ sq(4 4!
11 5) - & ('SF(4<)i>)>/ﬂ D } ra =i/ e AV
7190 Eg _ sq((rr((l;)!/-zl - ‘1/:(4))/\/‘1_ 72;1(1] 26) - iqéilg(r(4;g)/+4 n 4'4)1/ . )
7191 =4- 4))) — 72 ) = (s T'(4) T4))/. T(4)

(4) sq(T(T( —T(4) 42 (6 = sq(T( 5) + (sq(
7 0= Ay R ?3q<ﬂ£%/-4ﬁﬁf?<ﬂ”
7104 <i8 - o Y i e e s )
7195 E4) = 4/4 )V~ FEL 7347 (6) = T(T(4)) é) +4) +4 T'(4))
197(4):4/_4-F I—T( 72 6):5q4‘4+ : 4+ sq sq(T'(4)
7 4) -T(4) 7249 (6) = (vV4/ 4))/V4 e
7108 (4) = 47 /i) 4 oo (o) = oL Jrrere r(va)
7193 (0)=4 .(F- (4! + '4)\/Z 79592 (f;g _ Sq(st'z/(‘lz/)'/A - qu(a T(T(4)) —
o (4) = f;j 4T+ T'(4))/v/4 7253 26) = S‘I(i‘i'(p'(4)))/ \/_8‘1(8‘1(4)4)!
2302 (4) = F(F(4))\['j__4 722; (7) = SZ,(+ 4)/'&?:“4)!4_)) — 4)/\/1\/1
ra0s () = (O Sk Vi ) Tt © = qusq((%/( i Ee) A
7204 (4 _ (4-T ;1)!+F )/VA + 7257 (6 _ (sq(T 4))) +
by () W od A i O v .
20 —4 4) + 72 = sq 4 (
s - s P ) "
i ) o =6 S, o
7211 (6§ _ a1 Y o0 (0) ngj?/(.@/-‘*(;f'p 4
To13.6) = ot SRR 7266 (0 - (=41 s
o E23—<z‘%<5<(4>!+ffi3 ICOR
215 (1) = ( RARTN sa(4)
721 4) =4 (T'(4))) 4) /4 +
1217 (6) = e o
e~ )
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4))) +T'4))

4% — sq(4))/ .4
A4)) + sq(T'(4)) /4%
))/V4A+T(4) + sq(sq(4))
1)/.4% — sq(T'(4))

A) + V1) + sq(4)

+V4A)/VA+ 4l
) + 41)/V4 + sq(sq(4))
6 —T(4)/V4%

4)!
I'(4))) & sq(4 -4

—
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(
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=

=<
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=

=

Iy
=158

=3+

0
=
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=

(

4)) — 4)/4%/ 4
+41)/.4% — 4!
T(4)) + v4)/VA+ sq(T(4))
4)! — V4) >> T'(4)) — sq(4))
A% — 4)/V4%
(4/.4) + 4) + sq(sq(4))

4

+
s
—
N

~—
~—

/4% — sq(T'(4))) /4
(T(4))) + sq(41) + 4
/4% @ sq(I'(4))) /4
/4% — 4) /4
/4% —\/4)/ .4
+41)/.4% — 4
'+ V4@ sq(T(L(4))))/V4
+41)/.4% — /4

)/ 4% —4)/4

4
(;1)! +I(T(4)))/.4

)/ 4% +4) /4
+41)/.4% + V4

(sq(/T(4)) +5¢(T(T'(4))))

41)/.4% + 4

)/4% +V/4)/ 4

41)/.4% + T(4)

(4))/-4) — sq(4!) — sq(4)

H+ £+

(

[V + sq(sq(4))

(4)) +5¢(T(4))/V4 +

>>
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sq(T

(I'(4))/ 4% + sq(T'(4)))/4
(T@)/4%+4)/4
(D(T(4))) — sq(sq(4/4) + V4)
4) - (sq(sq(I'(4))) — 44)
sa(T(4)) + T(v/)) + 41 - sq(sq(4))
41) - sq(T(V4) + sq(4))
(T'(4))/4% + T'(4))/ -4
(4) +41)/.4% + sq(4)

! =T(4)) >>T(4)) @ sq(4)
(sq(T'(4))/ 4) — sq(4!) —T'(4)

5q

VYT (4) - T(V4) - sq(sq(4))
T(4)!- (4/.4 + 9)

V/T(4) - sq(sq(4)) + T (v4)
sq(sq(T'(4))/4) — sq(4!) — V4
5q(sq(T(4))/4) — sq(4!) — T (v/4)
(T(4+4) —4)/V14

(T(T(4)) + .4)/.4%/4

sq(T'(4))/.4) — sq(4!) +4
4)/.4% +T'(4))/ V4%
!

VA) V4 + sq(4])

+

q((4/ -)1))) + L(4)! + sq(sq(4))
4)) —

¢(T(4))/.4) —T(V4) @ T(4)!

s ) —

(

(

( —T(v4)) >>T(4)
Esq (4))/.4) — sq(41) + 4!
(

(

g

V/54(sq(T(4))) +4/.4) — sq(4})
T'(4))/.4 4 V4)/4%

4) —T(4))/V1

41— 4)-T(4)!

(sq(4/.4) +T'(4)) — sq(4)
(4+4)—4)/V1

—~
+



7555 (6) = sq(T(C(4) -
sq(sq(T(4)) + T (v4))/V4%

7556 (4) = ['(4 +4)/V4—4

7557 (4) = (D(4 + 4) — V4)/V4

7558 (4) = (4 +4)/V.4— /4

7559 (4) = (4 +4)/V. 4 -T(V/4)

7560 (2) = (4/.9)!/(4! + 4))

7561 (4) = D(4 +4)/V 4+ T(V/4)

7562 (4) = (4 +4)/V. A+ /4

7563 (4) = (0(4 + 4) + V4)/V 4

7564 (4) = T(4 +4)/VA+4

7565 (6) = sq(sq(4/.4) +T'(4)) — 4

7566 (4) = ((4 +4) +4)/V 4

7567 (6) = sq(sq(4/.4) +T(4)) — V4

7568 (6) = sq(sq(4/.4) +T(4)) —I'(V4)

7569 (4) = (D(4+4) +T(4))/V 4

7570 (6) = sq(sq(4/.4) +T(4)) + T'(V4)

7571 (6) = sq(sq(4/.4) +T'(4)) + V4

7572 (6) = (sq(T(T'(4))) + T'(4)! +4!)//4

7573 (6) = sq(sq(4/3) + T(4)) + 4

7575 (6) = sq(sq(4/.4) + T'(4)) + T'(4)

7576 (6) = (4! +4)/.4% + sq(4!)

7577 (7) = T(4)!/V 2 @ sq(sq(4/ 2))

7578 (6) = (sq(T(T(4)) +T'(4)) —T(4)!)/v4

7579 (7) = sq(4!) — T(V4) @ sq(sq(T'(4))/4)

7580 (6) = (I'(4)/.4% + sq(4))/V4%

7582 (7) = sq(sq(T'(4))/.4) & sq(4!) —T'(4)

7583 (6) = sq(T'(T'(4))) — sa(sq(4/.4)) — sa(sq(4))

7584 (4) = 4. (4-T(4)! — 4)

7585 (6) = sq(sq(4/.4) + T'(4)) + sq(4)

7588 (6) = sq(sq(I'(4))/.4) — v/sq(4)

7590 (6) = (sq(4!/.3) + T(T'(4)))/.4

7591 (8) = (sq(T'(4)! — v4) >>T(4)) @ T(4)!

7592 (6) = (sq(T(T'(4))) + sq(4! +4))/v4

7593 (6) = sq(sq(4/4) + T(4)) + 4!

7595 (6) = (V4% + T'(4)) - sq(sq(T(4)) — T(v/4))

7596 (4) = (T(4 +4) +4!)/V 4

7599 (6) = sq(4/4%) — sq(sq(T(v4) + T(4)))

7600 (4) = T(4)!- (1/T(V4) + T(T(4)) — 4)

7601 (6) = sq(sq(4/.4)) — sq(sq(4)) + sq(sa(T'(4)))

7602 (7) = sq(sq(T(4)))/ VA% & sq(v/V/4/4%)

7604 (6) = (sq(I'(4)) — 4)/.4% — sq(sq(T'(4)))

7605 (6) = sq((sq(4) — .4)/.4)/v/2%
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7606 (6) = sq( v/I'(4) — VI'(4)) + sq(sq(4))

7608 (6) = I'(4) - (sq(sq(T'(4))) — 4 — 4V)

7609 (6) = sq(sq(4/.4) + /4) + T'(4)!

7610 (6) = (sq(T(T'(4)) — v4) + sq(sq(T'(4)))) /4

7612 (7) = (sq(sq(4!)) — 4 @ sq(sq(4!))) — sq(4!)

7614 (6) = (sq(T(4)) +T(4 +4))/V 4

7615 (7) = sq(T(I'(4))) — T'(V4) &V 4-5q(T(T(4)))

7616 (4) = 4-4!- (T(4)! —(4))

7617 (7) = sq(sq(4!))/T'(4) @ sq(sq(T'(4)/.4))

7618 (7) = V4. sq(T(T(4))) ® sq(T(T'(4))) + V4

7619 (6) = sq(y/sq(sq(T'(4))) —sq(T'(4))/4) —
sq(sq(4)) ~

7620 (5) = T'(4)!/4 + 4!/.4%

7622 (7) = V.4- sq(T(T'(4))) + T'(4) ® sq(T(T'(4)))

7624 (6) = 4 - sq(44) — T(T'(4))

7625 (5) = (T(T'(4)) + V4)/.4%/4

7626 (5) = V*%/T(4) — '(4)/4%

7628 (6) = I'(4) - (sq(sq(T'(4))) —4!) —4

7629 (8) = (sq(T'(4)! — ['(4)) >> I'(4)) ® '(4)!

7630 (6) = T'(4) - (sq(sq(T(4))) — 4!) — V4

7631 (6) = I'(4) - (sq(sq(T'(4))) — 4!) — T(v/3)

7632 (4) = T'(4) - (T(4)* — 4

7633 (6) = T'(4) - (sq(sq(T'(4))) — 41) + T(v/4)

7634 (6) = T(4) - (sq(s¢(T(4))) — 4) + V4

7635 (8) = (T(T'(4)) << ['(4)) — T'(4)!/sq(4)

7636 (6) = I'(4) - (sq(sq(T'(4))) —4!) + 4

7637 (7) = sq(sq(v/4/.4)) @ sq(sq(T'(4))/.4)

7638 (6) = I'(4) - (sq(sq(T'(4))) — 4!) + T'(4)

7640 (6) = V*%/T(4) — T(T'(4)) — sq(4)

7641 (6) = T'(4)!/V'4 + sq(sq(4/ 4))

7642 (8) = (I(T(4)) << T'(4)) — s¢(T(4)) — V4

7643 (8) = (T(T(4)) << T(4)) — sq(T'(4)) — T(V4)

7644 (6) = 4!- sq(sq(4)) + T'(4)/.4%

7645 (8) = (I(T(4)) << T(4)) + T'(v4) — s¢(T(4))

7646 (6) = (sq(sq(4)) — V4) /4% + sq(sq(T(4)))

7648 (6) = 4 - (sq(44) — 4!)

7650 (5) = (T(T'(4))/.4 + T'(4))/4%

7651 (7) = sq(sq(C(4))/-4) — T(V4) @ sq(4!)

7652 (5) = V*%/T(4) — [(I(4)) — 4

7653 (7) = sq(sq(T'(4))/.4) + T(V/4) ® sq(4!)

7654 (5) = V%/T(4) — V4 —T(T(4))

7655 (5) = Y7%/T(4) - [(T(4)) - T(v4)

7656 (4) = A -4!-T(4)! — 4!

7657 (5) = V%/T(4) — ['(T(4)) + [(V4)



7658 _ Jiw
7659 E?; ; (:;( T(4) —T(T'(4)) + V4
;gg? Eg) _ mslq‘((i)))__r\(/%)/él% ® sq(sq(T'(4)) 7703 (6) = (sq(T
ZSSQ (5% _ (3%2(2’)) +;EI(A(11)))>_;4F(4)) & sal ) z;gg Eég - (Z 4l (4324;! fyﬁ/ A% — sq(sq(T(4)))
3(7) = ( —T(C(4) +T sq4f) 770 = (sa(T'(4)) + 4%
To81 (6) = (1) T(T() 1 l T oy = Y 4% saloa(T)
7665 (6) = s g(4) - T(T(4)) — 4 a(sq(T'(4))) 7 ) = 4-sq(44) — )+ sq((4)))/v4
7666 (8) = ({{Eijq(l‘(zx)) — 4) /,4))_ 77(1)3 (8) = (sq(T'(4)! — ff](F(‘*))
7668 (6) = (F(4(4)) <<T(4)-s (iq(sq(4)) 7711 (6) = (T(4) - sq(s (4)) >>T(4)) — sq(s
7669 ) +41) - (s g(4) + V4 (7) = sq(T g(4)) +T( T q(4))
Sq(sq(sq(4§6) B Sq(l“(\%;q(él)) 4 7 ATT@)/Vie Sq(4'))/ f“%
7670 (0 ) —— +T(T(4)/Vi% -~ 7712 §5) = /T - m vV
671 _ sq(sq(4)) — 6) = sq(s _
7672 Eg; P RAr) ‘5?1((831)(4))\/_Z V% 714 (6) = (s ((12(4/ ) + V4 sq(4!
7673 4-(sq(4) - T(T sq(T'(4)))/4 7715 (8) = q(r() 4%)/ 4% )
)= tray O~ 7715 (8) = sgTia) 6~ salsa(T(4
7674 (4) = 44! )) << T(4)) — (V4 6 (5) = \/W\/— \/—)‘1'(1—‘(1"(4) (4)))
7675 (6) = (I‘(:) [(4)! — T'(4) (V4) —T'(4) 7717 (6) = sq(sq(T(4 41/.4 ) <<T(4))
7676 (4) = Z - sq(sq(4)) = T(T 7718 (7) = W\/F—()) VA + sq(sq(4/) 4
L G YOI & )/ 7715 (6) — s(PCE(E)) - TCT(8) iy Y
679 = '_ q( 6) = 0 .
7679 (4) = - S B o) (sq(s (V))47 Ty e
F(4)!—1"(\/Z) 22 (5) = VT4 +T(v4)) /4% + s
7680 (0) = (VA X : 7723 (8) = (sl ( —41/4 a(sq(T(4)))
7681 (4) = 4.4 o Va4 7;34 (6) = sq(I(T'(4 ( )/4%)) >> sq(4)) = T
7682 (4) = -4 l-T(4)! + T (V4) 5 (8) = (I(I( ) +4)/v4 + sq(T (V4)
7683 (6) = L T(4)! + V4 7726 (5) = «W\/l<< T(4)) + T(4)! )
7684 (4) = ‘2_4 (qu(sq(sq(4) i) ;727 (6) = VT V4/4% )!/sq(4)
7 4! -T 7 -
ross (6) = (sq (F(r((4 ) +4 (V4)) s (1) = 41- (4 fq(r(ﬂ) +T(4))
e = At r(4)))v+4) —T(4)/V1 1729 (6) = sall \/(_?7)4_ s
(6) = (sq(r(p(4))' +I(4) o (6) = (sq(T(I(4)) 1/:}%) — 5q(sq(T'(4)))
ol s SR oA QU
;689 (6) — (sq(r(lf(i;)_'_ 4) /4 7734 Egg - ;(47\/— /Sq
690 (6) = ( +4)+ 3 7735 (8) — 4) - (sq(s
76 sq(T(T(4 14)/v4 5(8) =s ¢(T(4))) =T
7635 §2§ _ ifl‘g(rf((F(zlg; ii; +i‘i)({1‘)/)§ vi ZZiS Eg; = 4q((sq((4(4))/ 4;%[))+ sq(4)§4l) Féi‘;
7694 (6) = sq(T T(4) +4)/V4+4 ! 7738 (6) — 4. q(sq(4/-9) +s
oo 1) = ST A 1139 (6) = T - (s Jt slealCC) ~T )
) =4l (4 4))/4 7740 (4) = sq(sq(T'(4))) —
o005 = (saloat) 1.4 v i ) = 100 ity T
8 (6) = sq(T'(4)) ) +4%) /4% + sq(s 7742 (6) = 4( ) - (sq(sq(T'(4))) —
7700 (6) = (sq(4! _/ 4% — sq(sq(T(4)) a(T(4))) 7743 (6) = q(44) — V4 [(4) + (v
7701 (6) = (s T'(4)) — sq(4 ) -4 ™ =4-sq(44) - T(V4
7702 (6 (sq(sq(4)) + V4% )/a% 44(0) =4- 111 V4
et B
S — V4% S
q(4))/4% 7747 (7; _ Sq(\/(; r(4 )
- ¢—
“W
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7748 (5) = Y%/T(4) —4! -4 7785 (5) = W{/P(ﬁl) +4/4
7749 (6) = T'(4) - (sq(4!) —v4)/ .4 7786 (5) = V%/T(4) + 4/ 4
s ) 2 G 779 = | F)( T+
= +
7752 (3) = {/4/VA- 4! 7789 (6) = I'(4) - (sq(sq(T(4 ))) f 1) + T(v/4)
7753 (5) = YZ/T(4) +T(V4) — 7790 (6) = V4% F(4)+sq —
7754 (5) = V%/T(4) — 4 + V4 7791 (5) = VF/T(4) +T(4 4
7755 (6) = (sq(sq(4)) — T(V4) + sq(sq(T(4))))/ V4%l 7792 (5) = YF/T(4) +4- 4
7756 (4) = (T(4 )“4’ T(T(4 )))/r( ) 7793 (6) = V/T(4) + (V4 + sq(4)
7757 (7) = V%/T(@) T4 ‘/sq 7794 (5) = W\/_+4v
7758 (5) = “WVF — 4+ T 7796 (4) = (T(4 )“4’ +T(I(4 )))/r( )
7759 (6) = V%, r(4)—sq(4) r(ﬂ) 7798 (5) = V%/T(4) +4! -
7760 (5) = VA%/T(A) —4-4 7799 (5) = VA%/T (4) r(ﬂ)+4'
7761 (5) = V3%/T(d) —T(4)/.4 _ sl |
7762 (6) = YV%X/T(4) — sq(4) + V4 ;222 ) _ ,; VA4
(5) = YV%/T(4) +T'(vV4) + 4!
7763 (6) = T'(4) - (sq(sq(T(4))) — v4) - T(v4) _ v ,
7764 (4) = T(4) - (T(4)* — v/d) 7802 (5) = ,/r(4)+4.+\/1
B 7803 (6) = I'(4)/.4- (sq(4!) + V/4)
7765 (5) = W\/ \/ ['(v4) + T(T(4)) 7804 (5) = V/T(A) + 4! +4
7766 (5) = V3%/T(4) — 4/.4 7805 (7) = (sq(sq(T'(4)) — T(v4)) & T(4)!)/V4%
7767 (5) = W\/ —4/1 7806 (5) = V*/T(4) +T(4) + 4!
7768 (5) = VA%/T(d) — 4 — 4 F(f%? (7) = (sq(T(T'(4)) — sq(T'(4))) @ sq(sq(T'(4)))) 1l
— V4%
7769 (5) = F(4) ~T(V4) -T() 7808 (4) = 4. (4! + 4) - T(4)!
770 (4) = \/4‘/f T'(4) 7800 (7) = V%/T(d) @ sq(T(4)/.4)
7771 (5) = VYT f /.4 7810 (6) = I'(4) - (sq(sq(T'(4))) + T(4)) — V4
7772 (3) = v/4!/V4 7811 (6) = SQ(\/ﬁ/‘%)) + 5q(sq(4/.4))
7773 (5) = W\/_ 4/1 7812 (4) = T(4) - (T(4)* + T(4))
' 7813 (6) = T'(4) - (sq(sq(T(4))) + T(4)) + '(v4)
7774 (3) = y/4/VE -4 7814 (6) = T'(4) - (sq(sq(T'(4))) + T(4)) + V4
7775 (4) = (I‘(4)F(4) —T(4))/T(4) 7815 (6) = sq(I'(I'(4))) — sq(sq(4/.4)) — 4!
B Vi) 7816 (6) = Y*%/T(4) + sq(4)/.4
7776 (0) = 4‘/4} \ 7817 (7) = sq((s9(T'(4)) — 4)/.4) & T(T(4))
7777 (4) = (D)™ 4+ T(4))/T(4) 7818 (6) = T'(4) - (sq(sq(T'(4))) + T(4)) + ['(4)
7778 (3) = '\/41/\/_ +V4 7820 (5) = VZ T(4) + 44
Vi /T 7821 (6) = YA%/T(4) + ['(4)!/sq(4)
79 (5) = VI + A/ 7823 (6) = sq(T('(4))) — sasa(4/.3)) — sa(4)
7780 (3) = y/4!/VA+4 7824 (4) = 41 (4-T(4)! + T(4))
7781 (5) = VF/TA) + 4/ 4 ;Sgg Egg = (ji(rr(ﬁ) + \;g;i); +41) /4%
= = V% + 0
7782 (4) = {/4/VA+T() 7828 (6) = T(4) - (sq(sq(T(4))) + T(4)) + sq(4)
7783 (5) = VX/T(4) + T(V4) +T(4) 7829 (7) = sq(sq(4/.4)) + sq(sq¢(T(4))) ® sq(T'(4))
7784 (5) = V/T@A) +4+4 7830 (5) = VAF/T(4) +41/.4
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7831 (7) = (sq(T(T'(4))) ® T(T'(4))) — sq(sq(4/.4))
7832 (6) = (sq(sq(sq(4)))/4 —T(4)!)/V4

7833 (6) = sq(sq(4/.4)) + sq(sq(T'(4))) — 4!
7834 (6) = sq(T'(4) — VA%)/.4% — sq(4!)

7835 (6) = sq(I'(T'(4))) — sq(sq(4/-4)) — 4

7836 (5) = V*/T(4) +4!/.4

7837 (6) = sq(T('(4))) — sq(sq(4/4)) — V4
7838 (6) = sq(sq(T'(4))/.4) — sa(sq(4)) — T'(4)
7839 (6) = sq(I'(T'(4))) — (4/.4)

7840 (4) =T(4 +4) - (V4 — 4)

7841 (6) = sq(s¢(4))/V4% + sq(sq(4/ 4))

7842 (6) = sq(sq(T'(4))/-4) — sq(sq(4)) — V4
7843 (6) = sq(I'(T'(4))) — sq(sq(4/.4)) +4

7844 (6) = sq(sq(T'(4))/.4) — 4*

7845 (6) = sq(I'('(4))) + I'(4) — sq(sq(4/.4))
7846 (6) = sq(sq(T(4))/-4) — sa(sq(4)) + V4
7847 (6) = sq(4 - 4!) — sq(sq(T(4)) + T(V4))
7848 (6) = sq(sq(I'(4))/.4) — sq(sq(4)) +4

7849 (6) = (sq(T(T(4))) + V4 + sq(sq(T(4)))) /4
7850 (5) = (4-T'(4)! — ['(4))/4%

7851 (6) = sq(sq(4/.4)) — T'(4) + sq(sq(T'(4)))
7852 (6) = (T'(4) + 4%) - (sq(sq(T'(4))) + 4)
7853 (6) = sq(sq(4/.4)) + sq(sq(T'(4))) — 4

7854 (4) = (T(4)! — T(4) - \/T(V) + T(T(4))
7855 (6) = sq(I'(T'(4))) — sq(sq(4/-4)) + sq(4)
7856 (5) = V.4 -T(T(4)) + V*%/T(4)

7857 (6) = sq(sq(4/.4)) + T'(4)*

7858 (6) = sq(sq(4/4)) + T(V4) + sq(sq(T(4)))
7859 (6) = sq(sq(4/4)) + sq(sq(T(4))) + V4
7860 (6) = (I'(4) +4!) - (sq(sq(4)) + T'(4))

7861 (6) = sq(sq(4/.4)) + sq(sq(T'(4))) +4

7863 (6) = sq(I'('(4))) — sq(sq(4/.4)) + 4!

7864 (6) = [(T'(4)) + 4 - sq(44)

7865 (7) = s4(s¢(T(4)))/ V4% © sa(T'(4)!/59(4))
7866 (6) = sq(4!/.3)/.4 + sq(4!)

7867 (7) = sq(I'(T (4))) —sq(sq(4/ 4)) @ sq(T'(4))
7868 (6) = I'(4) - (sq(s q ( ) +sq(4)) — 4
7869 (6) = sq(+/sq(sq(I'(4))) +4/.4) — sq(sq(4))
7870 (6) = I'(4) - (sq(s ( (4) +59(4)) — V4
7871 (6) = sq(y/sq(s¢(T(4))) — sq(T'(4))/-4) — 4
7872 (5) = VAT (4) +4-4!

7873 (6) = sq(sq(4/.4)) + sq(sq(T'(4))) + sq(4)
7874 (6) = T'(4) - (sq(sq(T(4))) + s¢(4)) + V4
7875 (5) = (I(T'(4)) + I'(4))/4/-4%
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7876 (4) = (T(4)! = 4) - /T(V4) + T(T(4))

7877 (6) = sq(y/sa(sa(T(4))) — sq(T(4))/.4) + V4
7878 (6) = I'(4) - (sq(sq(F(4))) +5q(4)) +T(4 )
7879 (6) = sq(y/sa(sq(T(4))) — sa(T(4))/-4) +

7880 (4) = (4! — )" —T(T(4))

7881 (6) = sq(sq(T'(4))) + 4! + sq(sq(4/4))

7882 (7) = sq(T(T'(4)))/v4~T(4) ®T(4)!

7884 (6) = sq(I'(4)) - (sq(I'(4)/-4) —T'(4))

7885 (6) = sq((sq(I'(4)) —.4)/.4) — sq(I'(4))

7886 (7) = (s¢(T(T(4))) — 4)/VA®T(4)!

7887 (7) = (sq(T("(4))) — v4)/Va® T (4)!

7888 (6) = 4 - (sq(T'(4)) + sq(44))

7889 (7) = sq(s¢(T(4)) ® T(T(4))) +T'(v4) — sq(4!)
7890 (5) = V*%/T(4) + T(T'(4)) — T'(4)

7891 (6) = sq(1/s4(5¢(T(4))) — 5¢(T(4))/-4)+sq(4)
7892 (5) = Y%/T(4) +T(T(4)) — 4

7893 (6) = sq(sq (4/ 4)) +5q(I'(4)) + sq(sq(T'(4)))
7894 (5) = VF/T( f+rr (4))

7895 (5) = V¥%/T( +r —T'(v4)

7896 (4) = (T(4 )““’ +T(4)! )/r(4)

7897 (5) = V%% r(4) +F(F(4)) +r(\/Z)

7808 (4) = (T(4)! - v4) - \/T(VA) + T(T(4))

7899 (6) = sq(\/sq(sq(l“(4))) - sq( (4))/4) + 4!
7900 (5) = (/4 — .4)/.4%

7902 (5) = V% F(4) +T(T'(4)) + T'(4)

7903 (8) = sq(sq(I'(T(4))) —T'(4))/.4 >> sq(4)
7904 (6) = sq(4) - (V4/.4% — T'(4))

7905 (6) = sq((sq(T'(4)) — .4)/.4) — sq(4)

7906 (7) = (sq(T(T(4))) + sq(T(4)))/V4® T(4)
7908 (6) = ['(4) - (sq(sq(T(4))) + 4! — V/4)

7909 (4) = (T(4)! = T(v4)) - /T(V4) + T(T(4))
7910 (6) = sq(T'(T(4)))—(sq(s¢(T(4))) + v4) /4%
(719(141)) (6) = sa(y/sq(sq(T(4))) — sq(T(4))/-4)
7912 (6) = Y*%/T(4) + T(T'(4)) + sq(4)

7913 (7) = sq((sq(T'(4)) — 4)/4) o 4!

7914 (4) = T(4)! - \/T(V4) + T(T(4)) - T(4)

7915 (6) = sq((sq(T'(4)) — 4)/.4) —T'(4)

7916 (4) = T(4)! - /T(V4) + T(T'(4)) — 4

7917 (6) = sq((sq(T'(4)) — 4)/4)
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S -re
(41 — /4
\/ \/\/ﬁ +T(vV4)
Jya- ot vi

VA R

sq(sq(T(4)) + v/4) + sq(sq(4/ 4))

4! — 4" +T(4)
I'(T(4))) ® sq(T(4)1) >>T(4)) +

—~
—~
v
()
—~

xQ

(4! — 4" + 4!

(4-T(4)! + T (v4)) /4%

vi%/T(4) + T'(v/4)/ 4%

(sq(4)) —L(vV4) ® sq(sq(T'(4))/.4)
4)! - /4% — sq(T'(4))

V4% +T(4)) - (sq(sq(T(4))) — T(V4))

»

=3
+

—~ —~

97

8030
8031

8032
8033

8034
8036
8037
8038
8039

8040
8041

8043 (8)

(6)
(6)
()
(6)
(6)
(6)
(8)
(6)
(8)
(4)
(6)

{1 | VA 1 |
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\/Wm+44
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5q(T(4)!) — sq(sq(T'(4))) >>T(4)) —

!
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~
N— ~

~ T —

(sa(4)/-4) +T(4)/V4%
(sa(4)) =T(V4) + V*F/T(4)

- (sq(T(4)!/5q(4)) — sq(4))
sq(T(4)! —T(4)) >>T'(4) o T(I'(4))
VT4 + sq(sq(4)) + T(4)

sq(T(4)! = v4) >>T(4)) — sq(4)

V/T(V4) + T(T(4)) + T(T(4))
(T(4)) — 4)/4) + T(T(4))

[
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N !
NN
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sq(5¢(T(4))) + v4) + sq(sq(4))
V4% —41)/ 4

N —+v4) >>T(4)) @4l
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o

~— —
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V4% — sq(4)

V4) >>T(4)) —T(4)
V/4) /4%
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8239 (7) = s
q(sq(T'(4))
8240 (0) = o T(I(4))) -
8241 Eg; ; ;{;%1;((\/_\/14! 4 ) —sq(T'(4)/.4) 8287 (6)
8242 (1) =T 4) + 1‘(1*'4 8288 = sq(s (F(4
S e oA
824 i sq(l“(4))-‘ 4)) >>T'(4) sq(T'(4)) 8290 (6) = (sq ) ( ))
8242 (?23 _fq(sq(I‘(4)()S/IJ_ELF(4)/-4) + 4; o 2;92 (6) = Z (( ( 21 +4%)/.4% — R
88 (6) = T(4) - +T(V4) - 03 (9 = 4 L@
qé2q(4)) ) - (sq(sq(T(4))) + sq(T'(4)) 8294 (6) = 4 - (sq(sq(4))) — I'(4))
8230 (5) = (4/3 + 4 AT@) + e ©) = sk 1) - Aty >>4
8252 Eg) = (sl (4)!'+/ 1112 22% (6) = .4- Ezq(s(l(4,))+4!)/s (4
8254 ) = sq(T(T(4))) - ) >>T(4)) + 297 (6) = sq( q(4!-T'(4)) +4) o
8255 Eg) = Sq(r‘(r(4))) 4!. SQ(Sq(4)) Z‘I(‘l) 8298 (6) — (Sq?g‘( ( ))/ 4+1“(\/—
825 ) = sq(T(T'(4 _4' sq(sq(4 8300 (6) = s (P(4) +T'(4 )+ 5q(4)
8256 (4) = 4l (4 W) F(\/Z)—4;)) Vi 8301 (8) = g(T(T(4))) - (4! )+ LA/ V4
o)~ T sq(sq(ay)  S02(0) = (earT@) + T >
2250 (6) = sq(T(T(4) )/4+T(/4)) — 4! 8303 (6) = sq(I(T'(4 ))) - ) >> F( ) —
o (8) = (sq(T(4)! 1) = 41 - sq(sq(4)) + 8301 (6) — sq(4 — VA% - ( sq(sq \/_
61 Eg) - 5(1(4/4%:r g I“(4)))4-;\/:I 8305 (6) = . (Sq(4') +4/. éf%(4') F(\/‘I)) !
o) A ) o= o e L !
| —
2322 (6) = T(4) - (s ) >>T(4) + 8303 (652 = 5q(4/4 0)_) \/Eq T'(4))) + sq(v/vV/4
w205 (g) = (sq(sq( ((1121;)(4))“(1(4'))/.1 sq®) ® = (sq(F(F(4))))+_ sq(sq(1(4))) VA0
]266 Egg Z ?Q(Sq([‘(él))/)zl—:_?((f/%)/(él +4) 2310 (6) = T(4) - ( sq(T(H)N >>T'(4)) —
8268 (6 ¥ T(4)!—4) > )) — sq(4) 11(8) = (s T sq(sq(T(4)) + T
SCI(F(4)) ) 4 Sq(F(F(;)l;(i)) + S(I(Sq(4)) 8312 (4) _ \/(1((742'_ \/Z) >> ]j‘((él\)/)l?}_) + 3‘1(4))
5210 (6) = (sq(T(h) - sdGaT0) — 814 () = Ve et
— 4% 31 _ 5 s
8272 Eﬁ) _ (sq(T(4)!+T )/-4% — T'(4)! 831;1 (M B Sq(SQ(F(ﬁg q(T(T'(4)))/T'(4))
62736~ (/3 oo e i ) 3317 (0) = se(sa D i AT
8274 (6) = 5 3 sa(sq(s0(4)) rr@) 8318 (5) = sq(sq(C(4))/ 4 R 0
a1 0 = et 1+ Do s 2 it =) <<
_ V% q
8277 % - g 5(4) +/} 75;\/1)) I'(4) 1"(4)19 (8) = (sq(T(T'(4))) + sq(T( p<<ti-l
8978 (6) — se(( r(4))/. ’ 83 _ sq(T(4)!
8279 gg; ~ (s ((Fr(4))/ )2%4—+\/Fz( ‘_/ZF)) —4 a1 ((g)) - ((S\/‘I +41)- 2-T(4)! )7 1)
8251 0 = sl 4(7)if)/ Zf o ~T(4)! o aald)) 2 ottealald)))) o R
= 0 — <
o ) T e o
284 (6) = q(T'(4 +4 8325 (6) = ) — — sq(sq(4/-4
8285 Eg) _ 39(1“(4))/2%4 + I1(\/‘1)) + \/’) 8326 ES) _ 5‘1(861(1‘(21))/2/ A% — Sq(4!)/ %)
8286 ) = sq(sq(T(4) T(4)! +4 8 ) = sq(T(4)! )+ ou([(4
(6) = )/4+T( 327 (8) = N +4/.4 )/-4)
sq(T(4))/4% — (V) + 8327 (8) = (ca(L(2(4) )>>T(4)
PoTe )'+F(4) 2328 () = sal VILL ) +sq(I(4)}) >>
8333 &)= (Sq(r(r(4)) +sq(4l) — 4! L(4)+v4
(o) — i T
) + V4%) /A% — le;(‘l)) +4
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8331 (8) = (sq(T(T'(4))) + sq(T(4)!) >>T(4)) +
I'(4)

8332 (6) = sq(sq(I'(4))/.4) — 4! + sq(sq(4))

8333 (8) = (sq(T(4)!-T(V4)>>T4) +
sq(sq(4))

8334 (6) = I'(4) - sq(sq(T'(4)) + '(v/4)) + T(T'(4))

8335 (7) = sq(sq(T'(4))) ~T(V4) &V Z-5q(T(T(4)))

8336 (6) = sq(sq(4))/4% + sq(44)

8337 (7) = V.4-5q(T(T(4))) + T (V4) @ sq(sq(T'(4)))

8338 (7) = sq(sq(I'(4)) ® ['(I'(4))) —I'(T'(4)) —'(4)

8339 (6) = sq(T'(4)/4%) — sq(T(T(4)) — T(V4))

8340 (6) = (I'(4) - sq(4!) — ['(T'(4)))/.4

8341 (8) = (sq(T'(C'(4))) + sq(T'(4)!) >>T(4)) +
5q(4)

8342 (7) = sq(sq(T'(4)) ® T(T(4))) — T(T(4)) — V4

8343 (7) = sq(sq(T(4)) ®T(T(4))) — T(vV4) —
I'(I'(4))

8344 (6) = sq(4 - 4! — 4) — T(T'(4))

8345 (7) = sq(sq(T'(4)) ®'(I'(4))) — I(T'(4)) +
T'(V4)

8346 (6) = sq( V/T(4)) + sq(4!) — T'(4)

8347 (8) = (sq(T'(4)!) — sq(4!) >> T'(4))+sq(sq(4))

8348 (6) = sq( +/T'(4)) + sq(4!) — 4

8349 (8) = (sq(T'(T'(4))) + s¢(T'(4)!) >>T(4)) + 4!

8350 (6) = sq(4!) — V4 + sq( {/T(4))

8351 (6) = sq( /T (4)) + sq(4!) —T(V4)

8352 (4) = ['(4)* - (D(4) + 4)

8353 (6) = sq( v/T(4)) + sq(4!) + T'(v/4)

8354 (6) = sq( ¥/T(4)) + sq(4!) + V4

8355 (6) = sq(sq(L(4))/-4) — T(V4) + sq(sq(4))

8356 (6) = sq(sq(['(4))/.4) + 44

8357 (6) = sq(sq(4)) + T'(V4) + sq(sq(T(4))/.4)

8358 (6) = sq( V/T'(4)) + sq(4!) + T'(4)

8359 (7) = (sq(s¢(4)) — T'(V4))/4% © sq(T(T'(4)))

8360 (6) = (sq(T'(4)) — sq(4 - .4))/.4%

8361 (6) = sq(sq(4/.4)) +'(4)!/.4

8362 (6) = sq(sq('(4))/-4) + sq(sq(4)) + T'(4)

8364 (6) = sq(T'(T'(4))) — 4!/.4% — sq(T'(4))

8365 (8) = (sq(I'(4)!) + sq(4!) >>T'(4))+sq(sq(4))

8367 (8) = (sq(T'(4)!) + T'(4)! >> I'(4)) +sq(sq(4))

8368 (6) = sq( v/I'(4)) + sq(4!) + sq(4)

8370 (5) = (D(4)! +4!)/v4%/ .4

8372 (4) = (\/ V VVATT@) 4 (4)1)/4
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8374 (6) = (sq(T'(4)) — V4%)/.4% — sq(4!)

8375 (6) = (sq(T(4)) — T(v4)/-4)/ 4%

8376 (5) = I'(4)! —=T(T'(4)) + V*%/T(4)

8378 (7) = sq(sq(4))/4% —L'(4) ® sq('(I'(4)))
8379 (7) = (sq(sq(4)) — V4%) /4% ® sq(T(T (4)))
8380 (6) = sq(4/4%) —T'(4)!/.4

8381 (6) = sq(v/sa(sq(T'(4))) +4/.4) + sq(sq(4))
8382 (7) = sq(sq(4)) /4% — V4 @ sq(T(T(4)))
8383 (7) = (sq(sq(4)) —4%)/4% & sq(I'(T'(4)))
8384 (6) = V/4- (sq(sq(4)) +T(4))

8386 (6) = sq(I'(4) — V4%)/.4% — 4!

8388 (6) = sq(sq(L'(4))/.4) + .4 -T(4)!

8389 (6) = sq(T'(V4) + sq(4)) + sq(sq(T'(4))/4)
8390 (6) = sq(T'(T'(4))) — (4! + 4%)/.4%

8392 (6) = sq(sq('(4))/.4) + 5q(I'(4)) + sq(sq(4))
8393 (7) = sq(sq(T'(4)) — T(V4)) ® sq(4 - 4)
8394 (6) = sq(T'(T'(4))) — 4!/.4% — I'(4)

8396 (6) = sq(T(T'(4))) — 4!/.4% — 4

8398 (6) = sq(I'(T'(4))) — 4!/.4% — /4

8399 (6) = sq(T'(T'(4))) — (.4% + 4!)/.4%

8400 (4) = V.4-T(4+4)/ .4

8401 (6) = (.4% — 41)/.4% + sq(T(T'(4)))

8402 (6) = sq(T'(T'(4))) + v4 — 4!/.4%

8403 (8) = /sq(sq(4) — vV4) >> I'(4)

8404 (6) = sq(T'(T'(4))) — 4!/.4% + 4

8405 (6) = sq(T'(4)!/sq(4) — 4)/V/4%

8406 (6) = sq(T'(4) — V4%)/.4% — 4

8408 (6) = sq(T'(4) — V4%)/.4% — /4

8409 (6) = sq(T'(4) — V4%)/.4% — T'(v/4)

8410 (6) = sq(4!/.4+4)/.4

8411 (6) = sq(T'(4) — V4%)/.4% + T'(\/4)

8412 (6) = sq(T'(4) — V4%)/.4% + /4

8414 (6) = sq(T'(4) — V4%)/.4% + 4

8415 (6) = sq(I'(T'(4))) — sq(sq(4/-4)) + sq(4!)
8416 (4) = \/vA" +T(4) -T(4)!

8417 (7) = sq(T'(T'(4))) + sq(sq(4)) ® sq(sq(4/.4))
8418 (6) = sq(['(4))/.4% — sq(4!) — T'(4)

8419 (7) = sq(sq(I'(4)) ® [(T'(4))) — I'(4)!/sq(4)
8420 (6) = sq(T'(4))/.4% — sq(4!) — 4

8422 (6) = sq(I'(4))/4% — sq(4!) — /4

8423 (6) = (sq(T'(4)) — .4%)/.4% — sq(4!)

8424 (6) = sq(T'(4))/.4% — 4! - 4!

8425 (6) = (sq(4/.4) + sq(sq(4)))/4%

8426 (6) = sq(T'(4) — VA%)/.4% + sq(4)



8427 (7) =
2alC(2) sq(sqT(4)) ®T(T(4))) — T(vVA) — 8465 (6) = sq(4-4! —
8428 (6) = sq(4- 4! — 4) — sq(T 8466 (6) = sq(4-4! — D+
8429 (7) = sq(sq(T(4)) @51:1(1“(4)) 8467 (7) = O
T(V4) (D(4)) — sq(C(4) + 8468 (6) = 2354 (4'( ) @ T(T(4))) + 4/ 1
8430 (6) = sq(T(4))/.4% — sq(4!) +T'(4) 8469 (7) = sq(sq(T'(4 Yo
8431 (7) = (sq(T(T'(4 n_ _ 8470 _ ) @ T(T(4))) + V4/ .4
(4))) ® T(4)") — sq(sq(4/.7)) (6) = sq(4-41 — 4) + T(4)
ooz 0 = /3 o/ i 0= )ty -
= s 4/14 = V/T4 _
8134 (6 = sa(F () V14 8473 1) = sabaF ) & T ) + 4
3436 (6) = sa(T(L(D) + 54T - 8474 (6) = (sq(T(4)) + V%) 4% "
8437 (8) — sq(D(4)./.4),41 q>(>(i)) — 41/.4% 8475 (1) =  sq(sq (F(4);6_91iq§“4')
gigg (7) = sq(sq(T(4)) ® T(T(4))) — 4! — V4 VT(V4) +T(T(®)) e+
o EZ = sq(sq(T(4)) ® T(T'(4))) — T(v/4) — 4! Sgg (6)( = (sq(T(4)) — v4)/.4% —
= 4 6) = N
12 (1) = iq(ﬁ)!/sqr(i;)yq@mm Sqéjqwm))) (sq(T(T(4))) — sg(T(4)))/ V4 +
42 (6) = 8 0 7 -
r(4) (6) = sq(sa(sa(4)) + sa(4)) — sa(sa(sa(4))) - S50 Egzi(f!(s_qg)(@r)(@)'r/(rf( R
8444 (6) = sq(sq(sq(4)) + 5 8481 (6) = sq(4) - T(T(4
8445 — (s q(4))—sq(sq(sq(4)))— 848 _ (4)) +8q(sq(4/ 4))
T(T(4)) (8) = (sq(T'(I'(4)) + sq(T(4)}) >iqr(2))) f 848421 E(Q = iggigggiig /i?ffﬁm) L) +4!
8446 (6) = sq(T'(4) — 8486 (7) = -sq(4)
8447 (6) = sgésq((éls)q 4@)/-1% i— sa(T(4)) 8487 (7§ = zgggg%; gll:(r(4))) o4/
I (vd) sq(4)) — sq(sq(sq(4))) — 8488 (6) = sq(4-4! —4) +LLF(4))) ~T(v4) +4!
8448 (6) = 4.4 - 8489 (7) = sq(sq(T :
S (6 = s Y ) st i () = AT )y T
8450 (6) = o) " S 8491 (7) = =
Sis1 (0) = oal ) . iy T T OTEWD = TV ©
3q§ff§2( sq(T(4))/.4) + 8492 (5) = V*{/T(4) +T(4)! — 4
6) = sq(vV4+4! 4 8493 (6) = (s '
8453 (1) = )S;F(zggr / 4I)‘)(?9)I‘(I‘ ) 8494 (5) :(%Fg(g)ﬁr_(g("l))\/\/‘ﬁsq(sq(F(4)))
VI(VA) + () @) 95 () =TT + §(4)
8454 (6) = sq(y/5q(d) — 4/4%) — 8496 (4) = 1/(4 - 4)*
8155 (1) = sty ST Said e =r<ﬂ)+)r F.wf
gigg g; =qu4 41— 1) @4l 8498 (5) = V*%/T(d) + (Jr), i\/f—
=38 +
o5 Ef;;:sgu I erv s 00 ) = O VA
- = 4%
3460 (6) — 2324 (T ))) o (4))) - v/ 4 oo Egg = (5?*(2(‘?3 VA + %)/ 4%
8461 (7) = = "WIMA) +T()
st (0 —aryerro) VT 02 (D O
8463 (6) = sq(4- 4! - 4) — (V) 5506 (6) — (st () ~ 0] 4% 4
8464 (0 _ ~V4)/ 4%+ T
0) = /a-a-a 5308 (5 = (8- 0T N v
— sq(sq(T(4)) ® T(C(4)) + T(4)/59(4)
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8510 (6) = (sq(T'(4)) — V4 + 4%)/.4% 8568 (4) = 4!/V4 - (T'(4)! = T'(4))
8511 (7) = sq(T(T(4))) — T(V4) @ sq(sq(4)) /4% 8569 (6) = sq(sq(T'(4)) + T(V4)) +s¢(T(T'(4)))/v4
Sgi; E% = iq(?) (Ef)q)(4')4<7)44)<7 8572 (7) = (sq(sq(I'(4))) — 4)/m® sq(I'(I'(4)))
= (sq(sq +4%)/4% @ s
S314 (6) — L) + TN A sty 5575 )= VWA + 1) jak
8516 (6) = (sq(T(4)) — v/4)/.4% + sq(4) 8576 (6) = sq(4!) - (sq(4) — .4/4)
8517 (7) = (sq(sq(4)) + V4%) /4% & sq(T(T(4))) 8577 (6) = sq(sq(4/.4)) + T'(4)! + sq(sq(T'(4)))
8518 (7) = sq(sq(C(4)) ® T(T(4))) + 41/.4 8578 (7) = sq(sq(I'(4)) ® T(T'(4))) —T'(4) +T'(I'(4))
8519 (8) = (sq(sq(sq([(4))/4% >> sq(4)) @ 5380 (4) = (4 T(4)=T(T(4))/v4
sq(T(D(4))) 8581 (7) = sq(sq(4/.4)) + sq(T'(4)) & sq(T'(T'(4)))
8520 (4) = T'(4)! - 4!/y/4 — T(T'(4) 8582 (7) = sq(sq(I'(4)) @ I'(T'(4))) ® I'(4) /4%
8521 (6) = sq(sq(4/.3) + 4) + sq(sq(T'(4))) 8583 (7) = sq(sq(T(4)) ®T(T(4))) — T(V4) +
8522 (6) = (sq(sq(sq(4))) — sq(T(T(4))) - 4)/7(4) TTW)
8523 (6) = (sq(sa(sq(4))) — sq(T(T(4))) + v4)/T(4)] 8984 (6) = sa(4- 4! = 4) + T(I'(4))
8524 (6) = (sq(T'(4)) — v4)/A% + 4! 8585 (1) = a(TT(0) — 41 ul(4/5)
8526 (6) = ['(4) - (sq(v/V/4%/4%) + sq(sq(T (4 ~ +sq(sq(T(4
5528 (6) = salh)- ol TyD) 18 S 6 = Y LT )
8520 (7) = sq(sq(T(4 _ = sa(sq @ +
(0D = @) + T/ OTOW) S50 0)= )~ o0
8530 (6) = 1%)/ 4% + T = 4/va- (T4 -4
2539 Eﬁg _ 5324(4),) +\{9;12(/4)) * r(i)!( ) 8593 (7) = sq((4 — V4%)/4%) & T(4)!
8536 (6) = (sq(I'(4)) — \/_)/ 4% + sq(T'(4)) 8595 (6) = SQ(\/ q(sq(T'(4))) — sq(T'(4))/-4)+T(4)!
8537 (6) = sa(sa(T(4)/4+ T(VA) +sq(sa(d)) | P90 (O = (lsat) @)L+
8540 (6) = sq(4 - 4!) — sq(v/4 + 4!) sq(sq(T'(4)))
8541 (6) = (sa(v3/4%) + sa(sa(T(4))/ 4 oo ) e O T T
8542 (7) = (sq(T(4)) — 4%)/.4% © sq(4) 8600 (5) = (4 T(4)1 4 1)/ % :
8544 (4) = 4! - (T'(4)!/V4 — 4) 228; 28 = (5‘%%124(3'()4))) o (( )( )))( ))(I(Sil/(é/-‘l))
8545 (6) = sq(sq(T(v3) + T(4))) + 4! - sq(sq(4 = 54 = - vi
ot e e ot et rsatan ) 8603 (6) = sq(T()) - sq(T(4)! - T(4)) - T(VD)
8548 (7) = sq(T(4))/.4% — 4 ® sq(4]) 8604 (4) = T(4) - (V4-T(4)! -~ T'(4)
8550 (6) = ['(4) - (sq(4!) — T'(4 ))/ 4 8605 (6) = sq(I'(4)!) — sq(T'(4)! —=T'(4)) + F(\/Z)
551 (7) = (sa(I'(4) — A%)/-4% & s4(4) 3606 (6) = aa( () = aa(TCU! T 4+ V2
8552 (6) = (sq(sq(sq(4)))/4 + T(4